
Q1) a) Answer the following questions in one/two sentences each : (any six)[6]

i) Where was the World's Parliament of Religions held?

ii) Whom did Swami Vivekananda pity?

iii) Which story does illustrate the cause of the variance in religion in
Chicago speech?

iv) What does the lottery ticket symbolize in the story 'The Lottery
Ticket'?

v) Who is Masha?

vi) Why did Ivan Dmitritch and his wife not look at the number of the
winning ticket immediately?

vii) What question does Mr.Sappleton ask as he comes in through the
window?

viii) Which story did Vera narrate when Framton Nuttel rush out of the
home?

ix) What was Framton Nuttel suffering from?
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b) Attempt the following : (any two) [14]
i) According to Swami Vivakananda, how has India displayed religious

tolerance to the world?
ii) Do you think the story' The Lottery Ticket' is unrealistic? Elaborate

your answer.
iii) Justify the title of the story 'The Open Window'

Q2) a) Answer the following questions in one/two sentences each : (any six)[6]
i) What is the theme of the poem 'On Another's Sorrow' ?
ii) Who is the 'He' being referred to in the poem 'On Another's Sorrow'
iii) Who can't hear the infant groan in the poem 'On Another's Sorrow'?
iv) Who has written the poem 'Laugh and Be Merry'?
v) What advice does the poet give in the poem 'Laugh and Be Merry'?
vi) What is referred to as beautiful inn in the poem 'Laugh and Be

Merry'?
vii) What does rock symbolize in the poem 'The Rock and the Bubble'?
viii) Where does the big brown Rock stand in the poem 'The rock and

the Bubble'?
ix) What does the rock suggest to the bubble in the poem 'The Rock

and the Bubble?
b) Attempt the following : (any two) [14]

i) Critically appreciate the poem 'On Another's Sorrow.
ii) What is the central idea of the poem 'Laugh and Be Merry'?
iii) What qualities are assigned to the bubble and the rock in the poem?

Why?

Q3) a) Add question tags to the following: (any four) [4]
i) This cloth feels good.
ii) Seema does her best to win every match.
iii) Cynthia looked pretty in the green dress.
iv) Father and I were late.
v) She can hardly walk.
vi) It is not dark.
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b) Identify the type of sentence. (Simple/Compound/Complex) (any there)
[3]

i) Our company is taking in people who will work in the marketing
division.

ii) The fruits in the glass bowl are for the guests,

iii) Sonal learnt glass painting while she was in Delhi.

iv) Alka asked Prakash to stay for lunch, but he left.

v) Kiran and Jyoti read the book, but they did not like it.

c) Change the degree with out changing the meaning (any three). [3]

i) No other subject is as difficult as mathematics.

(Change into superlative degree)

ii) He is better than the other players in his team.

(Change into superlative degree)

iii) Jupiter is the biggest of all planets.( Change into comparative degree)

iv) Maria is not as intelligent as Sonia. (Change into comparative degree)

v) Sumit is not as brave as Amit. (Change into comparative degree)

Q4) a) Specify whether the underlined collocation is right or wrong (any four)[4]

i) The state government has not committed the crime.

ii) He has lost his belief on God.

iii) You have a conversation with someone.

iv) She needs some earlier knowledge.

v) He gave her a golden opportunity.

vi) The teacher glared at him as he walked in late.
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b) Fill in the blanks with correct phrasal verbs. [3]

i) The man was_____ her glass of milk.

(knocked over/knocked out/ knocked down/)

ii) Admissions will _____ through the week. ( go on/go out/ go for)

iii) Nishi is _____a bad time in office.

(going through/ going about/ going into)

iv) Please ____ your study room before you go out.

(clean up/ clean out/ clean down)

v) People cannot ____ food and water.

(do with/do without/do out of)

c) Complete the sentences with an appropriate word chosen from those in
the brackets. (any three) [3]

i) He had plenty of time to catch his _____. (plain/plane)

ii) Let us_____to the auditorium. (proceed/precede)

iii) Nothing can ___the fact that she is my best friend. (alter/altar)

iv) She is still ______ after her illness. (week/weak)

v) The ____rises in the east. (sun/son)

Q5) Answer the following questions in brief (ant two) [10]

a) Explain the four basic steps of problem solving.

b) Make a list of six ways in which you usually waste your time and write
down how you can manage your time better.

c) How does poor time management affect a person's life?


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àíZ àíZ àíZ àíZ àíZ 1) ^mfm, OrdZ ì`dhma Am{U Zd_mÜ`_o `m§Mm nañna g§~§Y ñnï> H$am. [10]

qH$dm

Zd_mÜ`_o Am{U g_mO_mÜ`_m§À`m {d{dY àH$mam§Mm nam_e© ¿`m.

àíZ àíZ àíZ àíZ àíZ 2) Zd_mÜ`_o Am{U g_mO_mÜ`_o dmnaVmZm H$moUVr XjVm ¿`mdr? gmoXmhaU ñnï> H$am. [10]

qH$dm

ãbm°J åhUOo H$m`? ho gm§JwZ ãbm°JMo {d{dY àH$ma ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUVrhr EH$ Q>rn {bhm. [5]

A) ì`mdgm{`H$ nÌì`dhma

~) \o$g~wH$


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àíZ àíZ àíZ àíZ àíZ 1) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE & [10]
A) dmŠ` H$s n[a^mfm XoH$a CgHo$ ñdê$n na àH$me S>m{bE &
~) {H«$`m {deofU CndmŠ` Ho$ àH$mam| H$mo gmoXmhaU ñnï> H$s{OE &
H$) g§{já dmŠ` Ho$ ñdê$n H$mo ñnï> H$s{OE &
S>) {dam_ {Mh²Z H$s n[a^mfm XoH$a _w»` {dam_{Mh²Zm| na àH$me S>m{bE &

àíZ àíZ àíZ àíZ àíZ 2) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE & [10]
A) "AmX_r h±ÿ AmX_r go ß`ma H$aVm h±ÿ' H${dVm H$m g§Xoe {b{IE &
~) "{IbVo h¢ Jwb `hm±, {IbHo$ {~IaZo H$mo' H${dVm H$m Ame` {b{IE &
H$) "{bIo Omo IV VwPo, dmo Voar `mX _|' H${dVm Ho$ _mÜ`_ go H${d Š`m H$hZm MmhVo h¢?
S>) "ñdßZ P‹S>o \y$b go, _rV Mŵ o eyb go' H${dVm H$m ^mdmW© {b{IE &

àíZ àíZ àíZ àíZ àíZ 3) {ZåZ{b{IV _| go {H$gr EH$ àíZ H$m CÎma {b{IE & [5]
A) gmYmaU dmŠ` H$s n[a^mfm XoH$a CgHo$ ñdê$n H$mo gmoXmhaU ñnï> H$s{OE &
~) H${d "ZraO' H$m OrdZ n[aM` Xr{OE &


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Instructions :   

1) Attempt All Questions.

2) Figurs to the left indicate full marks.

 (5)  :1 
 (a

 (b

 (c

 (d

 (e

 (f

 (g

 2 
  (a

  (b

 (c

 (d







 (e



[05]
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  3 
 (a

 (b

 (c

 (d

 (e

   3 
 (a

 (b

 (c

 (d

 (e

  4 
 (c  (b         (a 

 (e   (d

  4 
  a) Taj Mahal was built by Mughal Emperor shah Jahan.

  b)   Getting up early in the morning is a sign of a healthy life.

  c)  Every Sunday Morning , I go to play football.

  d)     The Rose is the king of flowers.


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(2019 Credit Pattern) (Semester - IV) (24021)

doi :  2½ Vmg     ] [ EHy$U JwU : 70
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2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
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SEAT No. :

àíZ àíZ àíZ àíZ àíZ 1) nwT>rb nmM àíZm§n¡H$s VrZ àíZm§Mr CÎmao àË òH$s 50 eãXm§V {bhm. [15]

A) "D$g S>m|Jm nar ag Zìho S>m|Jm' `m A §̂JmMm Ame` {bhm.

~) Eo{Vhm{gH$ nÌì`dhmamMo ñdén Am{U d¡{eîQ>ço ñnï> H$am.

H$) nmodmS>²̀ mMr d¡{eîQ>ço ñnï> H$am.

S>) ~Ia dmL²>_`mMr ñdén ñnï> H$am.

B) "{dR>mo _mPm b|Hw$admim' `m g§V OZm~mBªÀ`m A §̂JmMm AmT>mdm ¿`m.

àíZ àíZ àíZ àíZ àíZ 2) nwT>rb VrZ àíZm§n¡H$s XmoZ àíZm§Mr CÎmao àË òH$s 150 eãXm§V {bhm. [20]

A) _hmZŵ d dmL²>_`m_mJrb àoaUm ñnï> H$am.

~) ^méS> dmL²>_`àH$mamMo ñdén {bhm.

H$) bmdUr `m H$mì`àH$mamMr d¡{eîQ>ço {bhm.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) nwT>rb VrZ àíZm§n¡H$s XmoZ àíZm§Mr CÎmao àË òH$s 200 eãXm§V {bhm. [20]

A) "gw§Xam _Zm_Yr ^abr' `m bmdUrV ór gm¢X`m©Mo dU©Z H$go Ho$bo Amho. Vo {bhm.

~) "h§~amoZr ògr' `m g§V goZm Ýhmdr `m§À`m A §̂JmMm AmT>mdm ¿`m.

H$) N>ÌnVr {edmOr _hmamOm§Zr Amnë`m nÌmVyZ h¡~Vamd Xoe_wIm§Zm H$go A^` {Xbo Amho Vo
ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) nwT>rb XmoZ àíZm§n¡H$s EH$m àíZm§Mo CÎma àË òH$s 300 eãXm§V {bhm. [15]

A) _Ü` ẁJrZ n§{S>Vr H$mì`mMo ñdén d àoaUm ñnï> H$am.

~) "hÎmrMm Ñï>m§V' `mVyZ _mUgmÀ`m {dMmamVrb H$moUVm Xmof XmIdyZ {Xbm Amho.


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Instructions to the Candidates: 

1) All the questions are compulsory..

2) Figures to the left side indicate full marks.

 :1 



 




 


 2 



 




 


 3 





[15]
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  4 





 5 
  (i     

 (ii       

 


 (iii 

 (iv 


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S.Y. B.A.

HINDI (qhXr)
DSE-1B (S-1) : gm{hË` Ho$ ^oX
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g_` :  2½ K§Q>o ] [ nyUmªH$ : 70

gyMZmE± : 1) g^r àíZ A{Zdm ©̀ h¢ &
2) Xm{hZr Amoa àíZ Ho$ A§H$ h¢ &

PC-733

SEAT No. :

àíZ àíZ àíZ àíZ àíZ 1) {ZåZ{b{IV _| go {H$Ýht VrZ àíZm| Ho$ CÎma {b{IE … [21]
A) _hmH$mì` Ho$ bjUm| H$mo ñnï> H$s{OE &
~) IÊS>H$mì` H$m ñdê$n Am¡a CgHo$ VÎdm| H$m n[aM` Xr{OE &
H$) _hmH$mì` Am¡a I§S>H$mì` Ho$ gmå` VWm d¡få` H$mo ñnï> H$s{OE &
S>) _wº$H$ H$mì` Ho$ ôXm| H$m n[aM` Xr{OE &
B) Jr{VH$mì` H$s {deofVmAm| H$mo ñnï> H$s{OE &

àíZ àíZ àíZ àíZ àíZ 2) {ZåZ{b{IV _| go {H$Ýht VrZ àíZm| Ho$ CÎma {b{IE … [21]
A) CnÝ`mg Ho$ VËdm| H$m n[aM` Xr{OE &
~) H$hmZr Ho$ VÎdm| H$mo ñnï> H$s{OE &
H$) {Z~§Y H$s n[a^mfm XoH$a {Z~§Y Ho$ VÎdm| H$mo ñnï> H$s{OE &
S>) CnÝ`mg Am¡a H$hmZr _| VÎdm| Ho$ AmYma na A§Va ñnï> H$s{OE &
B) CnÝ`mg H$s n[a^mfm XoH$a CgHo$ ñdê$n H$mo ñnï> H$s{OE &

àíZ àíZ àíZ àíZ àíZ 3) {ZåZ{b{IV _| go {H$Ýht VrZ àíZm| Ho$ CÎma {b{IE … [21]
A) ZmQ>H$ H$s n[a^mfm XoH$a CgHo$ VÎdm| na àH$me S>m{bE &
~) EH$m§H$s {H$go H$hVo h¡? EH$m§H$s Ho$ VÎd {b{IE &
H$) a§J_§Mr` ZmQ>H$ H$m ñdê$n VWm CgHo$ _hÎd na àH$me S>m{bE &
S>) a§J_§Mr` ZmQ>H$ Am¡a XÿaXe©Z ZmQ>H$ H$m VwbZmË_H$ n[aM` Xr{OE &
B) ao{S>`mo ZmQ>H$ H$m ñdén g_PmBE &

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) {ZåZ{b{IV ~hþ{dH$ënr` àíZm| H$m ghr {dH$ën MwZH$a {b{IE … [7]

i) E|{Ð` AmñdmXZ H$s Ñ{ï> go H$mì` Ho$ à_wI ôX {H$VZo _mZo OmVo h¡?

A) Mma ~) VrZ

H$) nm±M S>) Xmo

ii) _hmH$mì` Ho$ EH$ A§e H$m AZwgaU H$aZo dmbm H$m¡Z-gm H$mì` h¡?

A) I§S>H$mì` ~) ar{VH$mì`

H$) Zr{VH$mì` S>) _wº$H$ H$mì`

iii) _hmH$mì` Ho$ Zm`H$ _| H$m¡Z-gm JwU _hÎdnyU© _mZm OmVm h¡?

A) g§wXaVm ~) AmkmH$mar

H$) XmZeya S>) YramoXÎm

iv) "CnÝ`mg _mZd - M[aÌ H$m {MÌ_mÌ h¢ & _mZd M[aÌ na àH$me S>mbZm Am¡a CgHo$
ahñ`m| H$mo ImobZm hr CnÝ`mg H$m _yb VÎd h¡ &' `h H$WZ {H$gH$m h¡?

A) _hmXodr d_m© ~) ào_M§X

H$) S>m°. í`m_g§wXaXmg S>) ~m~y Jwbm~am`

v) {ZåZ{b{IV _| go H$hmZr H$m à_wI VÎd H$m¡Z-gm h¢?

A) H$WmdñVw ~) g§JrV

H$) YÝ`mË_H$Vm S>) b`mË_H$Vm

vi) ao{S>`mo ZmQ>H$ _| {H$gH$s àYmZVm hmoVr h¡ &

A) {MÌ ~) AmH$ma

H$) Üd{Z S>) Ñí`

vii) a§J_§M na àñVwV {H$E OmZo dmbo ZmQ>H$ H$mo Š`m H$hVo h¡?

A) ao{S>`mo ZmQ>H$ ~) Ñí` ZmQ>H$

H$) a§J_§Mr` ZmQ>H$ S>) lì` ZmQ>H$


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Q1) A) g§X^m©g{hV ñnï>rH$aU H$am. (Ho$di EH$ àíZ) [5]

Explain with reference to context. (Any one)

i) dmÀ¶ Ed dm³¶mW©: BË¶pÝdVm{^YmZdm{XZ: &

ii) nwZamdV©‘mZñ¶ {Zameñ¶ M Or{dVo & AYm¶m} Om¶Vo doJñVñ‘mØ¾§ Z nrS>¶oV² &

~) Ab§H$mamMo CXmhaUmg{hV bjU ñnï> H$am. (Ho$di EH$ àíZ) [5]

Explain figure of speech with its definition and example. (Any one)

i) An•þ{V (Apahnuti)

ii) AWm©ÝVaÝ¶mg (Arthantaranyasa)

H$) d¥ÎmmMo CXmhaUmg{hV bjU ñnï> H$am. (Ho$di EH$ àíZ) [5]

Explain metre with its definition and example. (Any one)

i) {eI[aUr '(Sik harini)

ii) Jr{V (Giti)

P.T.O.
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Q2) A) g§ñH¥$V^mfm¶m§ CÎmam{U {bIV &  (n#màíZm{Z) [10]
i) eãXñ¶ àH$maÌ¶§ H$W¶ &

ii) dO«mX{n H$R>moam{U ‘¥Xÿ{Z Hw$gw‘mX{n BË¶Ì H$: Ab‘>ma:?

iii) ní¶ {Züb{ZînÝXo {~{gZnÌo amOVo ~bmH$m BË¶Ì H$: ì¶“mW©:?

iv) à¶moOZm{lVbjUm¶m: CXmhaU§ {bIV &

v) H$mHw$: Zm‘ {H$‘²?

vi) gmamonmgmÜ¶dgmZ¶mo: ‘Ü¶o H$m bjUm gmÑí¶mYm[aVm?

~) Imbrb OmoS>çm Owidm. (H$moUË¶mhr nmM) [5]
Match the following. (any five)

   A (A) ~ (B)
i) ì¶ÄOH$eãX: bjUm

ii) ÌmgZ‘moXm¶ª ^r‘Kmof: {d{ï>H$‘m©{U

iii) bmj{UH$eãX: hpñVH$‘m©{U

iv) gmbÛmamÅ>mbH$^ÄOZ‘² A{^Ym

v) {e{~a‘mJ©goVwHy$nVrW©emoYZH$‘© ì¶ÄOZm

vi) dmMH$eãX: aWH$‘m©{U

Q3) A) i) bjUoMo àH$ma gmoXmhaU g{dñVa ñnï> H$am. [12]
Explain the types of Laksana


 with examples in detail.

qH$dm/OR
ii) g§Ho${VV AWm©Mo J«hU H$moUË¶m CnmYtda Ho$bo OmVo Vo gmoXmhaU ñnï> H$am.

Explain with example the -upadhi s , factors wherein the sanketita
(denotated) meaning is understood.

~) Q>rnm {bhm. (H$moUVrhr EH$) [8]
Write short note. (any one)
i) A{^{hVmÝd¶dmX

(Abhihitanvaya-vada)

ii) Jm¡Ur Am{U ewÕm bjUm

'(Gauni and Suddha laksana)

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Q4) A) nXmVr, KmoS>Xb, hÎmrXb Am{U aWXb ¶m§Mo ¶wÕmVrb H$m¶} ñnï> H$am. [12]

Explain in detail as to which is the suitable battle-ground for infantry,
cavalry, elephant force and chariot force in war.

qH$dm/OR

ñdV:À¶m g¡Ý¶mbm ào[aV Am{U àmoËgm{hV H$aÊ¶mMo àH$ma Am{U nÕVr ñnï> H$am.

Explain the method and manner of instigating and encouraging one's
own army.

~) Q>rnm {bhm. (H$moUVrhr EH$) [8]

Write short note. (any one)

i) ì¶yh

Vyuha

ii) ‘m¡¶©H$mbrZ ‘moOXmXmMr ‘mnX§S>o

Mauryan measurements of reckoning





Q1) Answer the following qustions in 20 words each (any Eight) [16]
a) What is Variable cost?
b) What is Average Revenue?
c) What is Market?
d) Write the definition of perfect competition.
e) What is selling cost.
f) Write the definition of Ricardian Rent.
g) What is Innovation?
h) What is marginal productivity?
i) Write prof. Pigovian definition of welfare economics.
j) Write the two characteristics of monopoly competition.

Q2) Answer the following qustions in 50 words each (any four) [16]
a) Explain the classifications of market structure.
b) Explain the concept of opportunity cost.
c) Explain the concept of Quasi Rent.
d) Explain the concept of Average Revenue and Marginal Revenue.
e) Write the characteristics of Duopoly market?
f) Explain the Types of price Discrimination.
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Q3) Answer the following qustions in 100 words each (any Three) [18]

a) What is oligopoly? Explain the characteristics of oligopoly?

b) Explain the pigovian welfare economics.

c) Explain the supply curve of Labour.

d) Explain the Risk and uncertainty profit Theory.

Q4) Answer the following qustions in 200 words each (any two) [20]

a) What is perfect competition? Write the characteristics of perfect
competition?

b) Explain the keynesian Interest liquidity preference theory.

c) Explain the marginal productivity theory of distribution.

♦♦♦



Total No. of Questions : 4]

[6301]-159
S.Y. B.A.

ECONOMICS
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(_amR>r ê$nm§Va)

doi : 2½ Vmg ]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí`H$ VoWo gw~H$ AmH¥$Ë`m H$mT>m.
4) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

àíZ 1) Imbrb àíZm§Mr àË òH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]
A) ~XbVm IM© åhUOo H$m`?
~) gamgar àmßVr åhUOo H$m`?
H$) ~mOma åhUOo H$m`?
S>) nyU© ñnY}Mr ì`m»`m {bhm.
B) {dH«$s IM© åhUOo H$m`?
\$) [aH$mS>m}Mr I§S>mMr ì`m»`m {bhm.
`) ZdàdV©Z åhUOo H$m`?
a) {g_m§V CËnmXH$Vm åhUOo H$m`?
b) àm. {nJyy `m§Mr Am{W©H$ H$ë`mUmMr ì`m»`m {bhm.
d) _ŠVoXmar ñnY}Mr XmoZ d¡{eï>ço {bhm.

àíZ 2) Imbrb àíZm§Mr àË òH$s 50 eãXm§V CÎmao {bhm. (H$moUVohr Mma>) [16]
A) ~mOma aMZoMo dJuH$aU ñnï> H$am.
~) g§Yr Ë`mJ IM© g§H$ënZm ñnï> H$am.
H$) Am^mgr I§S> g§H$ënZm ñnï> H$am.
S>) gamgar àmßVr d gr_m§V àmßVr g§H$ënZm ñnï> H$am?
B>) {Û{dH«o$Vm{YH$ma ~mOmanoR>oMr d¡{eï>ço {bhm?
\$>) _yë` ^oXmMo àH$ma ñnï> H$am?

P.T.O.
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àíZ 3) Imbrb àíZm§Mr àË òH$s 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ>) [18]

A) Aën{dH«o$Vm{YH$ma åhUOo H$m`? Aën{dH«o$Vm{YH$mamMr d¡{eï>ço ñnï> H$am.

~) {nJyMo H$ë`mU {df`H$ AW©emó ñnï> H$am?

H$) l_mMm nwadS>m dH«$ ñnîQ> H$am.

S>) Zâ`mMm YmoH$m Am{U A{ZíMrVVm {gÕm§V ñnï> H$am.

àíZ 4) Imbrb àíZm§Mr àË òH$s 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) nyU© ñnYm©© åhUOo H$m`? nyU© ñnY}Mr d¡{eï>ço {bhm?

~) Ho$ÝgMm ì`mOmMm amoIVm ng§Vr {gÕ§mV ñnï> H$am?

H$) {d^mOZmMm {g_m§V CËnmXH$Vm {gÕ§mV ñnï> H$am?

♦♦♦



Q1) Attempt any eight questions (20 words) : [16]
a) Who were involved in Rousseau’s social contrast?
b) Define Hegel’s dialectic.
c) In which book Mill express his thought on freedom?
d) What is meant by surplus value?
e) Who wrote “Communist Manifesto’?
f) Give the two merits of Hegel’s Idealism.
g) State the two demerits of Rousseau’s General will.
h) Define utilitarism.
i) Who wrote the book ‘The philosophy of right?
j) Who wrote the book Social contract?

Q2) Attempt any four questions (50 words) : [16]
a) Karl Mark’s views on class struggle.
b) Hegel’s state theory.
c) J.S. Mill’s views on utilitarism.
d) Rousseau’s views on state of Nature.
e) Hegel’s view on freedom
f) Functions of state by J.S.Mill

Total No. of Questions : 4]
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Q3) Attempt any three questions (100 words) : [18]

a) Discuss on J.S. Mill’s thought on Liberty.

b) Explain the characteristics of Rousseau’s social contract.

c) Write in brief Marx’s thought on state.

d) Explain Hegel’s Idealism theory.

Q4) Answer any two questions (200 words) : [20]

a) Explain Karl Marx’s theory of historical materialism.

b) Discuss the Mill’s thought on Representative Government.

c) Explain Rousseau’s General will concept.


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àíZ àíZ àíZ àíZ àíZ 1) H$moUVohr AmR> àíZ gmoS>dm (20 eãXmV) [16]

A) égmoÀ`m gm_m{OH$ H$amam_Ü ò H$moU gh^mJr Pmbo?

~) hoJobMm Û§XdmX åhUOo H$m`?

H$) {_bZo ñdmV§Í`m g§~§YrMo {dMma H$moUË`m J«§WmV _m§S>bo?

S>) A{V[aŠV _wë` åhUOo H$m`?

B>) H$å ẁ{Zð> _°{Z\o$ñQ>mo hm J«§W H$moUr {b{hbm?

’$) hoJobÀ`m AmXe©dmXmMr XmoU d¡{eîQ>ço gm§Jm.

¶) égmoÀ`m gm_w{hH$ BhoMo XmoU Xmof gm§Jm.

a) Cn`moJrVmdmX åhUOo H$m`?

b) X {\$bm°gm°\$s Am°\$ amBQ> hm J«§W H$moUr {b{hbm?

d) gmoeb H$m°ÝQ´>°ŠQ> (social contract) `m J«§WmMo boIH$ H$moU?

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) H$moUVohr Mma àíZ gmoS>dm … (50 eãXm§V) [16]

A) H$mb© _mŠg©Mr dJ© g§Kf©mMr g§H$ënZm

~) hoJobMm amÁ`{df`H$ {gÕm§V

H$) Oo. Eg. {_bMm Cn ẁŠVVmdmX

S>) égmoMr {ZgJm©dñWm

B) hoJobÀ`m ñdmV§Í`m~m~XMm {dMma

\$) Oo Eg² {_bZo gm§{JVbobr amÁ`mMr H$m }̀.

àíZ àíZ àíZ àíZ àíZ 3) H$moUVohr VrZ àíZ gmoS>dm. (100 eãXm§V) [18]

A) Oo. Eg. {_bÀ`m ñdmV§Í`mÀ`m {dMmam§Mr MMm© H$am.

~) égmoÀ`m gm_m{OH$ H$amamMr d¡{eîQ>ço ñnï> H$am.

H$) _mŠg©Mo amÁ`{df`H$ {dMma WmoS>Š`mV {bhm.

S>) hoJobÀ`m AmXe©dmX ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) H$moUË`mhr XmoU àíZm§Mr CÎmao {bhm. (200 eãXmn`ªV) [20]

A) H$mb© _mŠg©Mm E¡{Vhm{gH$ ^m¡{VH$dmXmMm {gÕm§V ñnï> H$am.

~) {_bMo àm{á{ZYrH$ emgZm~m~XMo {dMma MMm© H$am.

H$) égmoMr gm_mÝ` BhoMr (BÀN>m) H$ënZm g{dñVa ñnï> H$am.





Q1) Answer the following question in 300 words (Any one) : [15]

a) Discribe in detail the causes and impact of the first battle of Panipat.

OR

b) Explain in detail the deccan policy of Aurangzeb.

Q2) Answer the following question in 300 words (Any one) : [15]

a) Explain the central administration of mughal period.

OR

b) Write detail information on Bhakti and Sufi sect.

Q3) Answer the following questions in 200 words (Any two) : [20]

a) State the archaeological sources for the study of Mughal period.

b) Explain the religious policy of Emperor Akbar.

c) Explain the military system of mughal period.

d) Write information about science and technology dusing mughal period.

Total No. of Questions : 4]
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Q4) Short Notes (Any four) : [20]

a) Tarikh - I - Dilkusha

b) Battle of khanwa

c) Aurangzeb - Ahom conflicts

d) Types of punishment

e) Galla-Bakhshi

f) Datta sect


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àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZmMo 300 eãXmV CÎma Úm (H$moUVohr EH$) [15]

A) nm{ZnVÀ`m n{hë`m bT>mB©Mr H$maUo gm§JyZ n[aUm_ ñnï> H$am.

qH$dm

~) Am¡a§JOo~mMo X»IZ YmoaU g{dñVanUo {deX H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZmMo 300 eãXmV CÎma Úm (H$moUVmhr EH$) [15]

A) _wKbH$mbrZ H|$Ðr` àemgZì`dñWm ñnï> H$am.

qH$dm

~) ^º$s Am{U gy\$s MidirMr g{dñVanUo _m{hVr {bhm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZmMr 200 eãXm§V CÎmao Úm (H$moUVohr XmoZ) … [20]

A) _wKb H$mbIS>mÀ`m Aä`mgmMr nwamVËdr` gmYZo gm§Jm.

~) g_«mQ> AH$~amMo Ym{_©H$ YmoaU ñnï> H$am.

H$) _wKbH$mbrZ bîH$ar ì`dñWm {deX H$am.

S>) _wKbH$mbrZ {dkmZ Am{U V§ÌkmZm{df`r _m{hVr {bhm.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) Q>rn {bhm. [20]

A) VmarI-E-{XbHw$em

~) ImZwdmMr bT>mB©

H$) Am¡a§JOo~ - Ahmo_ g§Kf©

S>) {ejoMo àH$ma

B) J„m~jr

\$) XÎm g§àXm`





Q1) Answer the following questions in about 20 words each. (any Eight) [16]

a) What are cash crops?
b) What is horticulture?
c) What is migration?
d) What is Population Gender Composition?
e) Write the definition of rural development.
f) Name any two important schemes implimented for Rural Development

in Maharashtra.
g) To which village Shri Bhaskarrao Pere Patil belongs?
h) Write the definition of tourism.
i) Name any two hill stations in Maharashtra.
j) Name any two components of religious tourism.

Q2) Write the answers of the questions about 50 words each. (any Three) [18]

a) Climate required for sugercane crops.
b) Literacy.
c) Agricultural development of Maharashtra.
d) Nature, tourism attraction of Maharashtra.

Total No. of Questions : 4]
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Q3) Write the answer of the questions about 100 words each. (any Two) [16]

a) Described the Economical problems faced by the farmers in Maharashtra.

b) Explain the sex ratio of Maharashtra as per 2011 census.

c) Explain the various schemes implimented by Hivre Bazar Village.

d) State the challanges of agrotourism.

Q4) Write the answer of the question about 300 words each. (any One) [20]

a) Explain the importance of agriculture in Indian Economy.

b) Explain the contribution of Shri. Anna Hazare in the development of
Ralegan Siddhi Village.


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4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.

PC-738

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr àË¶oH$s 20 eãXmV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) ZJXr {nHo$ åhUOo H$m¶?

~) ’$i~mJm¶V eoVr åhUOo H$m¶?

H$) ñWbm§Va åhUOo H$m¶?

S>) bmoH$g§»¶m qbJaMZm åhUOo H$m¶?

B) J«m‘rU {dH$mgmMr ì¶m»¶m {bhm.

\$) ‘hmamï´>mVrb J«m‘rU {dH$mgmÀ¶m Ñï>rZo bmJy Ho$boë¶m H$moUË¶mhr XmoZ ‘hËdmÀ¶m-¶moOZm§Mr
Zmdo gm§Jm.

`) lr ^mfH$aamd noao nmQ>rb H$moUË¶m Jmdmer g§~§{YV AmhoV.

a) n¶©Q>ZmMr ì¶m»¶m {bhm.

b) ‘hmamï´>mVrb H$moUVohr XmoZ W§S> hdoMr {R>H$mUo gm§Jm.

d) Ym{‘©H$ n¶©Q>Z KQ>H$m§Mr H$moUVrhr XmoZ Zmdo gm§Jm.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [18]

A) CgmÀ¶m {nH$mgmR>r Amdí¶H$ hdm‘mZ

~) gmjaVm

H$) ‘hmamï´>mMm H¥$fr {dH$mg

S>) ‘hmamï´>mVrb àmH¥${VH$ n¶©Q>ZmMr AmH$f©Uo

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr 100 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) ‘hmamï´>mVrb eoVH$è¶mg ôS>gmdUmè¶m Am{W©H$ g‘ñ¶m§Mo dU©Z H$am.

~) gZ 2011 À¶m OZJUZoZwgma ‘hmamï´>mVrb qbJ JwUmoÎma ñnï> H$am.

H$) {hdao ~Pma JmdmZo am~{dboë¶m {d{dY ¶moOZm ñnï> H$am.

S>) H¥$fr n¶©Q>Zm g‘moarb AmìhmZo gm§Jm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr 300 eãXmV CÎmao {bhm. (H$moUVohr EH$) [20]

A) ^maVr¶ AW©ì¶dñWoV eoVrMo ‘hËd ñnï> H$am.

~) lr. AÊUm hOma|Mo amioJU {gÕr ¶m JmdÀ¶m {dH$mgmVrb ¶moJXmZ ñnï> H$am.





Q1) Answer the following questions in 100 words each (any four) [20]
a) State the nature of Schizophreniform disorder.
b) Explain the symptoms of histrionic personality disorder.
c) State the nature of obsessive compulsive personality disorder.
d) State the diagnostic criteria of Bulimia nervosa disorder.
e) Explain the sleep wake disorder.
f) What is attention deficit hyperactivity disorder.

Q2) Answer the following questions in 200 words (any two) [20]
a) Explain the causes of defusional disorder.
b) Explain the nature of schizoid and schizotypal personality disorder.
c) Discuss the alcohol related disorder.
d) Explain the types of communication disorder.

Q3) Answer the following questions in 400 words each (any one) [20]

a) What is Schizophrenia? Explain the types and causes of Schizophrenia.

b) Discuss in details the diagnostic criteria and causes of intellectual disability
disorder.

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q4) Write short notes (any two) [10]

a) Antisocial personality disorder.

b) Narcissistic personality disorder.

c) Breathing related disorder.

d) Cell phone addiction disorder.

♦♦♦



Total No. of Questions : 4]

[6301]-163
S.Y. B.A.

PSYCHOLOGY
DSE -B1 : Psychology Abnormal Behaviour - II
(2019 Pattern) (CBCS) (Semester - IV) (24221)

(_amR>r ê$nm§Va)
doi : 2½ Vmg ]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

àíZ 1) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr Mma>) [20]
A) {N>ÝZ_ZñH$Vm gÑe {dH¥$VrMo ñdê$n gm§Jm.
~) ZmQ>H$s ì`ŠVr_Ëd {dH¥$VrMr bjUo ñnï> H$am.
H$) {dMma H¥$Vr A{Zdm ©̀Vm ì`ŠVr_Ëd {dH¥$VrMo ñdê$n gm§Jm.
S>) ImXmS>nUm (~w{b{_`m Zìhm}gm) {dH¥$VrMo {ZXmZmË_H$ {ZH$f gm§Jm.
B) {ZÐmg§Mma {dH¥$Vr ñnï> H$am.
\$) AdYmZ H$_VaVm - A{V{H«$`m{ebVm {dH¥$Vr åhUOo H$m`?

àíZ 2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ>) [20]
A) {d^«_ {dH¥$VrMr H$maUo ñnï> H$am.
~) _Zmo{dXb Am{U {N>ÝZ_ZñH$g_ ì`ŠVr_Ëd {dH¥$VrMo ñdê$n ñnîQ> H$am.
H$) _Ü`nmZ g§~§§Yr {dH¥$VrMr MMm© H$am.
S>) g§àofU {dH¥$VrMoo àH$ma ñnï> H$am.

àíZ 3) Imbrb àíZm§Mr 400 eãXm§V CÎmao {bhm. (H$moUVmhr EH$>) [20]

A) {N>ÝZ_ZñH$Vm åhUOo H$m`? {N>ÝZ_ZñH$VoMo àH$ma AmUr H$maUo ñnîQ> H$am.

~) ~m¡ÕrH$ (An§JËd) {dH¥$VrÀ`m {ZXmZmË_H$ {ZH$fm§Mr g{dñVa MMm© H$am.

P.T.O.
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àíZ 4) {Q>nm {bhm. (H$moUË`mhr XmoZ>) [10]

A) g_mO {dKmVH$ ì`ŠVr_Ëd {dH¥$Vr.

~) AmË_ào_r ì`ŠVr_Ëd {dH¥$Vr.

H$) ídgZmer g§~§YrV {ZÐm {dH¥$Vr.

S>) «̂_ZÜdZr AmgŠVr {dH¥$Vr.

♦♦♦



Q1) Answer the following questions in 100 words each. (Any Three)[3 × 5 = 15]
a) What are the Special rights of Jammu and Kashmir under Article 370?
b) What are the India’ s anti Naxalism measures?
c) Explain the Meaning and Concept of Terrorism?
d) What is Counter-Terrorism?
e) Explain the Nature of Cyber Crime?

Q2) Answer the following questions in 300 Words each. (any One)[1 × 15 = 15]
a) Explain in detail the Strategic Importance of Jammu and Kashmir.
b) What are the Causes of Naxalism? Explain.

Q3) Answer the following questions in 200 words each. (Any Two)[2 × 10 = 20]

a) State the Security impact of Jammu and Kashmir issue and Suggest
measures.

b) What are the Effects of Naxalite Problems on India’s National Security?

c) What are the important resolutions passed by United Nations to eradicate
Terrorism?

d) What are the Basic Instruments of Cyber Crime?

Total No. of Questions : 4]
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Q4) Write Short Notes (Any Four) : [4 × 5 = 20]

a) Article 35-A

b) Meaning and Concept of Naxalism.

c) Solutions on Terrorism

d) Cyber Crime in India

e) India’s Counter Terrorism Policy

f) Cyber War


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Total No. of Questions : 4]

[6301]-164
S.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
DSE-1B S-1 : India’s Internal Security - II

(2019 CBCS Pattern) (Semester - IV) (24271)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PC-740

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àým§Mr CÎmao àË òH$s 100 eãXmV {bhm. (H$moUVohr VrZ) [3 × 5 = 15]

A) H$b_ 370 A§VJ©V Oå_y Am{U H$mí_rabm H$moUVo {deof A{YH$ma AmhoV?

~) ^maVmÀ`m ZjbdmX {damoYr Cnm` `moOZm H$moUË`m?

H$) XheVdmXmMm AW© Am{U g§H$ënZm ñnï> H$am?

S>) à{VXheVdmX åhUOo H$m`?

B>) gm`~a JwÝøm§Mo ñdê$n ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àým§Mr CÎmao àË òH$s 300 eãXm§V {bhm. (H$moUVmhr EH$) [1 × 15 = 15]

A) Oå_y Am{U H$mí_raMo gm_[aH$ _hËd g{dñVa ñnï> H$am.

~) ZjbdmXmMr H$maUo H$moUVr? ñnï> H$am.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àým§Mr CÎmao àË òH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [2 × 10 = 20]

A) Oå_y Am{U H$mí_ra g_ñ òMo gwajodarb hmoUmao n[aUm_ gm§JyZ Cnm` `moOZm gyMdm.

~) ZjbdmX g_ñ òMo ^maVmÀ`m amï´>r` gwajoda hmoUmao n[aUm_ H$moUVo?

H$) XheVdmX {Z_w©bZmgmR>r g§̀ wº$ amï´>mZo Ho$bobo _hËdnwU© R>amd H$moUVo?

S>) gm`~a JwÝøm§Mr _wb ŷV gmYZo qH$dm CnH$aUo H$moUVr?

àíZ àíZ àíZ àíZ àíZ 4) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr Mma) [4 × 5 = 20]

A) H$b_ 35-A

~) ZjbdmXmMm AW© Am{U g§H$ënZm

H$) XheVdmXmd[ab Cnm`

S>) ^maVmVrb gm`~a JwÝho

B) ^maVmMo à{VXheVdmXm {df`rMo YmoaU

\$) gm`~a ẁÕ





Q1) Answer any three of the following : [15]

a) Explain in brief the sub plot of the play ‘The Fire and the Rain’.

b) Explain the significance of the ‘Prologue’ in ‘The fire and the Rain’.

c) Comment on the character of Brahma Rakshasa in ‘The fire and the
Rain’.

d) To whom does the king select for the fire sacrifice to end the long drought?
Why?

e) Why does Yavakri dislike Raibhya?

Q2) Answer any three of the following : [15]

a) Whom does Raibhya send to kill Yavakri?

b) Explain the title ‘The Fire and the Rain’ in your own words.

c) Discuss the importance of ‘Epilogue’ in ‘The Fire and the Rain’.

d) What did Yavakri tell vishakha under the banyan tree?

e) What observations Nittilai makes about Brahmin priests?

Total No. of Questions : 5]

[Total No. of Pages : 2
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Q3) Answer any one of the following : [10]

a) Comment on the character of segius in ‘Arms and the Man’.

b) Discuss ‘Arms and the Man’ as an anti-romantic comedy.

Q4) Answer any one of the following : [10]
a) Comment on the plot construction of ‘Arms and the Man’.

b) Comment on the character of Louka, the maid servant in ‘Arms and the
Man’.

Q5) Answer any four of the following questions : [20]
a) Why does Raibhya want to kill Yavakri?
b) What effect fire sacrifice has on Aravasu?
c) Why does the king insist to undergo the fire sacrifice?
d) Why is vishakha unhappy to live with parvasu?
e) What are the two questions Nittilai wants to ask to Yavakri?
f) Explain divine origin of Natya-shastra with reference to ‘The Fire and

the Rain’.





Q1) Attempt any FIVE of the following. [10]

a) Evaluate 2lim 3 t t t

t
e i e j e k  


   

 

b) Find the gradient vector field of the function f(x, y) = x2 + y2

c) Obtain the parametric representation for the elliptic paraboloid z = x2 + y2.

d) Find the curl F


 if 2 2 2F xi yj zk  
  

e) Show that  1, 2  is linearly independent in  over Q.

f) If f : V  W is linear, define the ker f and the image of f.

g) What is the dimension of M2() | , , ,
a b

a b c d
c d

  
   

  
 ?

Q2) Attempt any FOUR of the following : [20]

a) Find T̂  and N̂  for the plane curve ( ) cos sinr t ti tj 
 

b) Solve the initial value problem for ( )r t  where ( )d r t ti tj tk
dt

  
 

 with

initial condition (0) 2 3r i j k  
 

Total No. of Questions : 4]

[Total No. of Pages : 3
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c) Evaluate (6 ) ( 2 )
C

y x dx y x dy    where C is the circle (x – 2)2 + (y –3)2 = 4.

d) Reduce the matrix 
3 4 2
0 1 1
6 6 12

  
 
 
  

 to row echelon form.

e) Prove that the intersection of two subspaces of a vector space V is also
a sub- space of V.

f) Find the Basis and Dimension of subspace S = {(x, y, z, w)|x = y, z = w}
of R4.

Q3) Attempt any FOUR of the following : [20]

a) Evaluate 
2

21

4(6 6 ) 3t i t j k dt
t

     


 

b) Find a potential function for the field and evaluate the integral

1, ,2
2

(0,2,1)

1 12cos 2 sinydx x y dy dz
y z

 
 
 

 
   
 



c) If ( 3 ) ( 2 ) ( )F x y i y z j x z k     
  

 is solenoidal, then find the value
of .

d) Determine whether the set S = {(2, 2,2), (0,0,3), (0,1, 1)} span R3.

e) Find the rank and nullity of the matrix A given by

1 2 2 3 1
3 6 1 1 7

2 4 3 8 4

  
    
   

f) Find ker T, where T : R3  R2 defined by

T(x, y, z) = (x + y, y – z)
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Q4) Attempt any TWO of the following : [20]

a) Using the divergene theorem evaluate

ˆ
S
F nd

where 3 2sin( ) ( 4 )F x i zy j z x k   
 

 and S is the surface of the box
–1 < x < 2, 0 < y < 1 and 1 < z < 4. Note all six sides of the box are
included in S.

b) Find the flux of 2F yz i x j z k  
 

 through the parabolic cylinder

y = x2, 0 < x < 1, 0 < z < 4

in the direction of n̂ .

(c) Let T : 3  3 be a linear transformation given by

T(x, y, z) = (2x + y, 4x + 3y – 2z, –x – 2y + 2z). Determine

i) Which of the following vectors are in ker(T)?

(–1,2,3), (2,–4,0)

ii) Which of the following vectors are in R(T)?

(0,6,–8), (1,0,2)

d) Determine the value of k so that the following system in unknown x, y, z
has

i) a unique solution

ii) no solution

iii) an infinite number of solutions

kx + y + z =1

x + ky + z =1

x + y + kz =1


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Q1) Write short notes on (any three) : [15]

a) Indological Approach.

b) Modernization.

c) Non-Brahmanical perspective (Dr. B.R. Ambedkar).

d) Caste.

e) Colonialism.

Q2) Answer the following questions in 50 words each (any three) : [15]

a) Discuss the concept of Dominant caste.

b) Elucidate the main tenets of Dialectical perspective.

c) Explain caste and occupation in India.

d) Elaborate the characteristics of Sanskritization.

e) Explain Dr. B.R. Ambedkar's thoughts on emergence of untouchability.

SEAT No. :

P.T.O.
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Q3) Answer the following questions in 200 words each (any two) : [20]

a) Explain the social background of Indian nationalism.

b) Explain the features of caste system.

c) Discuss the development of Sociology in India.

d) Explain 'Sub-castes' as given by Dr. G.S. Ghurye.

Q4) Answer the following question in 300 words (any one) : [20]

a) Describe the development of Indian Sociology during the British period.

b) Explain the structural-functional perspective to study Indian Society.


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Total No. of Questions : 4]

[6301]-167
S.Y. B.A.

SOCIOLOGY

DSE - 1 B : Development of Sociology in India

(2019 Pattern) (CBCS) (Semester - IV) (24371)

(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PC-743

àíZ 1) Q>rnm {bhm : (H$moUË¶mhr VrZ) [15]

A) àmÀ¶{dÚm Ñ{ï>H$moZ

~) AmYw{ZH$sH$aU

H$) A~«m÷Ur Ñ{ï>H$moZ (S>m°. ~r. Ama. Am§~oS>H$a)

S>) OmV

B) dgmhVdmX

àíZ 2) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm. [15]

A) "à^mdr OmVr À¶m' g§H$ënZo Mr MMm© H$am.

~) X§ÛmË‘H$ Ñ{ï>H$moZmVrb ‘hËdmMo ‘wÔo {deX H$am.

H$) ^maVmVrb OmV d / Am{U ì¶dgm¶ ñnï> H$am.

S>) g§ñH¥$VrH$aUmMo d¡{eï>ço {dñVmamZo {bhm.

B) S>m°. ~r. Ama. Am§~oS>H$am§Mo Añn¥í¶VoÀ¶m CJ‘m g§~§YrMo {dMma ñnï> H$am.

P.T.O.
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àíZ 3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao àË¶oH$s 200 eãXm§V {bhm. [20]

A) ^maVr¶ amï´>dmXmMr gm‘m{OH$ nmíd©̂ y{‘ ñnï> H$am.

~) Om{V ì¶dñWoMr d¡{eï>ço ñnï> H$am.

H$) ^maVmVrb g‘mOemñÌmÀ¶m {dH$mgmMr MMm© H$am.

S>) S>m°. Or. Eg. Kw¶} ¶m§Zr {Xboë¶m "Cn-OmV'/nmoQ> OmV ñnï> H$am.

àíZ 4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 300 eãXm§V {bhm. [20]

A) B§J«Om§À¶m H$mimVrb ^maVr¶ g‘mOemñÌmÀ¶m {dH$mgmMo dU©Z H$am.

~) ^maVr¶ g‘mOmÀ¶m Aä¶mgmMo g§aMZmË‘H$-H$m¶©dmXr Ñ{ï>H$moZ ñnï> H$am.





Q1) Answer any Three of the following questions in 100 words. [15]

a) Write a note on Nyaya Darshana’s views on Shabda pramana.

b) Explain Vaisheshika’s notion of Padarth.

c) Narrate Samkhya’s theory of liberation.

d) Write a note on Purvarnimamsa’s concept of Apurva.

e) Explain Trividh-Satta theory of Shankaracharya.

Q2) Write short notes on any Three of the following in 100 words : [15]

a) Nyaya theory of Anumana.

b) Samkhya evaluation of Tattvas.

c) Write a note on Yoga concepts of Yama.

d) Purvamirnamsa’s opinion on Moksha.

e) Shankaracharya’s notion of Maya.

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q3) Answer Two of the following questions in 200 words. [20]

a) Explain Nyaya notion of Anuman as a pramana.

b) Narrate Purvamimamsa’s attitude towards Veda.

c) Elucidate Shankaracharya’s concept of Moksha.

Q4) Answer any One of the following questions in 400 words. [20]

a) Explain Nyaya and Vaisheshika’s concept of God.

b) Describe Yoga’s conceptions of Chitta in detail.

♦♦♦



Total No. of Questions : 4]

[6301]-169
S.Y. B.A.

PHILOSOPHY - S1
DSE -1B : Indian Philosophy : Orthodox Systems
(2019 Pattern) (CBCS) (Semester - IV) (24421)

(_amR>r ê$nm§Va)
doi : 2½ Vmg ]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

àíZ 1) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao 100 eãXm§V {bhm. [15]

A) Ý`m` Xe©ZmÀ`m eãX à_mUmdarb Ñ{ï>H$moZmda Q>rn {bhm.

~) d¡eo{fH$m§Mr nXmW© g§H$ënZm ñnîQ> H$am.

H$) gm§»`m§Mr _wŠVr g§H$ënZm ñnï> H$am.

S>) nyd©_r_m§gH$m§À`m Anyd© g§H$ënZoda Q>rn {bhm.

B) e§H$amMm`m©Mm {Ì{dYgÎmm {gÕm§V ñnï> H$am.

àíZ 2) Imbrbn¡H$s H$moUË`mhr VrZda Q>rnm 100 eãXm§V {bhm. [15]

A) Ý`m`m§Mm AZw_mZ {gÕm§V.

~) gm§»`m§À`m àH¥$Vr d nwéf `m VËd g§H$ënZm§darb _yë`_mnZ.

H$) `moJXe©ZmÀ`m `_ g§H$ënZoda Q>rn {bhm.

S>) nyd©_r_m§gH$m§Mo _moj g§H$ënZodarb _V.

B) e§H$amMm`mªMr _m`m g§H$ënZm.

P.T.O.

PC-744
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àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 200 eãXm§V {bhm. [20]

A) AZw_mZ EH$ à_mU `mdarb Ý`m`Xe©ZmMo _V gm§Jm.

~) nyd©_r_m§gH$m§Mm doXf{d`H$ Ñï>rH$moZ ñnîQ> H$am.

H$) e§H$amMm`mªMr _moj g§H$ënZm gm§Jm.

àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$m àíZm§Mr CÎmao 400 eãXm§V {bhm. [20]

A) Ý`m` Am{U d¡eo{fH$ `m§Mr B©œa g§H$ënZm ñnï> H$am.

~) `moJXe©ZmMr {MÎm g§H$ënZm g{dñVanUo _m§S>m.

♦♦♦



Q1) Attempt any Eight questions (20 wrods) : [16]
a) What is Stress?
b) State two rights of Employees.
c) What is strike?
d) State any two functions of employee organisations.
e) Write two types of accountability.
f) Write two issues in personnel administration.
g) What is Administrative Tribunals?
h) What is performance Appraisal?
i) What is Discipline?
j) What is mean by Motivation?

Q2) Attempt any four short notes (50 words each) : [16]
a) Right to strike.
b) Human Resource Development.
c) Stress management
d) Corruption
e) Administrative Tribunal
f) Administrative Discipline.

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q3) Attempt any three questions (100 words) : [18]

a) Discuss on importance of Administrative Tribunals.

b) Explain the importance of discipline & conduct in civil service.

c) Write importance of performances Appraisal.

d) Discuss on Right to form. Association.

Q4) Attempt any two questions (200 words) [20]

a) Describe the meaning, importance & types of motivation.

b) State the causes of corruption.

c) Explain the types of accountability in detail.

♦♦♦



Total No. of Questions : 4]

[6301]-170
S.Y. B.A.

PUBLIC ADMINISTRATION
DSE 1B : Personnel Administration

(2019 Pattern) (Semester - IV) (24441)

(_amR>r ê$nm§Va)
doi : 2½ Vmg ]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

àíZ 1) WmoS>Š`mV CÎmao {bhm. (H$moUVohr AmR>) (20 eãXm§V) [16]
A) VmU åhUOo H$m`?
~) H$_©Mmè`m§Mo XmoZ A{YH$ma gm§Jm.
H$) g§n åhUOo H$m`?
S>) H$_©Mmar g§KQ>ZmMr XmoZ H$m }̀ gm§Jm.
B) CÎmaXm{`ËdmMo XmoZ àH$ma gm§Jm.
\$) H$_©Mmar àemgZmÀ`m XmoZ g_ñ`m {bhm.
`) àemgH$s` Ý`m`m{YH$aUo åhUOo H$m`?
a) H$m_{Jar _yë`m§H$Z åhUOo H$m`?
b) {eñV åhUOo H$m`?
d) àoaUm åhUOo H$m`?

àíZ 2) Imbrb àíZm§Mr CÎmao àË òH$s - 50 eãXm§V {bhm (H$moUVohr Mma) [16]
A) g§nmMm A{YH$ma
~) _mZd g§gmYZ {dH$mg
H$) VmU ì`dñWmnZ
S>) ^«îQ>mMma
B>) àemgH$s` Ý`m`m{YH$aU
\$) àemgH$s` {eñV

P.T.O.

PC-745

3



[6301]-170 4

àíZ 3) Imbrb àíZm§Mr CÎmao àË òH$s - 100 eãXm§V {bhm (H$moUVohr VrZ) [18]

A) àemgH$s` Ý`m`{YH$aUmMo _hËd `mda MMm© H$am.

~) gZXrgodoVrb {eñV d AmMaU `m§Mo _hËd ñnï> H$am.

H$) H$m_m{Jar _yë`m§H$ZmMo åhËd {bhm.

S>) g§KQ>Zm {Z_m©U H$aÊ`mMr A{YH$ma `mda MMm© H$am.

àíZ 4) Imbrb àíZm§Mr CÎmao àË òH$s - 200 eãXm§V {bhm (H$moUVohr XmoZ) [20]

A) A{^àoaUm AW©;_hËd d àH$ma {deX H$am.

~) «̂îQ>mMmamMr H$maUo gm§Jm.

H$) CÎmaXm{`ËdmMo àH$ma g{dñVa ñnï> H$am.

♦♦♦



Total No. of Questions : 4]

[Total No. of Pages : 2
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PC-746

àíZ 1) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 50 eãXm§V {bhm. [10]

A) gm{hË` g_rjoMr g§H$ënZm ñnï> H$am.

~) gm{hË`H¥$Vr Am{U AmñdmX `m§Mm AZw~§Y ñnï> H$am.

H$) AmnUmg AmdS>boë`m EH$m gm{hË`H¥$VrMo J«§W narjU H$am.

àíZ 2) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 150 eãXm§V {bhm. [20]

A) g_mOemór` d Eo{Vhm{gH$ g_rjm àH$mam§Mm AmT>mdm ¿`m.

~) gm{hË`ì`dhmamVrb g_rjoMo H$m ©̀ ñnï> H$am.

H$) gm{hË`{dMma Am{U g_rjm `m§Mm AZw~§Y ñnï> H$am.

àíZ 3) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 200 eãXm§V {bhm. [20]

A) gm{hË`H¥$Vr Am{U dmMH$ `m§Mm nañnag§~§Y ñnï> H$am.

~) gm{hË` g_rjoVrb AmH$bZ, AmñdmX Am{U _yë`_mnZ à{H«$`m ñnï> H$am.

H$) gm{hË`H¥$Vr Am{U g_rjH$ `m§Mm AZw~§Y ñnï> H$am.

P.T.O.
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àíZ 4) Imbrbn¡H$s XmoZ àíZm§Mr CÎmao 200 eãXm§V {bhm. [20]
A) g_rjH$mÀ`m A§Jr H$moUH$moUVo JwU Agbo nm{hOoV Vo g{dñVa {bhm.
~) g_rjH$mZo nmimd`mMr nÏ ò g{dñVa {bhm.
H$) J«§W narjU åhUOo H$m`? Vo gm§JyZ J«§W narjUmMo _hÎd {deX H$am.

♦♦♦
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Total No. of Questions : 5

[Time :2½ HoursTotal Marks :70]

P.T.O.

     

 (1

 (2

  :1 


 

 2 




 3 




  4 

 (ii   (i 

[15]

SEAT No.

Total No. of Pages : 2
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   5 

   (i     

  (ii       

    (iii 

   (iv         

  (v

  (vi          

      (vii          

 5 
   (i     

  (ii       

  (iii 

  (iv         


  (v

  (vi          

     (vii          




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Total No. of Questions : 5]
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[6301]-173
S.Y. B.A.

HINDI (qhXr)
DSE-2B : _Ü``wJrZ H$mì` VWm ZmQ>H$ gm{hË` (S-2)

(2019 Credit Pattern) (Semester - IV) (24092)
nmR>çnwñVH|$ … 1) _Ü` ẁJrZ H$mì` - g§nm. àmo.S>m° gXmZ§X ̂ mogbo

2) _hm^moO - boIH$ - _ÝZw ̂ §S>mar

g_` : 2½ K§Q>o ] [ nyUmªH$ : 70

gyMZmE± : 1) g^r àíZ A{Zdm ©̀ h¢ &
2) Xm{hZr Amoa {bIo A§H$ àíZm| Ho$ nyUmªH$ h¡&

PC-748
SEAT No. :

P.T.O.

àíZ àíZ àíZ àíZ àíZ 1) {ZåZ{b{IV àíZm| _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE & [14]

A) ahr_ Ho$ ì`{º$Ëd Ed§ H¥${VËd H$m n[aM` Xr{OE &

~) ahr_ Ho$ Zr{V{df`H$ {dMmam| H$mo nR>rV Xmohm| Ho$ AmYma na ñnï> H$s{OE &

H$) ahr_ Ho$ H$mì` H$s àmg§{JH$Vm H$mo aoIm§{H$V H$s{OE &

S>) ahr_ H$s ^{º$^mdZm H$mo ñnï> H$s{OE &

àíZ àíZ àíZ àíZ àíZ 2) {ZåZ{b{IV àíZm| _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE & [14]

A) {~hmar ar{VH$mb Ho$ gd©loð> H${d h¡, {gÕ H$s{OE &

~) {~hmar Ho$ H$mì` _| Zm`H$ - Zm{`H$m Ho$ gm¢X ©̀ H$m {MÌU {_bVm h¡, ñnï> H$s{OE &

H$) {~hmar H$m H$mì` AmO ^r àmg§[JH$ h¡, ñnï> H$s{OE &

S>) {~hmar Ho$ H$mì` H$s ^mfme¡br na àH$me S>m{bE &
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àíZ àíZ àíZ àíZ àíZ 3) {ZåZ{b{IV àíZm| _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE & [14]

A) _ÝZw §̂S>mar H$m gm{hpË`H$ n[aM` Xr{OE &

~) "_hm^moO' ZmQ>H$ H$s H$WmdñVw AnZo eãXm| _| {b{IE &

H$) "_hm^moO' ZmQ>H$ _| {M{ÌV g_ñ`mAm| na àH$me S>m{bE &

S>) "_hm^moO' ZmQ>H$ H$m CX²Xoe ñnï> H$s{OE &

àíZ àíZ àíZ àíZ àíZ 4) gg§X ©̂ ì`m»`m …

A) {ZåZ{b{IV _| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì`m»`m H$s{OE & [7]

i) "{~Jar ~mV ~Z¡ Zht, bmI H$amo {H$Z H$mò  &

a{h_Z \$Q>o XÿY H$mo, _Wo Z _mIZ hmò  &&'

ii) "Vê$da \$b Zqh ImV h¢, gada {n` {h Z nmZ &

H${h ahr_, na-H$mO {hV, g§n{Îm g§M{h gwOmZ&&'

~) {ZåZ{b{IV _| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì`m»`m H$s{OE & [7]

i) "_oar ^d ~mYm ham¡, amYm ZmJ[a gmoB &

Om VZ H$s Pm±B© na¡, ñ`m_ h[aV Xþ{V hmoB© &&'

ii) "H$ZH$-H$ZH$ V| gm¡JwZr _m{XH$Vm A{YH$mB &

C{h Im ò ~m¡amB OJ Bqh nm |̀ ~m¡amB &&'

H$) {ZåZ{b{IV _| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì`m»`m H$s{OE & [7]

i) "O¡ am_Or H$s Xm gmh~! AmnZo hþHw$_ {H$`m Wm ...... hm{Oa hmo JE h_&'

ii) "Xÿgao Bg `moOZm H$m A{YH$ go A{YH$ bm^ h[aOZm| Am¡a IoV-_OXÿam| H$mo hr
{_bo&'
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àíZ àíZ àíZ àíZ àíZ 5) {ZåZ{b{IV ~hþ{dH$ënr` àíZm| Ho$ CÎma {b{IE & [7]

i) ahr_ H$m¡Z-gr H$mì`Ymam Ho$ H${d h¡?

A) {ZJw©U ~) gJwU

H$) Zr{V S>) ar{V

ii) {ZåZ _| go ahr_ H$s aMZm H$m¡Z-gr h¡?

A) ahr_ gVgB© ~) Xmohmdbr

H$) ~rOH$ S>) gyagmJa

iii) {~hmar H$m {à` N>§X H$m¡Z-gm h¡?

A) Xmohm ~) gmoaR>m

H$) N>ßn` S>) Mm¡nmB©

iv) "{~hmar gVgB©' Ho$ aMZmH$ma H$m¡Z h¡?

A) ahr_ ~) {~hmar

H$) H$~ra S>) Om`gr

v) "_hm^moO' ZmQ>H$ {H$VZo Ñí`m| _| {d^m{OV h¡?

A) 11 ~) 12

H$) 13 S>) 14

vi) "_hm^moO' ZmQ>H$ _| _w»`_§Ìr H$m¡Z h¡?

A) hram ~) Xm gmh~

H$) H$mer S>) q~Xm

vii) {~gy Ho$ {_Ì H$m Zm_ Š`m h¡?

A) q~Xm ~) Omoamda

H$) XÎmm ~m~y S>) bmoMZ ¡̂̀ m





Q1) Translate any two with explanation. [10]
H$moUË`mhr Xmohm|Mo gQ>rn ^mfm§Va H$am.
i) CnhÿÿVmo dmšMñn{Všénmšñ_mZ² dmšMñn{V ©̂ `Vm_² &

g§ lwšVoZ J_o_{hš _m lwšVoZš {d am{Y{f &&
ii) Bšh¡d Y«wdm à{V {Vð> emšboœmdVrš Jmo_Vr gyšZ¥VmdVr &

CO©ñdVr K«¥šVdVrš n`ñdË ẁÀN´>`ñd _hšVo gm¡̂ Jm` &&
iii) _m «̂mVmš «̂mVa§ {ÛjšÝ_m ñdgma_wšV ñdgm &

gšå`#mš… gd«Vm ŷšËdm dmM§ dXV š̂Ð`m &&

Q2) Write a long answer to any one : [15]
H$moUË`mhr EH$mMo g{dñVa CÎma {bhm …

i) embm{Z_m©UgyŠV_² (AWd©doX - 3.12)
ii) amk… g§daUgyŠV_² (AWd©doX - 3.4)

Q3) Explain with reference to context (Any two) : [10]
H$moUË`mhr Xmohm|Mo gg§X ©̂ ñnï>rH$aU H$am.
i) A{dÚ`m _¥Ë §̀w VrËdm© {dÚ`m_¥V _íZwVo &
ii) dgmoÊ`Voš {Z a_` _æ òšdm ñVwš _{` lwšV_² &
iii) ò ò H$m_m Xþb©̂ m _¥Ë ©̀bmoHo$ gdm©ÝH$m_m§íN>ÝXV… àmW©̀ ñd &
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Q4) A) Answer in detail to any one. [15]

H$moUË`mhr EH$mMo g{dñVa CÎma {bhm.

i) B©emdmñ`mon{ZfX² &

ii) ^mJ©drdméUr{dÚm (V¡{Îmar`mon{ZfX²)

B) Write any two short notes. [10]

Imbrbn¡H$s H$moUË`mhr XmoZ Q>rn {bhm.

i) eÌwZmeZm{Z

ii) B©emdmñ`mon{ZfX²

iii) Z{MHo$Vm

Q5) Answer in sanskrit (any five) : [10]

g§ñH¥$VmV CÎmao {bhm (H$moUVohr nmM) …

i) ^mJ©drdméUr{dÚm H$ñ`m_wn{Zf{X AmJVm?

ii) B©emdmñ`mon{ZfX… Ana§ Zm_Yò § {H$_²?

iii) AWd©doXo AmJVofw {df òfw Ho$fm_{n MVg¥Um§ Zm_m{Z {bIV &

iv) "Cn{ZfX²' eãXñ` ì`m»`m§ {bIV &

v) `_… H$ñ`m_² Cn{Zf{X d{U©V…?

vi) AWd©doXñ` Ìr{U Zm_m{Z {bIV &





Q1) Answer the following questions in one or two sentences (any Eight) : [16]

a) Write the Definition of the Macro Economic Policy.
b) What is mean by Business Cycle?
c) Write the Definition of the public expenditure.
d) Write the Definition of the Demand Pull Inflation.
e) State the Keyne's equation of cash balance approach.
f) What is mean by Inflation?
g) Write the Definition of Money.
h) What is mean by Fiscal Policy?
i) State the two features of Business Cycle.
j) What is mean by Galloping Inflation?

Q2) Answer the following questions in briefly (any Four) : [16]

a) State the Advantages of Monetary Policy.
b) Write the limitations of Fiscal Policy.
c) State the Causes of Business Cycle.
d) Explain the concept of stagflation.
e) State the primary functions of money.
f) Write the objectives of macro economic policy.

Total No. of Questions : 4]
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Q3) Answer the following questions in 100 words (any Three) : [18]

a) Explain the effects of Business Cycle.

b) Explain the concept of Philips Curve.

c) Write the Marshall's and Pigou's equations of Cash balance approach.

d) Explain the phases of Business Cycle.

Q4) Answer the following questions in 200 words (any Two) : [20]

a) Explain the instruments and advantages of Fiscal Policy.

b) Explain the Causes of Inflation.

c) Write the criticisms on Fisher Quantity theory of money.





Total No. of Questions : 4]
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àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr CÎmao EH$ qH$dm XmoZ dm³¶mV {bhm. (H$moUVohr AmR>) [16]
A) g‘J«bjr Am{W©H$ YmoaUmMr ì¶m»¶m {bhm.
~) ì¶mnmaMH«$ åhUOo H$m¶?
H$) gmd©O{ZH$ IM© ì¶m»¶m {bhm.
S>) ‘mJUr VmU{Z{‘©V MbZ{dñVma ì¶m»¶m gm§Jm.
B) Ho$Ýgy ¶m§Mo amoI {eëbH$ Ñï>rH$moZ g‘rH$aU {bhm.
\$) MbZ {dñVma åhUOo H$m¶?
`) n¡gm ì¶m»¶m {bhm.
a) amOH$mofr¶ YmoaU åhUOo H$m¶?
b) ì¶mnmaMH«$mMr XmoZ d¡{eï>ço gm§Jm.
d) KmoS>XmoS>r MbZ{dñVma (Galloping Inflation) åhUOo H$m¶?

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao WmoS>³¶mV {bhm. (H$moUVohr Mma) [16]
A) MbZ{df¶H$ YmoaUmMo ’$m¶Xo gm§Jm.
~) amOH$mofr¶ YmoaUmÀ¶m ‘¶m©Xm {bhm.
H$) ì¶mnaMH«$ {Z{‘©VrMr H$maUo gm§Jm.
S>) ‘§{X¶w³V MbZ{dñVma g§H$ënZm ñnï> H$am.
B) n¡emMr àmW{‘H$ H$m¶} gm§Jm.
\$) g‘J«bú‘r Am{W©H$ YmoaUmMr C{Ôï>ço {bhm.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao 100 eãXmV {bhm. (H$moUVohr VrZ) [18]

A) ì¶mnmaMH«$mMo n[aUm‘ ñnï> H$am.

~) {’${bßg dH«$ g§H$ënZm ñnï> H$am.

H$) S>m°. ‘me©b Am{U {nJw ¶m§Mm amoI {eëbH$ Ñï>rH$moZ {bhm.

S>) ì¶mnmaMH«$ AdñWm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr CÎmao 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]

A) amOH$mofr¶ YmoaUmMr gmYZo Am{U ’$m¶Xo ñnï> H$am.

~) MbZ{dñVmamMr H$maUo ñnï> H$am.

H$) àm. {’$ea ¶m§À¶m MbZ g§»¶m‘mZ {gÕm§VmMo {Q>H$mË‘H$ n[ajU {bhm.





Q1) Attempt any Eight questions (20 words) : [16]
a) Write the definition of mediatization.
b) Write two types of paid News.
c) Write two types of print media.
d) Name two political parties in India
e) What is paid News.
f) State two types of media.
g) What is public opinion.
h) State two types of social media.
i) Write two duties of media regarding public opinion.
j) Write two methods of mediatization.

Q2) Attempt any four short notes (50 words) : [16]
a) Advertising.
b) Social media war-Room.
c) Formation of public opinion
d) Loksabha Election 2014 and media.
e) Restriction on paid News.
f) Loksabha Election 2019 and media.
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Q3) Attempt any three questions (100 words) : [18]

a) Explain the concept of mediatization of politics.

b) What is saturation of media.

c) Explain Role of media in political parties.

d) Write disadvantages of paid News.

Q4) Attempt any two questions (200 words) [20]

a) Explain factors affecting to public opinion.

b) Explain the importance of Journalism in the Indian political process.

c) Explain the challenges before political Journalism.

♦♦♦



Total No. of Questions : 4]

[6301]-176
S.Y. B.A.

POLITICAL SCIENCE
DSE -2B : Political Journalism

(2019 Pattern) (CBCS) (Semester - IV) (24162)

(_amR>r ê$nm§Va)
doi : 2½ Vmg ]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

àíZ 1) Imbrbn¡H$s H$moUË`mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXm§V) [16]
A) _mÜ`_rH$aUmMr ì`m»`m {bhm.
~) noS> Ý ẁOMo XmoZ àH$ma {bhm.
H$) [à§Q> _mÜ`_mMo XmoZ àH$ma {bhm.
S>) ^maVmVrb XmoZ amï´>r` amOH$s` njmMr Zmdo gm§Jm.
B) noS>Ý ẁO åhUOo H$m`?
\$) _mÜ`_mMo XmoZ àH$ma gm§Jm.
`) gmd©O{ZH$ _V åhUOo H$m`?
a) gmoeb _r{S>`mMo XmoZ àH$ma gm§Jm.
b) gmd©O{ZH$ _Vm~m~V _mÜ`_m§Mo XmoZ H$V©ì ò {bhm.
d) _mÜ`_rH$aUmÀ`m XmoZ nÕVr {bhm.

àíZ 2) Imbrbn¡H$s H$moUË`mhr Mma> {Q>nm {bhm. (50 eãXm§V) [16]
A) Om{hamV
~) gmoeb _rS>r`m dm°a ê$_
H$) gmd©O{ZH$ _VmMr {Z{_©Vr
S>) bmoH$g^m {ZdS>UyH$ 2014 d _mÜ`_o
B>) noS>Ý ẁO ~m~V ~§YZo
\$) bmoH$g^m {ZdS>UyH$ 2019 d _mÜ`_o

P.T.O.
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àíZ 3) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao {bhm. (100 eãXm§V) [18]

A) amOH$maUmMo _mÜ`_rH$aU hr g§H$ënZm ñnï> H$am.

~) _mÜ`_m§Mo g°À ỳaoeZ åhUOo H$m`?

H$) amOH$s` njmVrb _rS>r`mMr ŷ{_H$m ñnï> H$am.

S>) noS> Ý ẁOMo VmoQ>o {bhm.

àíZ 4) Imbrbn¡H$s H$moUË`mhr XmoZ> àíZm§Mr CÎmao {bhm. (200 eãXm§V) [20]

A) gmd©O{ZH$ _Zmda n[aUm_ H$aUmao KQ>H$ ñnï> H$am.

~) ^maVr` amOH$s` à{H«$ òV nÌH$m[aVoMo _hËd ñnï> H$am.

H$) amOH$s` nÌH$m[aVog_moarb AmìhmZo ñnï> H$am.

♦♦♦



Q1) Answer the following question in 300 words. (Any One) [15]

a) Discuss the program of 1920 Civil disobedience movement.

OR

b) State the causes of rise of fascism in Italy and take a review of Mussolini’s
achievements.

Q2) Answer the following question in 300 words. (Any One) [15]

a) State the causes and impact of Second World War.

OR

b) Provide on account of the rise of America as World Power.

Q3) Answer the following questions in 200 words. (Any Two) [20]

a) Write a note on achievements of Nelson Mandela.

b) Describe the nature of Nazism and state its impacts.

c) Describe the objectives and principles of UNO (United Nations
Organisation).

d) Examine the nature and causes of cold war.

Total No. of Questions : 4]
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Q4) Short Notes (Any Four) : [20]

a) Principles of Dr. Sun Yat-sen

b) Cold War

c) Security Council of United Nation

d) Standards for World Power

e) Third World

f) Arm race between America and Russia


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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo 300 eãXmV CÎma {bhm. [15]
A) 1920 À`m AghH$ma Midir H$m ©̀H«$_mMr MMm© H$am.

qH$dm

~) BQ>br_Yrb \°${gP_À`m CX`mMr H$maUo {deX H$éZ _wgmo{bZrÀ`m H$m`m©Mm AmT>mdm ¿`m.

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo 300 eãXmV CÎma {bhm. [15]
A) Xþgè`m _hm ẁX²YmMr H$maUo d n[aUm_ WmoS>Š`mV dU©Z H$am.

qH$dm

~) OmJ{VH$ _hmgÎmm åhUyZ A_oarHo$À`m CX`mMm d¥ÎmmV Úm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZmMr 200 eãXmV CÎma {bhm. [20]
A) ZobgZ _§S>obm `m§Mo H$m ©̀ {bhm.

~) ZmPrdmXmMo ñdén d Ë`m§Mo n[aUm_ {bhm.

H$) g§̀ wŠV amï´>g§KQ>ZoMr CÔrï>o d VËdo {deX H$am.

S>) erV ỳX²YmMr H$maUo d ñdén `m§Mo n[ajU H$am.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) {Q>nm {bhm. (H$moUË`mhr Mma) [20]

A) S>m°. gZ-`V-goZ ̀ m§Mr VËdo

~) erV `wÕ

H$) g§̀ wŠV amï´>g§KQ>ZoMr gyajm n[afX

S>) OmJ{VH$ _hmgÎmoMr _mZHo$

B) {Vgao OJ

\$) a{e`m Am{U A_o[aH$m `m§À`m _Yrb eómó ñnYm©





Q1) Answer the following question in 300 words (Any one out of two) : [15]

a) Give an account of Kemal pasha’s role in modernization of Turkestan.

b) Critically evaluate the Arab Israel conflict.

Q2) Answer the following questions in 300 words (Any one out of two) : [15]

a) Discuss about the suez crisis.

b) Write the information about the achievement of Ibn Saud.

Q3) Answer the following questions in 200 words (Any two out of four) : [20]

a) Evaluate the young turkey movement.

b) Write the information about Turkestan role in World War I.

c) State the information about Rezashaha Pahlavi.

d) Comment’s on Iran role in World War - II.
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Q4) Write Short Notes Any four out of Six : [20]

a) Zionist movement

b) Balfour Declaration

c) General Naser

d) Wahabi movement

e) Rashid Ali

f) Gulf war


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àíZ àíZ àíZ àíZ àíZ 1) Imbrb XmoZn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 300 eãXmV {bhm. [15]

A) VwH©$ñWmZÀ`m AmYw{ZH$sH$aUmVrb Ho$_mb nmemÀ`m `moJXmZmMm AmT>mdm ¿`m.

~) Aa~-BómB©b g§Kfm©Mo {M{H$ËgH$ n[ajU H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb XmoZn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 300 eãXmV {bhm. [15]

A) gwEO H$mbdm g§H$Q>m{df`r MMm© H$am.

~) BãZ g¡X `m§À`m H$m_{Jar{df`r _m{hVr {bhm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb Mman¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 200 eãXm§V {bhm … [20]

A) VéZ VwH©$ MidirMo _wë`_mnZ H$am.

~) n{hë`m _hm ẁÕmVrb VwH©$ñWmZÀ`m ŵ{_Ho${df`r _m{hVr {bhm.

H$) aoPmehm nhbdr `m§À`m{df`r _m{hVr gm§Jm.

S>) Xþgè`m _hm ẁÕmVrb BamUÀ`m ŵ{_Ho$da ^mî` H$am.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr Mma {Q>nm {bhm. [20]

A) {OAm°{ZñQ> Midi

~) ~mb\$moa KmofUmnÌ

H$) OZab Zmgoa

S>) dhm~r Midi

B) a{eX Abr

\$) Jë\$ ẁÕ





Q1) Write answer of the question about 20 words each. (any eight) [16]

a) Define overpopulation.
b) Who proposed the theory of optimum population.
c) State any two advantages of over population.
d) What is social capital?
e) Write any two components included in human development index.
f) What is sex ration?
g) Name any two planned cities in India.
h) Define urbanisation.
i) What is brain drain?
j) What is duration of first five year plan in India?

Q2) Write notes on the following questions 50 words each. (any three) [18]

a) Write the note on human development index.
b) Write a note on history of urbanization.
c) Write an information on five years plan in India.
d) What are the long term features  of national population policy 2000?
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[Total No. of Pages : 4

[6301]-179
S.Y. B.A.

GEOGRAPHY
DSE - 1B - Gg - 210 (B) : Population Geography - II

(2019 Pattern) (CBCS) (Semester - IV) (24202)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of map stencil is allowed.
4) Draw neat diagrams wherever necessary.

PC-754

SEAT No. :

P.T.O.



[6301]-179 2

Q3) Write answers to the following questions in 100 words each. (any two) [16]

a) Write the objections on Karl Marx theory of population growth.

b) What is population policy? Write the history of population policies.

c) Explain the health indicators given by NITI Auog.

Q4) Write the answer to the following questions in 300 words each. (any One)[20]

a) Defining under population write advantages and disadvantages of under
population.

b) Explain health services and health indicators in India.


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3) ZH$mem ñQ>opÝgb dmnaÊ¶mV nadmZJr Amho.
4) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
5) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PC-754

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr 20 eãXmV CÎmao {bhm. (H$moUVohr AmR>) [16]
A) A{V[a³V bmoH$g§»¶oMr ì¶m»¶m gm§Jm.
~) n¶m©Q>Z bmoH$g§»¶oMm {gÕmÝV H$moUr ‘m§S>bm?
H$) A{V[a³V bmoH$g§»¶oMo H$moUVohr XmoZ ’$m¶Xo gm§Jm.
S>) gm‘m{OH$ ^m§S>db åhUOo H$m¶?
B) ‘mZdr {dH$mg {ZX}em§H$m‘Ü¶o g‘m{dï> Ho$bo OmUmao H$moUVohr XmoZ KQ>H$ gm§Jm.
\$) qbJ JwUmoÎma åhUOo H$m¶?
`) ^maVmVrb H$moUË¶mhr XmoZ {Z¶mo{OV eham§Mr Zmdo gm§Jm.
a) eharH$aUmMr ì¶m»¶m gm§Jm.
b) ~wÕrd§Vm§Mo ñWbm§Va åhUOo H$m¶?
d) ^maVm‘Ü¶o n{hbr n§Mdm{f©H$ ¶moOZm H$moUË¶m H$mim‘Ü¶o hmoVr?

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr àË¶oH$s 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [18]
A) ‘mZdr {dH$mg {ZX}em§H$ ¶mda Q>rn {bhm.
~) eharH$aUmMm B{Vhmg ¶mda Q>rn {bhm.
H$) ^maVmVrb n§Mdm{f©H$ ¶moOZm ¶mda ‘m{hVr {bhm.
S>) amï´>r¶ bmoH$g§»¶m YmoaU 2000 ‘Yrb XrK© ‘wXVrMr CÔrï>o H$moUVr?

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr àË¶oH$s 100 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) H$mb© ‘m³g© ¶m§À¶m bmoH$g§»¶m dmT>rÀ¶m {gÕmÝVmdarb Amjon gm§Jm.

~) bmoH$g§»¶m YmoaU åhUOo H$m¶ Vo gm§JwZ bmoH$g§»¶m YmoaUmMm B{Vhmg gm§Jm.

H$) {ZVr Am¶moJmZo Amamo½¶mMo R>a{dbobo {ZX}eH$ dU©Z H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZmMo 300 eãXmV CÎma {bhm. (H$moUVohr EH$) [20]

A) Ý¶wZV‘ bmoH$g§»¶m åhUOo H$m¶ Vo gm§JwZ Ý¶wZV‘ bmoH$g§»¶oMo ’$m¶Xo-VmoQ>o g{dñVa ñnï>
H$am.

~) ^maVmVrb Amamo½¶ gw{dYm Am{U Amamo½¶ {ZX}em§H$ ¶m{df¶r g{dñVa ‘m{hVr {bhm.





Q1) Answer the following questions in 100 words each. (Any 4) : [20]
a) Write the Misconcepts of personality.

b) Describe the influence of birth order according to Adler’s theory.

c) Describe the determinants of personality.

d) Write the characteristics of introvert personality.

e) Describe the factors theory of Cattels.

f) Write the applications of classical and operant conditioning.

Q2) Answer the following questions in 200 words each. (Any 2) : [20]
a) Explain the divisions of mind in psychoanalytical theory.

b) Evaluate the Eysenk’s theory.

c) Write All port’s Trait theory.

d) Write the characteristics of classical conditioning.

Q3) Answer the following questions in 400 words each. (Any 1) : [20]
a) Define personality. Describe Jung’s theory of personality.

b) Describe Social Cognitive theory of Bandura.

Total No. of Questions : 4]

[Total No. of Pages : 4

[6301]-180
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Q4) Write short notes (Any 2) [10]

a) Characteristics of operant conditioning.

b) Projection.

c) Characteristics of extrovert personality.

d) Big 5 model of personality.

♦♦♦



Total No. of Questions : 4]

[6301]-180
S.Y. B.A.

PSYCHOLOGY
DSE 2B : Theories of Personality

(2019 Pattern) (CBCS) (Semester - IV) (24222)

(_amR>r ê$nm§Va)
doi : 2½ Vmg ]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

àíZ 1) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm (H$moUVohr 4) [20]
A) ì`ŠVr_Ëd {df`H$ J¡ag_OyVr {bhm.

~) A°S>baÀ`m {gÕm§VmZygma OÝ_H«$_mMo n[aUm_ dU©Z H$am.

H$) ì`ŠVr_ËdmMr {ZYm©aHo$ dU©Z H$am.

S>) A§V_©wIr ì`ŠVrMr JwUd¡{eîQ> òo {bhm.

B) H°$Q>ob `m§Mm KQ>H$ {gÕm§V ñnï> H$am.

\$) A{^OmV d gmYH$ A{^g§YmZmMo Cn`moOZ {bhm.

àíZ 2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm (H$moUVohr 2) [20]
A) _Zmo{díbofU {gÕm§VmVrb _ZmMo ñVa qH$dm aMZm ñnï> H$am.

~) Am`P|H$ `m§À`m {gÕm§VmMo _yë`m§H$Z H$am.

H$) Am°bnmoQ>© Mm JwUVËd {gÕm§V {bhm.

S>) A{^OmV A{^g§Ym§ZmMr d¡{eð> ò {bhm.

àíZ 3) Imbrb àíZm§Mr 400 eãXm§V CÎmao {bhm (H$moUVmhr 1) [20]
A) ì`ŠVr_ËdmMr ì`m»`m gm§Jm, ẁ§JÀ`m ì`ŠVr_Ëd {gÕm§VmMo dU©Z H$am.

~) ~m§Sy>am `m§À`m gm_m{OH$ AÜ``Z {gÕm§VmMo dU©Z H$am.

P.T.O.

PC-755
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àíZ 4) Q>rnm {bhm (H$moUË`mhr 2) [10]

A) gmYH$ A{^g§YmZmMr d¡{eï>ço

~) àjonU

H$) ~hu_wIr ì`ŠVrMr d¡{eï>ço

S>) ì`ŠVr_ËdmMm n§MKQ>H$ {gÕm§V

♦♦♦



Q1) Answer the following question in 100 words each (any three) [3 × 5 = 15]

a) Explain the meaning and concept of Geo-strategy.

b) Write the uses of Military Geography.

c) Explain Sea Warfare.

d) State the Plain Warfare?

e) Explain the Significance of Military Geography.

Q2) Answer the following question in 300 words each (any one) [1 × 15 = 15]

a) Explain the Jungle warfare.

b) Explain the meaning and concept of geopolitics.

Q3) Answer the following question in 200 words each (any two) [2 × 10 = 20]

a) Explain the logistic management of Desert Warfare.

b) State the scope of Military geography.

c) What are the objectives of Air warfare?

d) Explain the logistic management of warfare in High Altitude Areas.

Total No. of Questions : 4]

[Total No. of Pages : 4
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S.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
DSE-2B SPL.-2 : Military Geography

(2019 Pattern) (Semester - IV) (24272)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
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Q4) Write short notes write short notes (any four) [4 × 5 = 20]

a) Plain warfare

b) Meaning of military geography.

c) Terrain

d) High Altitude areas warfare

e) Amphibious Warfare.

f) Purpose of Defence


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Total No. of Questions : 4]

[6301]-181
S.Y. B.A.

DEFENCE AND STRATEGIC STUDIES
DSE-2B SPL.-2 : Military Geography

(2019 Pattern) (Semester - IV) (24272)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àý A{Zdm ©̀.

2) COdrH$S>rb A§H$ JwU Xe©{dVmV.

PC-756

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àým§Mr CÎmao àË òH$s 100 eãXmV {bhm. (H$moUVohr VrZ) [3 × 5 = 15]

A) ŵ̀ wÕ{ZVrMr AW© Am{U g§H$ënZm ñnï> H$am.

~) bîH$ar ŷJmobmMo Cn`moJ {bhm.

H$) gmJar ẁÕ ñnï> H$am.

S>) _¡XmZr àXoemVrb ẁÕnÕVr gm§Jm.

B>) bîH$ar ŷJmobmMo _hÎd ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àým§Mr CÎmao àË òH$s 300 eãXm§V {bhm. (H$moUVmhr EH$) [1 × 15 = 15]

A) O§Jb_` àXoemVrb ẁÕnÕVr ñnï> H$am.

~) ŷamOZrVrMm AW© Am{U g§H$ënZm gm§Jm.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àým§Mr CÎmao àË òH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [2 × 10 = 20]

A) dmid§Q>r àXoemVrb ẁÕnÕVrMo nwadR>m ì`dñWmnZ ñnï> H$am.

~) bîH$ar ŷJmobmMr ì`már gm§Jm.

H$) hdmB© ẁÕmMr C{Ôï>o H$moUVr?

S>) {h_mÀN>mXrV àXoemVrb nwadR>m ì`dñWm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) {Q>nm {bhm. (H$moUVohr Mma) [4 × 5 = 20]

A) _¡XmZr àXoemVrb ẁÕnÕVr

~) bîH$ar ŷJmobmMm AW©

H$) ^yàXoe

S>) {h_mÀN>m{XV àXoemVrb ẁÕnÕVr

B) Epå\$~rAmog ẁÕnÕVr

\$) g§ajUmMm CÔoe





Total No. of Questions : 5]

[Total No. of Pages : 2

[6301]-182
S.Y. B.A.
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Mirage : An Anthology of English Poetry (CBCS)
(2019 Pattern) (Semester - IV) (24332)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates :

1)  All questions are compulsory.
2) Figures to the right indicate full marks.

PC-757

Q1) Attempt any three of the following : [15]

a) What do you understand of the Duke’s character in ‘My Last Duchess’.

b) Why has the speaker come to ‘Byzantium’ in ‘Sailing to Byzantium’.

c) Explain the significance of the title, ‘Futility’.

d) How does Wilfred Owen describe the sun in the poem, ‘Futility’.

e) Comment on the title of the poem ‘My Last Duchess’.

Q2) Attempt any three of the following : [15]

a) What is the poet’s reaction to the bird in the poem, ‘A Bird Came Down
the Walk’?

b) Comment on the central theme of Emily Dickinson’s poem, ‘A Bird Came
Down the Walk’.

c) Why does the grass insist that it is not dead in, ‘Talking in Their Sleep’?

d) What are the two images that the poet John Clare uses to answer the
question of what is life?

e) Explain the significance of the title, ‘What is Life’.

SEAT No. :

P.T.O.



2[6301]-182

Q3) Attempt any three of  the following : [15]
a) Why do you think the poet Paul Dunbar identifies with the bird in

‘Sympathy’?
b) How does the bee awaken the rose in the poem, ‘The Awakening’?
c) How would you describe the character of the speaker in the poem, ‘The

Awakening’?
d) Explain Amy Lowell’s poem, ‘The wind’ as an imagistic poem.
e) What is the consequence of the bird beating its wings in the poem

‘Sympathy’?

Q4) Attempt any three of the following : [15]
a) Explain the theme of ‘Freedom’ explored by Rabindranath Tagore in the

poem, ‘Freedom’?
b) Comment on Form, Structure and poetic devices in the poem, ‘Caged

Bird’.
c) What do you think the poet Maya Angelou is referring to when she uses

the image of ‘the city on the hill’?
d) What is the central theme of ‘Space Between’? How does the imagery

and language used in the poem reflect and enhance this theme?
e) What do you think the poet Judith Wright means by ‘frail bridges’?

Q5) Explain with reference to context (Any two): [10]
a) She rode with round the terrace- all and each

Would draw from her alike the approving speech,
Or blush, at least. She thanked men, ---good! But thanked
somehow-I know not how- as if she ranked.

b) Move him into the sun
Gently its touch awoke him once,
At home, whispering of fields unsown

 c) A Bird, came down the walk
He did not know I saw
He bit an Angle Worm in halves
And ate the fellow, raw,

d) I know why the caged bird beats his wing
Till its blood is red on the cruel bars;
For he must fly back to his perch and cling
When he fain would be on the bough a-swing;

♦♦♦



Q1) Attempt any five of the following : [10]

a) Write a 2 × 2 transformation matrix for rotation about the origin through
an angle 90º.

b) The square with sides 2 cm is reflected through y-axis. Find the area of
transformed figure.

c) Write the rotation matrix required to rotate the line 2
3

x
y   so that it

coincide with x-axis.

d) Write the transformation matrix for for shear in z-coordinate proportional
to x-coordinate and y-coordinate by factors –3 and –6 respectively.

e) Write the projection matrix for the perspective projection from the center
of projection Z

b
(0, 70, 0) onto the x = 0 plane.

f) State the term ‘Plane of projection’.

g) State any two properties of Be’zier curve.

Total No. of Questions : 4]

[Total No. of Pages : 3

[6301]-183
S.Y. B.A.

MATHEMATICS
DSE 2B : MS - 4 : Computational Geometry

(2019 Pattern) (CBCS) (Semester - IV) (24342)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) This question paper has 4 questions and 2 pages.
3) Figures to the right indicate full marks.

PC-758

SEAT No. :

P.T.O.



[6301]-183 2

Q2) Attempt any four of the following : [20]
a) Find the transformed image A*B*C* of the triangle ABC with vertices

A[–2 2], B[2 3], C[4 5] obtained by reflecting through the line x + y = 0.

b) Lines L1 : x – y = 1 and L2 : x + y = 2 are transformed to the lines *
1L  and

*
2L  by shearing in x and y direction by units 3 and 4 respectively. Find the

point of intersection of *
1L  and *

2L .

c) Determine the parametric equation of a Be’zier curve determined by
control points B0[1 0], B1 = [2 3] and B2[4 1]. Hence find the position
vector of the point corresponding to parameter t = 0.1.

d) Find the angle of rotation about x-axis and y-axis to coincide the plane
x + 2y + 2z = 0 with z = 0 plane.

e) Determine the transformation matrix for trimetric projection formed by
rotation about y axis through angle 45º, followed by rotation about x axis
through 60°, followed by orthogonal projection on z = 0 plane.

f) Find the combined transformation matrix for the following sequence of
transformations
i) Scaling in x and y directions by factors 1 and –1 respectively.
ii) Reflection through y axis.

Q3) Attempt any four of the following : [20]
a) A line segment y = –3x + 1 is transformed to the line y* = m*x* + k* by

transformation matrix 3 1
1 2

T
 

   
. Find the equation of transformed

line.
b) Obtain recursive formula to generate equispaced 12 points on the ellipse

2 2

1
9 16
x y

  .

c) Prove that under any 2 × 2 transformation matrix parallel lines transformed
to parallel lines.

d) A circle x2 + y2 = r2 having area 81cm2 is transformed using linear

transformation 
1 3
7 2

T
 

  
 

. Find the area of transformed circle.
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e) Let 

0 0 1 1
1 0 1 1
5 5 1 1
0 0 0 1
1 0 0 1
5 5 0 1

X

 
 
 
 

  
 
 
 
 

. Find the cabinet projection of X with  = 30º.

f) Find the value of  to generate 11 equispaced points of the parabolic
segment

y2 = 8x, 3 y  9.

Q4) Attempt any two of the following : [20]

a) Find the concatenated transformation matrix for the following sequence
of transformations and apply it on point P[2  2  1]
i) Rotation about x axis through 90°.
ii) Rotation about z axis through 180º.

b) Find the concatenated transformation matrix for reflection through the
line y – x = 8. Apply it to find the transformed image of ABC, where
A[2  2], B[–1  2] and C[0  – 1].

c) Generate uniformly spaced 5 points on the arc of a circle x2 + y2 = 49 in
the first quadrant.

d) Generate uniformly spaced 7 points on the arc of an ellipse 
2 2

1
25 16
x y

 

in the first quadrant.





Q1) Write short notes (any three) : [15]

a) Drugs addiction among youth.

b) Meaning of Development.

c) Non-Govermental organization.

d) Displecdement

e) Concept of civil society.

Q2) Answer the following question in 50 words each (any three) : [15]

a) Concept of Rural poverty.

b) Write the Economic problems in senior citizens.

c) Concept of social justice.

d) Issues of youth - suicide.

e) Explain the Role of state in Resolving the social problems.

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q3) Answer the following questions in 200 words each (any two) : [20]

a) Discuss the Issues of Aged social & psychological.

b) Describe the role of civil institution and organisation.

c) Explain the causes of Environmental degradation.

d) Explain the various laws related to policies encate in relation to the role
of the state.

Q4) Answer the following questions in 300 worlds each (any one) : [20]

a) Write about various problems of youth in India.

b) What is proverty? Explain the causes of poverty.


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Total No. of Questions : 4]

[6301]-184
S.Y. B.A.

SOCIOLOGY
DSE-2B : Indian Society : Understanding Issues
(2019 Pattern) (CBCS) (Semester - IV) (24372)

(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70

gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.
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àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr VrZ {Q>nm {bhm. [15]

A) VéUm§_Yrb A§_br nXmWm©Mr ì`gZ{YZVm

~) {dH$mg `m g§H$ënZoMm AW©

H$) {~Ja emgH$s` g§ñWm

S>) {dñWmnZ

B) ZmJar g_mOmMr g§H$ënZm

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr VrZ àíZmMr CÎmao 50 eãXmV {bhm. [15]

A) J«m_rU Xm[aÐçmMr g§H$ënZm {deX H$am.

~) d¥Õm§Mr Am{W©H$ g_ñ`m {bhm.

H$) gm_m{OH$ Ý`m` g§H$ënZm gm§Jm.

S>) Vê$Um§_Yrb AmË_hË`m

B) gm_m{OH$ g_ñ`m gmog{dÊ`mgmR>r amÁ`mMr ŵ{_H$m ñnï> H$am.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZmMr 200 eãXmV CÎmao {bhm. [20]

A) d¥Õm§À`m gm_m{OH$ Am{U _mZgrH$ g_ñ`m `m{df`r MMm© H$am.

~) ZmJar g§ñWm Am{U g§KQ>ZmZMr ŵ{_Ho$Mo dU©Z H$am.

H$) n`m©daUmÀ`m èhmgmMr H$maUo ñnï> H$am.

S>) amÁ`mÀ`m ŵ{_Ho$À`m AZ§wfJmZo Ho$bobo YmoaUm {dfX H$m`Xo {deX H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$m àíZm§Mo CÎma 300 eãXm§V {bhm. [20]

A) ^maVmVrb ẁdH$m§À`m {d{dY g_ñ`m {bhm.

~) Xm[aÐ åhUOo H$m` gm§JyZ Xm[aÐçmMr H$maUo ñnï> H$am.


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Q1) Answer any three of the following questions in 100 words each. [15]

a) Explain Descartes concept of soul.

b) Explain Kant's concept of Knowledge.

c) Describe Spinoza's concept of substance.

d) Briefly state Berkeley's Abstract Ideas.

e) Explain Hume's concept of skepticism.

Q2) Answer any two of the following questions in 200 words each. [20]

a) Discuss in detail Hegel's method of dialectics.

b) Explain Descarte's method of Doubt.

c) Explain John Locke's theory of knowledge in detail.

d) Explain Kant's theory of categorical Imperatives.

SEAT No. :

P.T.O.
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Q3) Write short notes in 100 words each. (any three) [15]

a) Ethical philosophy - Spinoza.

b) Rationalism - Descartes.

c) Religion - Hegel.

d) Matter - Hume.

e) Empiricism - John Locke.

Q4) Answer any one of the following question in 400 words each : [20]

a) Discuss Spinoza's theory of attributes and modes in detail.

b) Explain David Hume's concept of causation in detail.


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Total No. of Questions : 4]

[6301]-185
S.Y. B.A.

PHILOSOPHY

DSE - 2B : Modern Western Philosophy (Special - II)

(2019 Pattern) (CBCS) (Semester - IV) (24422)

(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PC-760

àíZ 1) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 100 eãXmV {bhm. [15]

A) XoH$mV©Mo AmË‘ {df¶H$ {dMma {deX H$am.

~) H$m§Q>À¶m kmZ g§H$ënZoMo {ddoMZ H$am.

H$) pñnZmoPmMr "Ðì¶' g§H$ënZm WmoS>³¶mV gm§Jm.

S>) ~H$b}À¶m "A‘wV©' H$ënZoMo {ddoMZ H$am.

B) h²¶y‘Mm g§e¶dmX ñnï> H$am.

àíZ 2) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 200 eãXmV {bhm. [20]

A) hoJobÀ¶m Û§Ûm§Ë‘H$ {dH$mg nÕVrMr g{dñVa MMm© H$am.

~) XoH$mV©Mr g§e¶ nÕVr {deX H$am.

H$) Om°Z bm°H$À¶m kmZ {gÕm§VmMo g{dñVa {ddoMZ H$am.

S>) H$m§Q>À¶m {Zê$nm{YH$ AmXoe {gÕm§VmMr ‘m§S>Ur ñnï> H$am.

P.T.O.
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àíZ 3) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) Z¡{VH$ VÎdkmZ - pñnZmoPm.

~) ~w{ÕdmX - XoH$mV©.

H$) Y‘© - hoJob.

S>) Ðì¶ - h²¶y‘.

B) AZŵ ddmX - Om°Z bm°H$.

àíZ 4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 400 eãXmV {bhm. [20]

A) pñnZmoPmÀ¶m "JwU' d "{dH$ma' {gÕm§VmMr g{dñVa MMm© H$am.

~) S>opìhS> h²¶y‘À¶m H$maU H$ënZoMo g{dñVa {ddoMZ H$am.





Q1) Attempt any eight questions (20 words) : [16]
a) State meaning of Bureaucracy.
b) Write two features of Bureaucracy.
c) Concept - ‘POSDCORB’.
d) Non Governmental Agencies means?
e) Write two features of Development Administration.
f) Write two sustainable Development Goals.
g) What is gender equality?
h) Write two issues in Development Administration.
i) Write two Human Development Indicators.
j) Define - Globalisation.

Q2) Attempt any four short notes (50 words) : [16]
a) Nature of Non Governmental Organisation.
b) Voluntary Organisations.
c) Elements of Sustainable Development.
d) The Indicators of Human Development.
e) Importance of Bureaucracy.
f) Meaning of Administration.

Total No. of Questions : 4]

[Total No. of Pages : 4

[6301]-186
S.Y. B.A.

PUBLIC ADMINISTRATION
DSE-2B : Development Administration
(2019 Pattern) (Semester - IV) (24442)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC-761
SEAT No. :

P.T.O.
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Q3) Attempt any three questions (100 words) : [18]

a) Discuss issues in Development Administration.

b) Explain role of Non Governmental Agencies.

c) State relationship betwen Gender equality & Development.

d) Discuss the role of bureaucracy in Development Administration.

Q4) Attempt any two questions (200 words) : [20]

a) Discuss features of Bureaucracy.

b) Discuss on features of non governmental organisation.

c) Discuss the impact of Globalisation on India.


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Total No. of Questions : 4]

[6301]-186
S.Y. B.A.

PUBLIC ADMINISTRATION
DSE-2B : Development Administration
(2019 Pattern) (Semester - IV) (24442)

(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

PC-761

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr CÎmao àË òH$s 20 eãXm§V {bhm (H$moUVohr AmR>) [16]

A) ZmoH$aemhrMr AW© {bhm.

~) ZmoH$aemhrMr XmoZ d¡{eîQ>ço {bhm.

H$) POSDCORB g§H$ënZm gm§Jm.

S>) J¡a gaH$mar g§ñWm åhUOo H$m`?

B>) {dH$mg àemgZmMr XmoZ d¡{eîQ>ço {bhm.

’$) emídV {dH$mgmMr XmoZ Ü ò̀ o {bhm.

¶) qbJ g_mZVm åhUOo H$m`?

a) {dH$mg àemgZmVrb XmoZ g_ñ`m {bhm.

b) XmoZ _mZd {dH$mg {ZX}em§H$ {bhm.

d) OmJ{VH$sH$aU - ì`m»`m {bhm.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao àË òH$s 50 eãXm§V {bhm. (H$moUVohr Mma) [16]

A) J¡a gaH$mar g§ñWm - ñdén

~) ñd §̀godr g§ñWm

H$) emídV {dH$mg KQ>H$

S>) _mZd {dH$mg {ZX}em§H$

B) ZmoH$aemhrMo _hËd

\$) àemgZmMm AW©

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao àË òH$s 100 eãXm§V {bhm (H$moUVohr VrZ) [18]

A) {dH$mg àemgZmÀ`m g_ñ`m `mda MMm© H$am.

~) J¡a gaH$mar g§ñWm§Mr ŷ{_H$m ñnï> H$am.

H$) {dH$mg d qbJ g_mZVm `m§Mo g§~§Y ñnï> H$am.

S>) {dH$mg àemgZmVrb ZmoH$aemhrMr ŷ{_H$m `mda MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) ZmoH$aemhrMr d¡{eîQ>ço `m§da MMm© H$am.

~) J¡a gaH$mar g§ñWm§Mr d¡{eîQ>ço `m§Mr MMm© H$am.

H$) OmJ{VH$sH$aUmMm ^maVmdarb n[aUm_ `mda MMm© H$am.





Total No. of Questions : 4]

[Total No. of Pages : 2

[6301]-187

S.Y. B.A.

MARATHI (_amR>r)
CC - 1D - (3) : ^m{fH$ H$m¡eë¶ {dH$mg Am{U AmYw{ZH$ ‘amR>r gm{hË¶àH$ma :

b{bV JÚ

(2019 Pattern) (Semester - IV) (24023)

doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo JwU Xe©{dVmV.

PC-762

àíZ 1) nmM n¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 50 eãXm§n¶ªV {bhm. [15]

A) JwJb ’$m°‘© {df¶r ‘m{hVr {bhm.

~) JwJb gmYZm§À¶m {df¶r ‘m{hVr {bhm.

H$) JwJb ³bmgê$‘Mo ‘hÎd ñnï> H$am.

S>) b{bV JÚm {df¶r ‘m{hVr {bhm.

B) b{bV JÚmMo ñdê$n WmoS>³¶mV ñnï> H$am.

àíZ 2) VrZ n¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 150 eãXmn ª̀V {bhm. [20]

A) "ewQçw~Mo {dÚmÏ¶mªZm hmoUma e¡j{UH$ ’$m¶Xo {bhm.

~) b{bV JÚmMo àH$ma ñnï> H$am.

H$) JwJb ’$m°‘© d JwJb ³bmgê$‘ ¶m§À¶mVrb gmå¶- ôX ñnï> H$am.

P.T.O.

SEAT No. :
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àíZ 3) VrZ n¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao àË¶oH$s 200 eãXmn ª̀V {bhm. [20]

A) "eãX «̂‘, AW©̂ «‘' ¶m b{bV boIm{df¶r ‘m{hVr {bhm.

~) "H$moaS>r {^jm' ¶m b{bV boImÀ¶m AmYmao boIH$mMo {^jo {df¶rMo AZŵ d Vw‘À¶m eãXmV
{bhm.

H$) "....... Am{U ~wÕmMm OÝ‘ hmoVmo' ¶m b{bV boImVrb ^mfm Am{U ‘mZdr OrdZ ¶m§Mo
ghg§~§Y ñnï> H$am.

àíZ 4) XmoZ n¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 300 eãXmn ª̀V {bhm. [15]

A) ‘mê$Vr {MV‘nëbr ¶m§À¶m "AaUr' ¶m b{bV boImMm Ame¶ ñnï> H$am.

~) "ghmdo gwI' ¶m b{bV boImÀ¶m AmYmao ‘mZdr OrdZmVrb ghmì¶m gwIm{df¶r g{dñVa
‘m{hVr {bhm.





Total No. of Questions : 4]

[Total No. of Pages : 2

[6301]-188
S.Y. B.A.

MARATHI (_mamR>r)
CC - 2D : ì`mdhm[aH$ d Cn`mo{OV _amR>r ^mJ - 4

(2019 Pattern) (Semester - IV) (24024)

doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : gd© àíZ gmoS>{dUo Amdí`H$ Amho .

PC-763

àíZ 1) Imbrbn¡H$s H$moUË`mhr Mma àíZm§Mr CÎmao 50 eãXm§V {bhm. [20]

A) AhdmbmË_H$ B{Vd¥ËV åhUOo H$m`? WmoS>Š`mV {bhm.

~) ẁw{ZH$moS> åhUOo H$m`? Vo WmoS>Š`mV {bhm.

H$) kmZH$moe åhUOo H$m`? Vo WmoS>Š`mV {bhm.

S>) JwwJb BZnyQ> {df`r _m{hVr Úm.

B) {dídH$moe åhUOo H$m`? Vo WmoS>Š`mV {bhm.

\$) Zm|X åhUOo H$m`?

àíZ 2) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 100 eãXm§V {bhm. [20]

A) B{Vd¥ËVmMo àH$ma ñnï> H$am.

~) H$m`m©b`rZ {Q>ßnUr boIZmMo ñdê$n, gm§JwZ hoVy Am{U _hÎd ñnï> H$am.

H$) "~±H$ Am°\$ _hmamï´>' `m ~±Ho$À`m dm{f©H$ gd©gmYmaU g ôMo B{Vd¥ËV {bhm.

P.T.O.

SEAT No. :
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àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao 100 eãXm§V {bhm. [20]

A) _wŠVómoV åhUOo H$m`? g{dñVa ñnï> H$am.

~) _mamR>r ^mfoVrb {d{dY H$moem§{df`r g{dñVa _m{hVr {bhm.

H$) dS>©, EŠgobm, nm°da nm°BªQ> åhUOo H$m`? Vo gm§JyZ Ë`m§Mo \$m`Xo ñnï> H$am.

àíZ 4) Imbrbn¡H$s H$moUË`mhr EH$m àíZm§Mo CÎma 200 eãXm§V {bhm. [10]
A) Zm|X åhUOo H$m`? Zm|XrMr CXmhaUo g{dñVa ñnï> H$am.
~) _amR>r {d{H$nr{S>`m{df`r _m{hVr Úm.

♦♦♦



Total No. of Questions : 4]

[Total No. of Pages : 3

[6301]-189
S.Y. B.A.
FRENCH

CC-1D : General French
(2019 Pattern) (Semester - IV) (24033)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC-764
SEAT No. :

P.T.O.

[10]

[4]

[1]
[1]
[2]
[1]
[1]
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[5]

[1]
[1]
[1]
[1]
[1]

[10]

[5]

[5]

[6]

[6]
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[3]

[3]

[4]

[4]

[4]

[2]



[3]



Total No. of Questions : 5]

[Total No. of Pages : 3

[6301]-190
S.Y. B.A.

GERMAN
CC-1D GG-4 : German General - 4

(2019 Pattern) (Semester - IV) (24043)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of dictionary is allowed.

PC-765

SEAT No. :

P.T.O.

[16]

[8]

[8]

[10]

[24]
[4]
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[5]

[4]

[5]

[2]

[10]

[4]
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[4]

[6]

[10]





[6301]-191
S.Y.B.A. (Semester - IV)

  URDU    

CC-1D :  Modern Prose & Poetry 

  (2019 Pattern)  (24073) 

PC-766 

Total No. of Questions : 5

[Time :2½ HoursTotal Marks :70]

P.T.O.

     

 (1

 (2

 :1 





  2 





 3 





[12]

SEAT No.

Total No. of Pages : 2

[12]

[12]



  4 

 (ii   (i 

   4 

 (ii    (i 

 5 
   (i     

  (ii       

  (iii 

  (iv 

  (v

  (vi          

      (vii          

  (viii          

     (ix             

   (x      



- 2 - [6301] - 191

[10]

[14]

[10]



Total No. of Questions : 3]

[6301]-192
S.Y.B.A.

MARATHI (‘amR>r)
SEC-2B : Cn¶mo{OV boIZH$m¡eë¶o

(2019 Pattern) (CBCS) (Semester - IV) (24025)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

PC767

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [10]

A) Om{hamV åhUOo H$m¶ Vo gm§JyZ ‘mÜ¶‘mVrb Om{hamVtMo ñWmZ ñnï> H$am.

qH$dm

~) B§Q>aZoQ> åhUOo H$m¶ ¶mMo ñdê$n ñnï> H$am.

à.à.à.à.à.2) Imbrb XmoZ àíZm§n¡H$s H$moUË¶mhr EH$mMo CÎma {bhm. [10]

A) ÑH$lmì¶ ‘mÜ¶‘o åhUOo H$m¶ Vo gm§JyZ ÑH$lmì¶ ‘mÜ¶‘m§Mo JwU d¡{eîQ>ço Am{U ŷ{‘H$m ñnï>
H$am.

qH$dm

~) ‘wbmIV åhUOo H$m¶ Vo gm§JyZ EH$m AmdS>Ë¶m {H«$Ho$Q>aMr AmH$medmUrgmR>r ‘wbmIV V¶ma H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [5]

A) {dídH$moem{df¶r ‘m{hVr {bhm.

qH$dm

~) "{d{H$nr{S>¶m' åhUOo ‘wº$ kmZH$moe g‘yh Q>rn {bhm.



[Total No. of Pages : 1
SEAT No. :



[6301]-193        
S.Y.B.A.
URDU

SEC-2B : Communication Skill
(2019 Pattern) (Semester-IV) (CBCS) (24074)

Time : 2 Hours] [Max. Marks : 25

 


 
[15] 




[10]  


 

PC768

Total No. of Questions : 2

[Total No. of Pages :1

SEAT No. :



Total No. of Questions : 3]

[6301]-194
S.Y.B.A.

HINDI ({hÝXr)
SEC-2B: ‘mÜ¶‘ boIZ

(2019 Pattern) (CBCS) (Semester - IV) (24096)

g‘¶ : 2 K§Q>o] [ nyUmªH$ : 25
gyMZmE± :gyMZmE± :gyMZmE± :gyMZmE± :gyMZmE± : 1) g^r àíZ A{Zdm¶© h¢&

2) Xm{hZr Amoa {bIo A§H$ àíZ Ho$ nyUmªH$ h¡&

PC769

à.à.à.à.à.1) Mma ‘| go H$moB© Xmo àíZm| Ho$ CÎma {dñVma go {b{IE& [10]

A) OZ g§Mma ‘mÜ¶‘ Ho$ à‘wI ôXm| H$s MMm© H$s{OE&

~) Zd ‘mÜ¶‘ boIZ Ho$ CX²Xoí¶ ñnï> H$s{OE&

H$) ‘mÜ¶‘ boIZ H$s AdYmaUm ~VmB©E&

S>) ‘mÜ¶‘ boIZ H$m ‘hËd ñnï> H$s{OE&

à.à.à.à.à.2) Mma ‘| go H$moB© Xmo àíZm| Ho$ CÎma {dñVma go {b{IE& [10]

A) ’$sMa boIZ Ho$ {H$Ýht Xmo JwUm| H$s {ddoMZm H$s{OE&

~) ao{S>¶mo ’$sMa H$s {deofVmE± {b{IE&

H$) ’$sMa boIZ Ho$ H$moB© Xmo VËdm| H$s g‘rjm H$s{OE&

S>) ’$sMa boIZ H$s AdYmaUm ñnï> H$s{OE&

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$gr EH$ {df¶ na ’$sMa boIZ H$s{OE& [5]

A) ‘hm{dÚmb¶ ‘§o Am¶mo{OV "{díd qhXr {Xdg' {df¶ na ’$sMa V¡¶ma H$s{OE&

~) AmnHo$ H$m°boO ‘| Am¶mo{OV "‘oar ‘mQ>r ‘oam Xoe' {df¶ na H§$Q>oQ> boIZ H$s{OE&



[Total No. of Pages : 1
SEAT No. :



1[6312]-93

Total No. of Questions : 2]

[6301]-195
S.Y.B.A.

SANSKRIT (g§ñH¥$V)
SEC-2B  : Introduction to Scriptology (Palaeography)

 (2019 Pattern) (CBCS) (Semester -IV) (24114)

(‘amR>r ê$nm§Va)
doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
All questions are compulsory.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
Figures to right indicate full marks.

à.à.à.à.à.1) Imbrbn¡H$s H$moUË`mhr EH$mMo g{dñVa CÎma Úm.

Write an essay type answer to any one of the following. [15]

A) ^maVmVrb {bntMm {dH$mg ñnï> H$am.

Explain the evolution of scripts in India.

~)  J«§W {bnrVrb ñda, ì §̀OZ, OmoS>mja {b{hÊ`mMr nÕV Am{U g§»`m `m {df`mda {Z~§Y {bhm.
Write an essay on vowels, consonants, consonant clusters and numbers
in ~«m÷r script.

à.à.à.à.à.2) H$moUË`mhr EH$m àûZmMo CÎma {bhm.

Write an answer to any one of the following. [10]

A) emaXm {bnr (The script emaXm)
~) Imbrb gŵ m{fVm§Mo ~«m÷r {bnrV {bß §̀VaU H$am.

Transliterate the following gŵ m{fVo into J«§W script.

Ak: gwI_mamÜ`: gwIVa_mamÜ`Vo {deofk:&

kmZbdXþ{d©X½Y§ ~«÷m{n V§ Za§ Z aÄO`{V&&
XþO©Z: n[ahV©ì`mo {dÚ`m {d ŷ{fV A{n gZ²&

_{UZm ̂ y{fV: gn©: {H$_gm¡ Z ̂ `L²>H$a:&&



PC770 [Total No. of Pages : 1

SEAT No. :



Total No. of Questions : 3]

[6301]-196
S.Y.B.A.

ECONOMICS
SEC-2B : Basic Concept of Research Methodology - II

(2019 Pattern) (CBCS) (Semester - IV) (24154)
Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC771 [Total No. of Pages : 2

SEAT No. :

Q1) Solve any One of the following question. [10]

a) Explain the types of research Report.

b) Explain the Concept of mean, median and mode.

Q2) Solve any One of the following question. [10]

a) State the types of data Analysis.

b) Explain the meaning of deviation and its significance.

Q3) Write short note. (Any one) [5]

a) Primary Data Collection

b) Hypothesis testing



P.T.O.



2[6301]-196

Total No. of Questions : 3]

[6301]-196
S.Y.B.A.

ECONOMICS
SEC-2B : Basic Concept of Research Methodology - II

(2019 Pattern) (CBCS) (Semester - IV) (24154)

(‘amR>r ê$nm§Va)
doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) Imbrbn¡H$s H$moUVmhr EH$ àíZ gmoS>dm. [10]

A) g§emoYZ AhdmbmMo àH$ma ñnï> H$am.

~) _Ü`, _Ü`Jm d ~hþbH$ `m g§H$ënZm ñnï> H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUVmhr EH  àíZ gmoS>dm. [10]

A) VÏ` {díbofUmMo àH$ma ñnï> H$am.

~) {dMbZmMm AW© gm§JyZ Ë`mMo _hËd {deX H$am.

à.à.à.à.à.3) {Q>nm {bhm. (H$moUVohr EH$) [5]

A) àmW{_H$ VÏ` g§H$bZ

~) J¥{hVH$ n[ajU



PC771



Total No. of Questions : 3]

[6301]-197
S.Y.B.A.

POLITICAL SCIENCE PUBLIC ADMINISTRATION
SEC-2B -(2) : Basics of Indian Constitution

(2019 CBCS Pattern) (Semester - IV) (24165/24444)
Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC772 [Total No. of Pages : 2

SEAT No. :

Q1) Write answers of the following questions in 200 words (Any one) [10]

a) Classify the State Directive principles?

b) State the importance of Fundamental duties of Indian Citizans?

Q2) Write answers of the following questions in 200 words (Any one) [10]

a) Evaluate the Fundamental duties of Indian Citizans?

b) Explain the difference between Fundamental Duties and Directive
principal?

Q3) Write notes (Any one) : [5]

a) Importance of Directive principles.

b) Common Civil Code (Uniform).



P.T.O.



2[6301]-197

Total No. of Questions : 3]

[6301]-197
S.Y.B.A.

POLITICAL SCIENCE PUBLIC ADMINISTRATION
SEC-2B -(2) : Basics of Indian Constitution

(2019 CBCS Pattern) (Semester - IV) (24165/24444)

(‘amR>r ê$nm§Va)
doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVmhr EH$) [10]

A) amÁ`mÀ`m _mJ©Xe©H$ VËdm§Mo dJuH$aU H$am.

~) ^maVr` ZmJarH$m§À`m _wb ŷV H$V©ì`m§Mo _hÎd gm§Jm.

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVmhr EH$) [10]

A) ^maVr` ZmJarH$m§À`m _wb ŷV H$V©ì`m§Mo _yë`_mnZ H$am.

~) _wb ŷV H$V©ì ò Am{U _mJ©Xe©H$ VËdo `mVrb \$aH$ ñnï> H$am.

à.à.à.à.à.3) {Q>nm {bhm. (H$moUVohr EH$) [5]

A) _mJ©Xe©H$ VËdm§Mo _hËd

~) g_mZ ZmJar H$m`Xm



PC772



Total No. of Questions : 3]

[6301]-198
S.Y.B.A.

HISTORY
SEC - 2B : Modi Script

(2019 Pattern) (CBCS) (Semester - IV) (24175)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC773 [Total No. of Pages : 4
SEAT No. :

Q1) Write answers to the following questions in 200 words (any 1) [10]

a) Explain the history and importance of Modi Script.

OR

b) Write detailed information about archives in Maharashtra.

Q2) Write an essay in Modi Script in 200 words on any one of the following to
pics. [10]

a) Maharashtra culture

b) Gramswarajya

c) Fort conservation - the need of the time

P.T.O.



2[6301]-198

Q3) Translate the following Modi Script passage in Marathi (Devnagari) Language.
(any 1). [5]

Passage - 1

Passage - 2





3[6301]-198

Total No. of Questions : 3]

[6301]-198
S.Y.B.A.

HISTORY
SEC - 2B : Modi Script

(2019 Pattern) (CBCS) (Semester - IV) (24175)

(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (’$º$ EH$) [10]

A) ‘moS>r {bnrMm B{Vhmg d ‘hÎd gm§Jm.

qH$dm

~) ‘hmamï´>mVrb XâVaImÝ¶m§Mr g{dñVa ‘m{hVr {bhm.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr EH$m {df¶mda 200 eãXm§V ‘moS>r {bnr‘Ü¶o {Z~§Y {bhm. [10]

A) ‘hmamï´> g§ñH¥$Vr

~) J«m‘ñdamÁ¶

H$) XþJ©g§dY©Z - H$mimMr JaO

PC773



4[6301]-198

à.à.à.à.à.3) Imbrb ‘moS>r {bnrVrb CVmam amo‘Z/‘amR>r ^mfoV {bß¶m§Va H$am. (H$moUVmhr EH$) [5]

CVmam -1

CVmam - 2





Total No. of Questions : 3]

[6301]-199
S.Y.B.A.

HISTORY
SEC- 2B : Medieval Indian Art & Architecture (1206-1857)

(2019 Pattern) (CBCS) (Semester - IV) (24176)
Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC774 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 200 Words. (Any One) [10]

a) State the techniques of Architecture in the period of Delhi Sultanate.

OR

b) Give information of Architectures - Qutbminar and Alai Darwaza.

Q2) Answer the following questions in 200 Words. (Any One) [10]

a) Which are the main Architectures in the period of Sur dynasty? Describe
the Architectures.

OR

b) Write Silent Features of Mughal Paintings.

Q3) Write short note 100 Words (Any one) : [5]

a) Tajmahal

OR

b) Vijaynagar



P.T.O.



2[6301]-199

Total No. of Questions : 3]

[6301]-199
S.Y.B.A.

HISTORY
SEC- 2B : Medieval Indian Art & Architecture (1206-1857)

(2019 Pattern) (CBCS) (Semester - IV) (24176)

(‘amR>r ê$nm§Va)
doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo 200 eãXm§V CÎma {bhm. [10]

A) {Xëëmr gwbVmZemhr H$mimVrb ñWmnË`H$boMo V§ÌkmZ ñnï> H$am.

qH$dm

~) Hw$Vw~{_Zma Am{U AbmB© XadmOm `m ñWmnË` aMZm§Mr _m{hVr X`m.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo 200 eãXm§V CÎma {bhm. [10]

A) gya emgZH$mimVrb à_yI ñWmnË` aMZm H$moUË`m? Ë`m§Mo {ddoMZ H$am.

qH$dm

~) _wKb {MÌH$boMr d¡{eï²> ò {bhm.

à.à.à.à.à.3) 100 eãXm§V {Q>nm {bhm. (H$moUVrhr EH$) [5]

A) VmO_hmb

qH$dm

~) {dO`ZJa



PC774



Total No. of Questions : 3]

[6301]-200
S.Y. B.A.

HISTORY
SEC - 2B : Popular Indian Culture

(2019 Pattern) (CBCS) (Semester - IV) (24177)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC775 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the following questions in 200 words. (any one) [10]

a) What is Popular Culture? Explain with Examples.

OR

b) Explain the role of television in the propagation of Indian Popular Culture.

Q2) Answer the following questions in 200 words. (any one) [10]

a) Write information about various festivals and celebrations in India.

OR

b) Explain the role of the internet in the propagation of Popular Indian Culture.

Q3) Short Note. (any one) [5]

a) High Culture.

OR

b) Folktales.



P.T.O.



2[6301]-200

Total No. of Questions : 3]

[6301]-200
S.Y. B.A.

HISTORY
SEC-2B : Popular Indian Culture

(2019 Pattern) (CBCS) (Semester - IV) (24177)

(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrb à«íZm§Mr 200 eãXmV CÎmao {bhm. (’$º$ EH$) [10]

A) bmoH${à¶ g§ñH¥$Vr åhUOo H$m¶ ho CXmhaUm§gh ñnîQ> H$am.

qH$dm

~) ^maVr¶ bmoH${à¶ g§ñH¥$VrÀ¶m àMma-àgmam‘Ü¶o XÿaXe©ZMr ŷ{‘H$m {deX H$am.

à.à.à.à.à.2) Imbrb à«íZm§Mr 200 eãXmV CÎmao {bhm. (’$º$ EH$) [10]

A) ^maVmVrb {d{dY Ym{‘©H$ gU Am{U CËgdm§~Ôb ‘m{hVr {bhm.

qH$dm

~) ^maVr¶ bmoH${à¶ g§ñH¥$VrÀ¶m àMma-àgmam‘Ü¶o B§Q>aZoQ>Mr ŷ{‘H$m ñnï> H$am.

à.à.à.à.à.3) {Q>nm {bhm. (H$moUVrhr EH$) [5]

A) Cƒ g§ñH¥$Vr

qH$dm

~) bmoH$H$Wm



PC775



Total No. of Questions : 3]

[6301]-201
S.Y.B.A.

HISTORY
SEC - 2B : Travel Agency and Tour Business

(2019 Pattern) (CBCS) (Semester - IV) (24178)
Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC776 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following questions in 200 Words. (any one) [10]

a) Explain the Organisational Structure of a Travel Agency.

OR

b) Review the role of  Airlines in Development of Tourism in India.

Q2) Answer the following questions in 200 Words. (Any One) [10]

a) Explain the Different Categories of Travel Agency.

OR

b) Discuss the work and structure of online Travel Agency.

Q3) Write a short note (Any one) : [5]

a) Travel Agency - Concept

OR

b) Tour Accommodation Management.



P.T.O.



2[6301]-201

Total No. of Questions : 3]

[6301]-201
S.Y.B.A.

HISTORY
SEC - 2B : Travel Agency and Tour Business

(2019 Pattern) (CBCS) (Semester - IV) (24178)
(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (\$º$ EH$) [10]

A) àdmgr g§ñWoMr g§KQ>ZmË_H$ aMZm ñnï> H$am.

qH$dm

~) ^maVmVrb n ©̀Q>Z {dH$mgmV EAabmBÝgÀ`m ({d_mZ H§$nÝ`m) ŷ{_Hoo$Mo nwZamdbmoH$Z H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (\$º$ EH$) [10]

A) Q´>°ìhb EOÝgrÀ`m (àdmgr g§ñWoÀ`m) {d{dY loUtMr _mhrVr Úm.

qH$dm

~) Am°ZbmB©Z àdmgr g§ñWoMo H$m_ Am{U aMZm `mda MMm© H$am.

à.à.à.à.à.3) {Q>nm {bhm. (\$º$ EH$) [5]

A) àdmgr g§ñWm - g§H$ënZm

qH$dm

~) àdmgr {Zdmg ì`dñWmnZ



PC776



Total No. of Questions : 3]

[6301]-202
S.Y.B.A.

GEOGRAPHY
SEC - 2B : Introduction to Remote Sensing

(2019 Pattern) (CBCS) (Semester - IV) (24206)
Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw not diagrams wherever necessary.
4) Use of map stencil is allowed.

PC777 [Total No. of Pages : 2

SEAT No. :

Q1) Answer in 20 words each (Any Five) [10]

a) What is Remote Sensing?

b) Write the types of Remote sensing.

c) Write the purpose of image enhancement.

d) Write the full form of NRSC

e) What is scattering

f) Write any two points of longer wavelength.

g) Name any two image processing softwares.

Q2) Write short notes in about 100 words. (Any two) [8]

a) Development of Remote Sensing in India.

b) Layer Stacking.

c) IRS Satellite System.

Q3) Write answer of questions in 150 words. (Any one) [7]

a) Explain Electromagnetic Spectrum.

b) Write detailed information on interpretation of satellite images.



P.T.O.



2[6301]-202

Total No. of Questions : 3]

[6301]-202
S.Y.B.A.

GEOGRAPHY
SEC - 2B : Introduction to Remote Sensing

(2019 Pattern) (CBCS) (Semester - IV) (24206)
(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí`H$ VoWo gw~H$ AmH¥$Ë`m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ`mg nadmZJr Amho.
5) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) Imbrb àíZm§Mr àË òH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr nmM) [10]

A) gwXÿa g§doXZ åhUOo H$m`?

~) gwXÿa g§doXZmMo àH$ma {bhm.

H$) à{V_m dY©ZmMm (Image Enhancement) hoVy {bhm.

S>) EZ.Ama.Eg.gr. (NRCS) Mo nyU© én {bhm.

B) {dH$saU åhUOo H$m`?

\$) XrK© Va§Jbm§~rMo H$moUVohr XmoZ JwU {bhm?

`) H$moUË`mhr XmoZ à{V_m à{H«$`m g§{hVm {bhm?

à.à.à.à.à.2) àË òH$s 100 eãXm§V {Q>nm {bhm. (H$moUË`mhr XmoZ) [8]

A) gwXÿa g§doXZmMm ^maVmVrb {dH$mg

~) Wam§Mo EH$ÌrH$aU

H$) Am`.Ama.Eg. (IRS) CnJ«h àUmbr.

à.à.à.à.à.3) Imbrb àíZm§Mr àË òH$s 150 eãXm§V CÎmao {bhm. (H$moUVmhr EH$) [7]

A) {dÚwV Mw§~H$s` nU©nQ> {deX H$am.

~) CnJ«h à{V_m§Mo {díbofU (Interpretation) `mda g{dñVa _m{hVr {bhm.



PC777



Total No. of Questions : 3]

[6301]-203
S.Y.B.A.

GEOGRAPHY
SEC - 2B : Applied Course of Travel and Tourism

(CBCS 2019 Pattern) (Semester - IV) (24207)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of stencil is allowed.
4) Draw neat diagrams wherever necessary.

PC778 [Total No. of Pages : 2
SEAT No. :

Q1) Answer in 20 words each. (any five) [10]
a) Define the concept of ‘Local Tourist’.
b) Which is the cheapest mode of transport?
c) Write any two names of holy places in Maharashtra.
d) Write any two benefits of international tourism.
e) What is ‘Net Banking’?
f) Write any two means of communication in modern world.
g)  Write the name of ‘Mumbai International Airport’?

Q2) Write a short notes in 100 words (any two) [8]
a) ‘Time management’ in tourism.
b) Role of internet in tourism development.
c) Local Tourism.

Q3) Answer in 150 words each. (any one) [7]

a) Explain the types of tourism based on the purpose.

b) Explain various types of transport with reference to tourism development?


P.T.O.
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[6301]-203
S.Y.B.A.

GEOGRAPHY
SEC - 2B : Applied Course of Travel and Tourism

(CBCS 2019 Pattern) (Semester - IV) (24207)

(‘amR>r ê$nm§Va)
doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
4) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
5) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr nmM) [10]
A) "ñWm{ZH$ n¶©Q>H$' hr g§H$ënZm ñnï> H$am.
~) dmhVwH$sMm gdm©V ñdñV n¶m©¶ H$moUVm?
H$) ‘hmamï´>mVrb XmoZ Ym{‘©H$ ñWim§Mr Zmdo {bhm.
S>) Am§Vaamï´>r¶ n¶©Q>ZmMo XmoZ ’$m¶Xo {bhm.
B) "ZoQ> ~±H$s¨J' åhUOo H$m¶?

’$) AmYw{ZH$ OJmVrb XiUdiUmMr XmoZ gmYZo {bhm.
¶) ‘w§~B© Am§Vaamï´>r¶ {d‘mZVimMo Zmd H$m¶?

à.à.à.à.à.2) àË¶oH$s 100 eãXm§V {Q>nm {bhm. (H$moUË¶mhr XmoZ) [8]
A) n¶©Q>ZmVrb "doi {Z¶moOZ'.
~) B§Q>aZoQ>Mr n¶©Q>Z {dH$mgmVrb ^y{‘H$m.
H$) ñWm{ZH$ n¶©Q>Z.

à.à.à.à.à.3) àË¶oH$s 150 eãXm§V CÎma {bhm. (H$moUVohr EH$) [7]
A) CX²Xoemda AmYm[aV n¶©Q>ZmMo àH$ma ñnï> H$am.
~) dmhVwH$sÀ¶m {d{dY àH$mam§Mo n¶©Q>Z {dH$mgmg§X^m©V ñnï>rH$aU H$am.



PC778



Total No. of Questions : 6]

[6301]-204
S.Y.B.A.

amJg§JrV Jm¶Z
SEC - 2B : Skill Development In Music

(2019 Pattern) (CBCS) (Semester - IV) (22420) (24214)
(¶m g§MmVrb amJ g§JrV Jm¶Z, V~bm ¶m XmoZn¡H$s Vw‘À¶m {df¶mMr H$moUVrhr EH$ àíZn{ÌH$m gmoS>dm)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) n{hbm àíZ gmoS>{dUo A{Zdm¶© Amho.

2) Cd©[aV 5 àíZmn¡H$s H$moUVohr 4 Ago EHy$U 5 àíZ gmoS>dm.
3) gd© àíZm§Zm àË¶oH$s 5 à‘mUo g‘mZ JwU AmhoV.

PC779

à.à.à.à.à.1) {~hmJ amJmVrb N>moQ²>¶m»¶mbmMo ñdaboIZ H$am. [5]

à.à.à.à.à.2) h‘ra amJmMr emñÌr¶ ‘m{hVr {bhm. [5]

à.à.à.à.à.3) nwT>rbn¡H$s H$moUË¶mhr EH$m VmbmMr ‘m{hVr {bhÿZ EH$nmVrV R>oH$m {bhm. [5]
A) EH$Vmb ~) Mm¡Vmb H$) P‘am

à.à.à.à.à.4) ì¶m»¶m {bhm. (H$moUË¶mhr nmM) [5]
A) J«h
~) Ý¶mg
H$) A§e
S>) CÎmam§JdmXr amJ
B) dmXrñda
’$) H$bmdV

à.à.à.à.à.5) nwT>rbn¡H$s H$moUË¶mhr EH$m g§JrVVkmMo OrdZM[aÌ {bhÿZ gm§Jr{VH$ ¶moJXmZ ñnï> H$am. [5]
A) C. AãXb H$ar‘ Im§ ~) n§. AmoH$maZmW R>mHy$a H$) A„m{X¶m Im§

à.à.à.à.à.6) nwT>rbn¡H$s H$moUË¶mhr EH$m {df¶mda g{dñVa {bhm. [5]
A) Rw>‘ar ~) XmXam H$) »¶mb Jm¶H$s



[Total No. of Pages : 2
SEAT No. :

P.T.O.
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[6301]-204
S.Y.B.A.

V~bm
SEC - 2B : Skill Development In Music

(2019 Pattern) (CBCS) (Semester - IV) (22420) (24214)
(¶m g§MmVrb amJ g§JrV Jm¶Z, V~bm ¶mn¡H$s Vw‘À¶m {df¶mMr H$moUVrhr EH$ àíZn{ÌH$m gmoS>dm)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) ghmn¡H$s H$moUVohr 5 àíZ gmoS>dm.

2) gd© àíZm§Zm àË¶oH$s 5 ¶mà‘mUo g‘mZ JwU AmhoV.
3) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

PC779

à.à.à.à.à.1) AmS>, Hw$AmS>, {~AmS> øm b¶àH$mam§Mr gmoXmhaU ‘m{hVr {bhm. [5]

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr EH$m VmbmMm ‘m{hVrgh R>oH$m {bhm. [5]
A) Pw‘am ~) n§Om~r H$) Yw‘mir

à.à.à.à.à.3) ì¶m»¶m {bhm. [5]
A) X‘Xma {VhmB©
~) VwH$S>m
H$) b½Jr
S>) CR>mZ
B) MH«$Xma

à.à.à.à.à.4) I¶mb Jm¶Z àH$mamMr {dñV¥V ‘m{hVr {bhm. [5]

à.à.à.à.à.5) {Z~§Y {bhm. (H$moUVmhr EH$) [5]
A) [a¶mOmMo ‘hËd
~) V~bm dmÚmMm g§{já B{Vhmg
H$) V~bm gmWrMr Amdí¶H$Vm

à.à.à.à.à.6) OrdZM[aÌ {bhm. (H$moUVohr EH$) [5]
A) C. Ah‘XOmZ {WaH$dm±
~) n§. gm‘Vm àgmX
H$) CñVmX A„ma ImZ





Total No. of Questions : 3]

[6301]-205
S.Y.B.A.

PSYCHOLOGY
SEC-2B : Basic Counselling Skills

(2019 Pattern) (CBCS) (Semester -IV) (24224)

Time : 1 Hour] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC780 [Total No. of Pages : 2
SEAT No. :

Q1) Write the answer of the following questions. (any one) [10]

a) Discuss on communication skills and action skills in counseling.

b) What is counseling? Explain the nature & scope of counseling.

Q2) Write the answer of the following questions. (any one) [10]

a) What are the starting, structuring and summarizing skills in counseling?

b) Discuss the ethical issues in counseling.

Q3) Write short notes. (any one) [5]

a) Getting support

b) Dimensions of helping relationship

eeee

P.T.O.
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[6301]-205
S.Y.B.A.

PSYCHOLOGY
SEC-2B : Basic Counselling Skills

(2019 Pattern) (CBCS) (Semester -IV) (24224)

(‘amR>r ê$nm§Va)

doi : 1 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVmhr EH$) [10]

A) g‘wnXoeZmVrb "g§dmX H$m¡eë¶o' Am{U "H¥$Vr H$m¡eë¶o' ¶mda MMm© H$am.

~) g‘wnXoeZ åhUOo H$m¶? g‘wnXoeZmMo ñdê$n Am{U ì¶már ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVmhr EH$) [10]

A) g‘wnXoeZmVrb gwadmV, aMZm Am{U gmam§e H$m¡eë¶o H$moUVr AmhoV?

~) g‘wnXoeZmVrb Z¡{VH$ ‘wXçm§§da MMm© H$am.

à.à.à.à.à.3) [Q>nm {bhm. (H$moUVrhr EH$) [5]

A) ‘XV/g‘W©Z {‘iUo

~) ‘XV H$aUmè¶m ZmVog§~§YmÀ¶m n[a{‘Vr

eeee

PC780
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[6301]-206
S.Y.B.A.

DEFENCE AND STRATEGIC STUDIES
SEC-2B : Introduction to Cyber Security / Information Security

(2019 Pattern) (CBCS) (Semester - IV) (24275)
Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC781 [Total No. of Pages : 4

SEAT No. :

Q1) Select the correct option for and rewrite the statement. [5]

a) Whose role is important in information technology?

i) Internet ii) Computer

iii) Facebook iv) Television

b) This is not the type of computer.

i) Desktop ii) Laptop

iii) Tablets iv) Radio

c) It is not included in the traditional media.

i) Newspapers ii) Magazines

iii) Books iv) CDs

d) When was the Internet introduced in India?

i) 1982 ii) 1984

iii) 1986 iv) 1988

e) Who invented Messer technology?

i) Theodore Harold Maman

ii) Charles Hard Towns

iii) Charles Towns

iv) Theodore Maman

P.T.O.
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Q2) Write the answers in 100 words (Any three) [12]

a) What is an unsecured network connection?

b) Advantages and disadvantages of password.

c) What are the elements of communication?

d) Explain cyber security policy.

e) Explain the main features of communication.

Q3) Write the answers in 200 words (Any one) [8]

a) Explain the users of internet.

b) Explain the types of cyber crimes in detail.


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[6301]-206
S.Y.B.A.

DEFENCE AND STRATEGIC STUDIES
SEC-2B : Introduction to Cyber Security / Information Security

(2019 Pattern) (CBCS) (Semester - IV) (24275)
(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) `mo½` n`m©̀  {ZdSy>Z {dYmZo naV {bhm. [5]

A) _m{hVr V§ÌkmZm_Ü ò H$moUmMr ŷ{_H$m _hÎdmMr AgVo?

i) B§Q>aZoQ> ii) g§JUH$

iii) \o$g~wH$ iv) Q>o{bpìhOZ

~) hm g§JUH$mMm àH$ma Zmhr.

i) S>oñH$Q>m°n ii) b°nQ>m°n

iii) Q>°ãboQ> iv) ao{S>Amo

H$) nma§n[aH$ àgma_mÜ`_mV `mMm g_mdoe hmoV Zmhr.

i) dV©_mZnÌo ii) {Z`VH$m{bHo$

iii) nwñVHo$ iv) {gS>r

S>) ^maVmV B§Q>aZoQ>Mr gwédmV H$Yr Pmbr?

i) 1982 ii) 1984

iii) 1986 iv) 1988

B) _oga V§ÌkmZmMm emoY H$moUr bmdbm.

i) {WAm°S>moa hoam°ëS> _°_Z ii) Mmëg© hmS>© Q>mD$Ýg

iii) Mmëg© Q>mD$Ýg iv) {WAm°S>moa _°_Z

PC781
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à.à.à.à.à.2) 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [12]

A) Agwa{jV ZoQ>dH©$ H$ZoŠeZ åhUOo H$m`?

~) nmgdS>©Mo \$m`Xo - VmoQ>o gm§Jm.

H$) H$å ẁ{ZHo$eZMo KQ>H$ H$moUVo?

S>) gm`~a gwajm YmoaU ñnï> H$am.

B) g§dmXmMr _w»` d¡{eï>o ñnï> H$am.

à.à.à.à.à.3)  200 eãXm§V CÎmao {bhm. (H$moUVmhr EH$) [8]

A) B§Q>aZoQ>Mo Cn`moJ {dfX H$am.

~) gm`~a JwÝøm§Mo àH$ma g{dñVa ñnï> H$am.


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[6301]-207
S.Y.B.A.

ENGLISH
SEC -2B : A Certificate Course in Skill Development

(2019 Pattern) (CBCS) (Semester-IV) (24334)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC782 [Total No. of Pages : 1

SEAT No. :

Q1) Attempt Any One of the following. [10]

a) your friend Suraj thinks that travelling by bus is better than travelling by
bike. But you think that travelling by bike is better than travelling by bus.
Write a dialogue showing your agreement and disagreement.

b) Your friend wants to go to the hospital. He demands one thousand rupees
from you. you permit him to give the money. Write this in the form of
dialogue.

Q2) Attempt Any One of the following. [10]

a) The refrigerator that Sharma bought Stops working after being used for
just two days. Sharma makes a complaint to the manager. Write a dialogue
using the appropriate expressions.

b) What are the methods of developing English Vocabulary in learners?

Q3) Attempt Any One of the following. [5]

a) You could not attend your friend’s birthday party. Write a dialogue of
apology by using appropriate expressions.

b) You have to deliver a speech on “Importance of English Language”.
Write five points.


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[6301]-208

S.Y.B.A.

MATHEMATICS

SEC-1B-FMG-4 : Optimization Techniques

(2019 CBCS Pattern) (Semester- IV) (24345)
Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Use of calculator is allowed.

PC783 [Total No. of Pages :5

SEAT No. :

Q1) Attempt any five of the following. [10]
a) State the no passing rule in a sequencing problem.

b) Two player A and B match coins. If the coin match then A wins Rs. 2, if
the coin do not match then B wins Rs. 2, Determine the pay-off matrix.

c) Write the Hessian matrix for real valued function f (x
1
, x

2
, x

3
) of three

variables.

d) What is a replacement problem? Describe some replacement policies.

e) Solve the game:

1 2

1

2

B

0 2
A

1 4

b b
a

a

 
 − 

f) Distinguish between CPM and PERT.

g) What are the three time estimates used in PERT?

Q2) Attempt any four of the following. [20]
a) Determine the optimal sequence of job that minimize total elapsed time

required to complete the following job. Also find the idle time for machine
M2.

Tasks A B C D E F G H I

Machine M
1

2 5 4 9 6 8 7 5 4

Machine M2 6 8 7 4 3 9 3 8 11

P.T.O.
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b) The running cost per year and resale price of an equipment whose
purchase price is Rs.5,000 are given in following table.

Year Running Cost (Rs.) Resale Price (Rs.)
1 1,500 3,500
2 1,600 2,500
3 1,800 1,700
4 2,100 1,200
5 2,500 800
6 2,900 500
7 3,400 500
8 4,000 500

What is the best time to replace the equipment?
c) There are 7 jobs, each of which has to go through the machine A and B

in the order AB. Processing time in hours are as follows:
Job: 1 2 3 4 5 6 7

Machine A : 3 12 15 6 10 11 9
Machine B : 8 10 10 6 12 1 3

Determine a sequence of these jobs that will minimize the total elapsed
time T. Also find the idle time.

d) Solve the following game graphically.
B

A
3 0 6 –1 7

–1 5 –2 2 1
e) Show that (0, 3, 1) and (2, 1, 1) are stationary points of function

f (x1, x2, x3) = 2x1x2x3 – 4x1x3 – 2x2x3 + 
2
1x  + 2

2x  + 2
3x  – 2x1 – 4x2 + 4x3.

f) Draw the network of a small project is composed of seven activities
whose time estimate are listed in the table below.

Activity Predecessors Expected time
A - 2
B - 4
C - 3
D A 1
E B 6
F C 5
G D, E 7
H F, G 2
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Q3) Attempt any four of the following. [20]
a) Solve the following non-linear programming problem by Lagrange’s

method:

Optimize 2 2 2
1 2 3 1 2 32 3 10 8 6 100Z x x x x x x= + + + + + −

subject to constraint x
1
 + x

2
 + x

3
 = 20

x
1, 

x
2, 

x
3 
≥

 
0.

b) Solve by Dominance rule.

Player B

B
1

B
2

B
3

A1 1 7 2

Player A A
2

6 2 7

A
3

5 2 6

c) Find the project completion time and critical path for the given project
network.

d) Determine the optimal sequence of the job that minimize total elapsed
time required to complete the following jobs. The jobs are processed on
3 machines in the order M1, M2, M3.

Jobs: 1 2 3 4 5 6 7

Machine M
1
: 3 8 7 4 6 8 7

Machine M
2
: 4 3 2 5 1 4 3

Machine M
3
: 6 7 5 11 5 6 12

Also find the total minimum ellapsed time.

e) The cost of a machine is Rs. 6100/- and its scrap value is Rs. 100/-. The
maintenance cost found from the past experience is as follows

Year: 1 2 3 4 5 6 7 8

Maintenance 100 250 400 600 900 1,200 1,600 2,000

cost (Rs.):

When should the machine be replaced?
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f) The following network diagram represents activities associated with a
project

Activities: A B C D E F G H I

Optimistic time: 5 18 26 16 15 6 7 7 3

Pessimistic time: 10 22 40 20 25 12 12 9 5

Most likely time: 8 20 33 18 20 9 10 8 4

Determine the expected activity time and variance.

Q4) Attempt any two of the following. [20]
a) Consider the activities and duration below:

Activities 0-1 1-2 1-3 2-4 2-5 3-4 3-6 4-7 5-7 6-7

Duration 2 8 10 6 3 3 7 5 2 8

i) Draw the network diagram and find the critical path.

ii) Find the project completion time.

iii) Determine total float and free float of each non critical activity.

b) The data for PERT network is given in the following table

                       Duration (days)

Activity Optimistic Most likely Pessimistic

1-2 1 2 3

2-3 8 10 12

2-4 3 4 6

2-5 3 5 7

3-6 4 5 6

4-6 7 8 9

5-7 6 8 10

6-7 1 4 7

i) Draw the network diagram.

ii) Find the expected project completion time.
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c) Obtain the optimal strategies for both persons and the value of the game
for two person zero sum game whose payoff matrix is as follows:

Player B

Player A B
1

B
2

A
1

1 –3

A2 3 5

A
3

–1 6

A
4

4 1

A
5

2 2

A
6

–5 0

d) A firm is thinking of replacing a particular machine whose cost price is
Rs. 12,200. The scrap value of the machine is Rs. 200/-. The maintenance
costs are found to be as follows:

Year Maintenance Cost in Rs.

1 220

2 500

3 800

4 1,200

5 1,800

6 2,500

7 3,200

Determine when the firm should get the machine replaced.


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[6301]-209
S.Y.B.A.

SOCIOLOGY
SEC - 2B : Research Projects : Steps and Protocols

(2019 Pattern) (CBCS) (Semester - IV) (24375)
Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC784 [Total No. of Pages : 2

SEAT No. :

Q1) Answer the following question in 200 words. (Any one) [10]

a) Elaborate the socio - historical context of social research.

b) Explain the Quantitative and Qualitative research methods in Social
research.

Q2) Write short notes on. (Any three) [15]

a) Research questions

b) Report writing

c) Ethics in Research

d) Methodology

e) Formulation of problems.



P.T.O.
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Total No. of Questions : 2]

[6301]-209
S.Y.B.A.

SOCIOLOGY
SEC - 2B : Research Projects : Steps and Protocols

(2019 Pattern) (CBCS) (Semester - IV) (24375)
(‘amR>r ê$nm§Va)

doi : 2  Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn[ÌH$m nmhmdr.

à.à.à.à.à.1) Imbrb àíZm§Mo CÎVa 200 eãXm§V {bhm (H$moUVmhr EH$) [10]

A) gm_m{OH$ g§emoYZmMm gm_m{OH$ - Eo{Vhm{gH$ g§X ©̂ {deX H$am.

~) gm_m{OH$ g§emoYZmVrb g§»`mË_H$ d JwUmË_H$ g§emoYZ nÜXVr ñnï> H$am.

à.à.à.à.à.2) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr VrZ) [15]

A) g§emoYZ àíZ

~) Ahdmb boIZ

H$) g§emoYZmVrb {ZVrVËdo

S>) nÜXVr emó

B) g_ñ`m gyÌU


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[6301]-210
S.Y.B.A.

PHILOSOPHY
SEC-2B : A Course on Philosophy and Practice of Yoga

(2019 Pattern) (CBCS) (Semester - IV) (24425)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC785 [Total No. of Pages : 2
SEAT No. :

Q1) Write short notes on any three of the following in 50 words each. [15]

a) Introduction to Hathayoga.

b) Asana

c) Pranayama

d) The concept of Yoga

e) Samadhi

Q2) Answer the following question in 200 words (any one). [10]

a) Define the term Hathayoga and explain its importance.

b) Fully expalin the terms Bandha, Mudra and Nadinusandhan.



P.T.O.
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Total No. of Questions : 2]

[6301]-210
S.Y.B.A.

PHILOSOPHY
SEC-2B : A Course on Philosophy and Practice of Yoga

(2019 Pattern) (CBCS) (Semester - IV) (24425)

(‘amR>r ê$nm§Va)
doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nmhmdr.

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZmda 50 eãXmV Q>rnm {bhm. [15]

A) hR>¶moJ n[aM¶

~) AmgZ

H$) àmUm¶m‘

S>) ¶moJ g§H$ënZm

B) g‘mYr

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 200 eãXmV {bhm. [10]

A) hR>¶moJ ¶m g§H$ënZoMr ì¶m»¶m XoD$Z {VMo ‘hÎd {deX H$am.

~) "~§Y‘wÐm' Am{U "ZmS>rZwg§YmZ' ¶m g§H$ënZm g{dñVa ñnï> H$am.



PC785
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[6301]-211
S.Y. B.A.

HINDI (qhXr)
CC-1D : AmYw{ZH$ qhXr ì §̀½` gm{hË` VWm ì`mdhm[aH$ qhXr (G-2)

nmR>çnwñVH$ … qhXr gm{hË` Am¡a ^mfm
g§nmXH$ - àm. S>m°. gXmZ§X ^mogbo

(2019 Pattern) (CBCS) (Semester - IV) (24093)

g_` :  2½ K§Q>o ] [ nyUmªH$ : 70

gyMZmE± : 1) g^r àíZ A{Zdm ©̀ h¢ &
2) Xm{hZr Amoa {bIo A§H$ àíZ Ho$ nyUmªH$ h¡ &

PC-786

SEAT No. :

àíZ àíZ àíZ àíZ àíZ 1) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {dñVma go {b{IE … [16]

A) "VrZm| ~§Xa ~mny Ho$' H${dVm Ho$ CÔoí` H$mo ñnï> H$s{OE &

~) "~mV ~V§JS>' H${dVm H$m ^mdmW© {b{IE &

H$) "{H$VZr amoQ>r' H${dVm Ho$ _mÜ`_ go H${d Zo h_| Š`m g§Xoe {X`m h¡?

S>) "Xoe Ho$ {bE ZoVm' H${dVm H$m gmam§e {b{IE &

àíZ àíZ àíZ àíZ àíZ 2) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {dñVma go {b{IE … [16]

A) "ào_ H$s {~amXar' H$hmZr H$s H$WmdñVw AnZo eãXm| _| {b{IE &

~) "Pmobo' H$hmZr Ho$ CÔoí` na àH$me S>m{bE &

H$) H$hmZr Ho$ VËdm| Ho$ AmYma na "_w»`_§Ìr H$m S>§S>m' H$hmZr H$s g_rjm H$s{OE &

S>) "A\$ga' H$hmZr _| {M{ÌV ì §̀½` H$mo g_PmBE &

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) A) {ZåZ{b{IV _| go {H$Ýht EH$ AdVaU H$s gg§X ©̂ ì`m»`m H$s{OE … [7]

i) ""Im°gVo `m {JaVo CÝh| XoIm J`m h¡ Oéa

`m H$^r-H$^ma gmd©O{ZH$ gw{dYm _| I‹S>o hþE ^r

bo{H$Z Iwer _| {H$gr go {bnQ>Zo

Am¡a Jwñgo _| {H$gr H$mo nrQ>Zo O¡gm Ñí`

Zht {X`m CÝhm|Zo H$^r &''

ii) ""Jm±d _| AH$mb Wm, ~wam hmb Wm &

EH$ ~w‹T>D$ Zo g_` {~VmZo H$mo,

`mo hr nyN>m _Z ~hbmZo H$mo,

Imbr noQ> na

{H$VZr amoQ>r Im gH$Vo hmo J§JmZmW?''

~) {ZåZ{b{IV _| go {H$Ýht EH$ AdVaU H$s gg§X ©̂ ì`m»`m H$s{OE … [7]

i) ""_¢Zo H$hm, ""bo{H$Z {Og Vah Amn XmoZm| B©_mZXma b‹S> aho Wo, _wPo bJm {H$ Amn
XmoZm| hr B_mZXma Zht h¢ &''

ii) ""AnZo Am°{\$g Ho$ bmoJm| H$mo XoImo & {H$gr Ho$ Q>¢nmo Mb aho h¡, {H$gr Zo ~oQ>o H$mo
noQ´>mob n§n Iwbdm {X`m h¡ & _oao Zgr~ _| hr ha _{hZo {JZo-MwZo énëbo {bIo h¢ &''

àíZ àíZ àíZ àíZ àíZ 4) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE … [14]

A) "gmjmËH$ma EH$ H$bm h¡' {dñVma go g_PmBE &

~) _mo~mB©b Ho$ _hËdnyU© Eßg H$s OmZH$mar Xr{OE &

H$) nëbdZ H$s à{d{Y na àH$me S>m{bE &

àíZ àíZ àíZ àíZ àíZ 5) {ZåZ{b{IV ~hþ{dH$pën` Xg àíZm| Ho$ CÎma {b{IE … [10]

i) "VrZm| ~§Xa ~mny Ho$' H${dVm {H$gH$s h¡?

A) Ho$XmaZmW AJ«dmb ~) Hw±$da Zmam`U

H$) Yw{_b S>) d¡ÚZmW {_l ZmJmO©wZ

ii) "gmdYmZ, h_ B©_mZXma h¢' {H$g àH$ma H$s H$hmZr h¡?

A) gm_m{OH$ ~) Am{W©H$

H$) Ym{_©H$ S>) ì §̀½`mË_H$
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iii) "A~yVa-H$~yVa' {H$gH$s aMZm h¡?

A) e¡b MVwd}Xr ~) CX` àH$me

H$) H$mH$m hmWagr S>) AemoH$ MH«$Ya

iv) Jm±d _| AH$mb Wm, ~wam hmb Wm' `h {H$g H${dVm H$s n§{º$ h¡ &

A) {H$VZr amoQ>r ~) {dX²dmZ bmoJ

H$) ~mV ~V§JS> S>) BZ_| go Zht

v) AemoH$ MH«$Ya Or H$m OÝ_ H$~ hþAm?

A) 8 \$adar, 1948 ~) 8 \$adar, 1949

H$) 8 \$adar, 1950 S>) 8 \$adar, 1951

vi) "_w»`_§Ìr H$m S>§S>m' H$hmZr Ho$ _w»`_§Ìr H$m Zm_ h¡ -

A) J§Jm àgmX ~) _mYd àgmX

H$) Ádmbm àgmX S>) BZ_| go Zht

vii) h[ae§H$a nagmB© Or H$m OÝ_ H$hm± hþAm?

A) CÎma àXoe ~) _Ü` àXoe

H$) {h_mMb àXoe S>) Z¡{ZVmb

viii) gmjmËH$ma H$m {ZåZ _| H$m¡Zgm VËd h¡?

A) g§dmX ~) ~mø ì`{º$Ëd

H$) Cnamoº$ XmoZm| S>) BZ_| go Zht

ix) nëbdZ H$mo H$hVo h¡ -

A) d¥{ÕH$aU ~) {deXrH$aU

H$) g§dY©Z S>) Cnamoº$ g^r

x) {ZåZ _| go _mo~mB©b Eßg H$s H$m¡Zgr {deofVmE± h¡?

A) AmgmZ Cn`moJ> ~) Img \$sMa

H$) AmgmZ CnbãYVm S>) Cnamoº$ g^r


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[6301]-212

S.Y. B.A.
qhXr (d¡H$pënH$)

CC - 2D G2 : OZg§Mma ‘mÜ¶‘ Am¡a qhXr
(2019 Pattern) (CBCS) (Semester - IV) (24094)

g‘¶ : 2½ KÊQ>o]                      [nyUmªH$ : 70

gyMZmE± : 1) g^r àíZ A{Zdm¶© h¢ &
2) Xm{hZr Amoa {bIo A§H$ àíZ Ho$ nyUmªH$ h¢ &

SEAT No. :

P.T.O.

àíZ 1) {ZåZ{b{IV _| go {H$Ýhr VrZ àíZm| Ho$ CÎma {b{IE & [21]

i) OZg§Mma ‘mÜ¶‘m| H$s AdYmaUm ~VmVo hþE CgHo$ {d{^ÝZ àH$mam| H$mo g‘PmBE &

ii) OZg§Mma ‘mÜ¶‘m| ‘| qhXr ^mfm H$m ‘hÎd {deX H$s{OE &

iii) ‘w{ÐV ‘mÜ¶‘m| H$s {deofVmAm| na àH$me S>m{bE &

iv) lì¶ ‘mÜ¶‘m| Ho$ CXmhaU g‘PmBE &

v) Ñí¶ OZg§Mma ‘mÜ¶‘m| ‘| qhXr ^mfm Ho$ ‘hÎd H$mo g‘PmBE &

àíZ 2) {ZåZ{b{IV ‘| go {H$Ýhr VrZ àíZm| Ho$ CÎma {b{IE & [21]

i) g¥OZmË‘H$ boIZ H$m ñdê$n Ed§ ‘hËd ñnï> H$s{OE &

ii) g¥OZmË‘H$ boIZ Ho$ {d{dY joÌm| na àH$me S>m{bE &

iii) boIm-AmboIZ Ho$ àH$mam| H$mo ñnï> H$s{OE &

iv) H${dVm H$s n[a^mfm XoVo hþE H${dVm boIZ H$mo g‘PmBE &

v) ‘§{M¶ ZmQ>H$ Am¡a ao{S>¶mo ZmQ>H$ ‘| ôX ñnï> H$s{OE &
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àíZ 3) {ZåZ{b{IV ‘| go {H$Ýhr VrZ àíZm| Ho$ CÎma {b{IE & [21]
i) ‘mÜ¶‘ boIZ Ho$ àH$mam| H$mo ñnï> H$s{OE &

ii) ’$sMa boIZ Ho$ àH$ma g‘PmBE &
iii) nQ>H$Wm boIZ H$s g§H$ënZm na àH$me S>m{bE &
iv) ao{S>¶mo dmVm© boIZ H$s {deofVmAm| H$mo g‘PmBE &

v) ‘w{ÐV {dkmnZ ‘| ^mfm H$m ‘hËd {deX H$s{OE &

àíZ 4) {ZåZ{b{IV àíZm| Ho$ ghr {dH$ën MwZH$a {b{IE & [7]
i) OZg§Mma ‘mÜ¶‘ H$m à‘yI H$m¶© h¡ &

A) gyMZm XoZm ~) AmXmZ-àXmZ
H$) ‘XX H$aZm S>) {’$ë‘ XoIZm

ii) OZg§Mma ‘mÜ¶‘ Ho$ ê$n ‘| H$m¡Z-gr ^mfm H$m à¶moJ à‘yIVm go {H$¶m OmVm h¡?
A) Ad{Y ~) qhXr
H$) g§ñH¥$V S>) ’«|$M

iii) lì¶ OZg§Mma ‘mÜ¶‘ H$m¡Zgm h¡?
A) ao{S>¶mo ~) Q>obr{dOZ
H$) g‘mMma nÌ S>) ‘m{gH$ nÌ

iv) ’$sMa boIZ H$s CËnÎmr H$m¡Zgr ^mfm go ‘mZr OmVr h¡?

A) b¡{Q>Z ^mfm ~) ’«|$M
H$) A§J«oOr S>) g§ñH¥$V

v) H${dVm H$m¡Z gr {dYm h¡?

A) JÚ {dYm ~) nÚ aMZm
H$) CnÝ¶mg {dYm S>) H$hmZr {dYm

vi) EH$ ~¡R>H$ ‘| n‹T>r OmZodmbr {dYm H$m¡Z-gr h¡

A) CnÝ¶mg ~) H$hmZr
H$) ‘hmH$mì¶ S>) am‘m¶U

vii) ‘w{ÐV {dkmnZ {H$go H$h gH$Vo h¡?

A) ao{S>¶mo ~) g‘mMma nÌ
H$) XþaXe©Z S>) ‘mo~mB©b





Q1) A) Translate any one into Marathi or English. [5]

Imbrbn¡H$s H$moUË`mhr EH$mMo _amR>r AWdm B§J«OrV ^mfm§Va H$am.

i) Xodmgwam h d¡ `Ì g§̀ o{Va C^ ò àmOmnË`mñVÕ Xodm CÒrW_mOõþaZoZ¡ZmZ{^^{dî`m_ B{V&&
Vo h Zm{gŠ §̀ àmU_wÒrW_wnmgm§ M{H«$ao& V± hmgwam… nmß_Zm {d{dYwñVñ_mÎmoZmô §̀ {OK«{V
gwa{^ V XþJ©pÝY M nmß_Zm øof {dÕ…&

ii) H$ZH$Xmgñ` _hVr {MÝVm OmVm& VWm{n g AVrd MVwa… & g AdXV², ""A{` {_Ì, ^dmZ²
{dÇ>bà{V_m§ _m ní`Vw Ed& ^dV… ZoÌ`mo… Cn[a dón{Å>H$m§ ~ÝYZ§ H¥$Ëdm Ah§ ^dÝV§ _pÝXa§
Zoî`m{_& {dÇ>bà{V_m`m… nwaV… ^dÝV§ ñWmñ`m{_ & ^dmZ² {dÇ>b_y{Vª hñVmä`m_od ñn¥ï²>dm
a‚mwghmæ òZ Vñ`m… H$Q>o _mnZ§ H$amoVw& VXZwgma§ gwdU©_oIbm§ g‚mrH¥$Ë` XXmVw'' B{V&

B) Translate any one into Marathi or English. [5]

Imbrbn¡H$s H$moUË`mhr EH$mMo _amR>r AWdm B§J«OrV ^mfm§Va H$am.

i) lrZmWñVdZmZwê$nH$dZm§ dmUt _Zmohm[aUt

H$ï>§ hm H$d`… H$X ©̀Hw${Q>bú_mnmbgmËHw$d©Vo&

XÿamonmöVgm¡ag¡ÝYdn`mo Xodm{^foH$mo{MV§

g§goHo$ {d{Z ẁÄOVo gw_V`… emH$mbdmbñ` {H$_²&&

ii) JwUdXJwUdÛm Hw$d©Vm H$m ©̀OmV§

n[aU{VadYm`m© `ËZV… npÊS>VoZ&

A{Va^gH¥$VmZm§ H$_©Um_m{dnÎmoa²

^d{V öX`Xmhr eë`Vwë`mo {dnmH$… &&

Total No. of Questions : 4]

[Total No. of Pages : 3

[6301]-213
S.Y. B.A.

SANSKRIT (g§ñH¥$V)
SEC-1B : Gadyavibhag and Padyavibhag
g§ñH¥$VmU©d … g§ñH¥$V JÚ Am{U nÚ {d^mJ

(2019 Pattern) (Semester - IV) (24113)

Time : 2½ Hours] [Max. Marks : 70
Instructions : 1) All questions are compulsory.

gd© àíZ  A{Zdm ©̀ AmhoV.
2) Figures to right indicate full marks.

COdrH$S>rb A§H$ JwU Xe©{dVmV.

PC-788

SEAT No. :

P.T.O.
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C) Write any five answers in the Sanskrit language. [5]

Imbrbn¡H$s H$moUË`mhr nmM àíZm§Mr g§ñH¥$V ^mfoV CÎmao {bhm.

C{MVm{Z ̀ w½_m{Z {d{MZwV

i) Hw$bmb… a) X¡d_²

ii) H¥$emZw… b) Vm_gm…

iii) nwéfnm¡ê$fnarjH$… c) amOgm…

iv) ^¥Jwn{V… d) naewam_…

v) ajm§{g `OpÝV e) ~«÷m

vi) Z¥Um§ d¥Õm¡ H$maU_² f) {edOr_hmamO…

g) {dûdJwUmXe©MånyH$mì`_²

Q2) A) Write reference to context any one of the following. [5]

H$moUË`mhr EH$mMo gg§X ©̂ ñnï>rH$aU Úm.

i) AWmÌ gL²>J«m_o H$ñ` {dO` gå^mì`Vo&

ii) EH$mo@h§ {d{dY¡… ê$n¡… Ñí ò&
B) Write reference to context any one of the following. [5]

H$moUË`mhr EH$mMo gg§X ©̂ ñnï>rH$aU Úm.

i) gỳ m} «̂må`{V {ZË`_od JJZo Vñ_¡ Z_… H$_©Uo&

ii) AmÝVaÜdmÝV§ha`… H$d`ñËd`m Zm{Yjoß`m…&
C) Read the following passage and write any five answers in the Sanskrit

language. [5]

Imbrb n[aÀN>oX dmMyZ, H$moUË`mhr nmM àíZm§Mr g§ñH¥$V ^mfoV CÎmao {bhm.

nwZaoH$dma§ C{MV_mnZmWª ZoÌo {nYm` H$ZH$XmgoZ Zah[a… {dÇ>b_pÝXa§ ZrV…& hñVñne}U Zah[a :>
nwZa{n _mnZ_² AmaãYdmZ²& naÝVw AYwZm A{n VoZ {d{MÌ AZŵ d… Ed àmá… & AYwZm _yV}… {ea{g
OQ>mH$bmnñ` Cn[a MÝÐH$bm`m… ñne©ñ` AZw^d§ g… àmádmZ²& {Zü`oZ Efm {ed_y{V©… B{V
Zah[a… Cƒ¡… Cº$dmZ²& Z, Z Efm {dÇ>b_y{V©… B{V H$ZH$Xmg… Cº$dmZ²& nwZa{n Zah[aUm _oIbm
H¥$Vm& AYwZm gm XrKm© OmVm&

i) Ho$Z Zah[a… {dÇ>b_pÝXa§ ZrV…?

ii) H$W§ Zah[a… {dÇ>b_pÝXa§ ZrV…?

iii) H$W§ Zah[a… _mnZ_² AmaãYdmZ²?

iv) Zah[a… {H$_² AÝdm^dV²?

v) Zah[a… {H$_² A{MÝV`V²?

vi) H$ZH$Xmg… {H$_² AH$W`V²?
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Q3) A) Write a long answer to any one of the following. [12]

H$moUË`mhr EH$mMo g{dñVa CÎma {bhm.

i) Write àUdmonmgZm described in N>m§Xmo½`mon{ZfX² in your own words.

N>m§Xmo½`mon{ZfXmV Ambobr àUdmonmgZm Vw_À`m eãXmV {bhm.

ii) Write an essay on aËZnarjm described in the H$m¡{Q>br` AW©emó.

H$m¡{Q>br` AW©emómVrb aËZn[ajm `m {df`mda {Z~§Y {bhm.

B) Write a note. [8]

H$moUVrhr Q>rn {bhm.

i) {edamOmZm§ JwUm…

ii) Zah[a…

Q4) A) Write a long answer to any one of the following. [12]

H$moUË`mhr EH$mMo g{dñVa CÎma {bhm.

i) Write an essay on XemdVmañVmoÌ composed by H$dr O`Xod.

H$dr O`Xodm§Zr Ho$bobo XemdVmañVmoÌ `mda {Z~§Y {bhm.

ii) Discuss topics described in the lÕmÌ`{d^mJ`moJ.

lÕmÌ`{d^mJ`moJmV Amboë`m {df`m§Mr MMm© H$am.

B) Write a note. [8]

H$moUVrhr Q>rn {bhm.

i) H¥$emZw…

ii) Langugae style of ^V¥©har

^V¥©hatMr ^mfme¡br

♦♦♦
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 CC-1D:Grammar and Translation
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Total No. of Questions : 3

[Time : 2½ HoursTotal Marks : 70]

Instructions to the candidates :

1) Attempt all questions.
2) Figures to the right side indicate full marks.

Q.1 Define and Illustrate three of the following .    [30] 
 

      (a

       (b
       (c

      (d

Q.2  Translate the following Passages into only English  :  [20]
     

 




  




SEAT No.

Total No. of Pages : 2

P.T.O.



Q.3 Translate the following Passage only in Arabic  :  [20]
The peon will open the gate of the office in the morning. I read
many English magazines last month. These Nurses are working
in those hospitals. The schools and colleges are closed during

  holidays. These American engineers are very hardworking.The
 girl sat on her desk and read the new lesson. Samiya, don,t sit
 on that chair. The engineer left his bag under the table. There is
 a small window by the side of the door. We have studied many
 new lessons in Arabic.  

    

                      
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S.Y.B.A.  (Semester-IV)

PERSIAN 
     CC-2D: Prose & Modern Prose Terms 

(24103) (2019 Pattern) (CBCS)

PC-790 

Total No. of Questions : 5

[Time : 2½ HoursTotal Marks :70]

Instructions to the candidates :

1) Attempt All questions .
2) Figures to the right side indicate full marks.

Q.1 Express your thoughts on Nasrullah Munshi's Prose in detail.   [12]

or

Write the characteristics of prose writing of Sadi Shirazi.

Q.2  Ethical elements are found in Jami,s writings, Explain in 

detail.          [12]

or

Express your views on the literary works of Maulana Jami in

detail.

Q.3 Cover the literary Services of Wa'iz Kashifi in detail.  [12]

        or

Provide a critical overview of"Wazifa-i-Shagird Nisbat 

be Ustaad".

SEAT No.

Total No. of Pages : 2

P.T.O.



Q.4 (A)    Reproduce in your own Persian any one of the follwing.     [10]

 (i

  (ii



 (iii 

Q.4 (B)  Write the Central idea of one of the following in English or 

  Urdu or Marathi.     [10]

 (i       

 (ii

  (iii 

Q.5 Write short notes on any two of the following.         [14]

 (i

  (ii

  (iii 

                     


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Q1) Answer the following questions in 20 words each (any eight) [16]
a) Two Developmental Functions of Reserve Bank of India.
b) When did the government of India enact the Bankruptcy Act?
c) What is bank rate?
d) When IRDA was Approved?
e) When was the Asian Development Bank established?
f) Full form of BRICS.
g) When did SEBI get statutary status?
h) What is Monetary policy?
i) What are the two objectives of BRICS?
j) State two qualitative instruments of monetary policy.

Q2) Answer the following questions in 50 words each (any four) [16]
a) Explain the objectives of International Monetary Fund.
b) Write information about Bitcoin.
c) Explain the Importance of Bank ruptcy code.
d) Organization of R.B.I.
e) Role of World Bank.
f) Explain the objectives of New Development Bank.

Total No. of Questions : 4]

[Total No. of Pages : 4
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S.Y. B.A.

ECONOMICS
CC 1D : Financial System - II

(2019 Pattern) (Semester - IV) (24153)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Draw neat diagrams wherever necessary.
3) Figures to the right indicate full marks.

PC-791
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Q3) Answer the following questions in 150 words each (any three) [18]

a) Functions of Asian Development Bank.

b) Functions of SEBI.

c) Explain the alternative source of Finance.

d) Role of Insurance Regulatory and Development Authority (IRDA).

Q4) Write the answers to the following questions in 200 words each (Any
two). [20]

a) General Functions of R.B.I.

b) Functions of International Monetary Fund.

c) Explain the changing land scape of Banking sector in India.

♦♦♦



Total No. of Questions : 4]

[6301]-216
S.Y. B.A.

 ECONOMICS
CC 1D : Financial System - II

(2019 Pattern) (Semester - IV) (24153)

(_amR>r ê$nm§Va)
doi : 2½ Vmg ]                      [EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) Amdí`H$ VoWo gw~H$ AmH¥$Ë`m H$mT>m.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
4) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

àíZ 1) Imbrb àíZm§Mr CÎmao àË òH$s 20 eãXm§V {bhm (H$moUVohr AmR>) [16]
A) ^maVr` [aPìh© ~±Ho$Mr XmoZ {dH$mgmË_H$ H$m }̀ gm§Jm.
~) ^maV gaH$maZo {XdmiImoar H$m`Xm Ho$ìhm bmJy Ho$bm?
H$) ~±H$ Xa åhUOo H$m`?
S>) Am`.Ama.S>r.E bm Ho$ìhm _mÝ`Vm {_imbr?
B) A{e`Z {dH$mg ~±Ho$Mr ñWmnZm Ho$ìhm Pmbr?
\$) {~«ŠgMo nyU©én {bhm.
`) go~rbm d¡Ym{ZH$ XOm© Ho$ìhm {_imbm.
a) MbZ{df`H$ YmoaU åhUOo H$m`?
b) [~«ŠgMr XmoZ C{Ôï>o gm§Jm.
d) MbZ{df`H$ YmoaUmMr XmoZ JwUmË_H$ gmYZo gm§Jm.

àíZ 2) Imbrb àíZm§Mr àË òH$s 50 eãXm§V CÎmao {bhm (H$moUVohr Mma) [16]
A) Am§Vaamï´>r` ZmUo{ZYrMr C{Ôï>o ñnï> H$am.
~) {~Q>H$m°B©Z `m {df`r _m{hVr {bhm.
H$) {XdmiImoar {Z`m_H$mMo _hËd ñnï> H$am.
S>) ^maVr` [aPìh© ~±Ho$Mo g§KQ>Z ñnï> H$am.
B) OmJ{VH$ ~±Ho$Mr ŷ{_H$m ñnï> H$am.
\$) Z{dZ {dH$mg ~±Ho$Mr C{Ôï>o gm§Jm.

P.T.O.

PC-791
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àíZ 3) Imbrb àíZm§Mr AÎmao àË òH$s 150 eãXm§V {bhm (H$moUVohr VrZ) [18]

A) A{e`mB© {dH$mg ~±Ho$Mr H$m }̀ gm§Jm.

~) go~rMr H$m }̀ gm§Jm.

H$) n`m©̀ r {dÎmnwadR>`mMo ómoV gm§Jm.

S>) {d_m {Z`_Z Am{U {dH$mg àm{YH$aUmMr ŷ{_H$m ñnï> H$am.

àíZ 4) Imbrb àíZm§Mr CÎmao 300 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) ^maVr` [aPìh© ~±Ho$Mr gd©gm_mÝ` H$m }̀ ñnï> H$am.

~) Am§Vaamï´>r` ZmUo {ZYrMr H$m }̀ gm§Jm.

H$) ^maVmVrb AbrH$S>rb H$mimVrb {dÎmr` gwYmaUm ñnï> H$am.

♦♦♦



Q1) Attempt any eight questions (in 20 words each)  : [16]
a) Write the meaning of Liberty.
b) Write the meaning of Equality.
c) Write the meaning of Right.
d) Write the meaning of Ideology.
e) Write the meaning of Nationalism.
f) Write the meaning of Socialism.
g) Write the meaning of Fascism.
h) When was united Nations established?
i) When was SAARC established?
j) Write the meaning of justice.

Q2) Write any four short notes (in 50 words each) : [16]
a) Explain the positive Liberty.
b) Explain in brief nature of right.
c) Write the merits of Nationalism.
d) Write the merits of socialism.
e) Write the demerits of fascism.
f) Write the objectives of multinational companies.

Total No. of Questions : 4]

[Total No. of Pages : 4
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1) All questions are compulsory.
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Q3) Attempt any three questions (in 100 words each) : [18]

a) Explain the nature of Equality.

b) Explain the types of right.

c) Explain the types of Nationalism.

d) Explain the features of multinational companies.

Q4) Attempt any two questions (in 200 words each) : [20]

a) Explain the types of equality.

b) Explain the challenges before human rights.

c) Write the types of multinational companies.


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Total No. of Questions : 4]

[6301]-217
S.Y. B.A.

POLITICAL SCIENCE
CC-1D : An Introduction to Political Science

(2019 Pattern) (CBCS) (Semester - IV) (24163)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àíZn{ÌH$m nhmdr.

PC-792

àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr AmR> àíZm§Mr CÎmao {bhm (àË òH$s 20 eãXm§V) … [16]

A) ñdmV§Í`mMm AW© {bhm.

~) g_VoMm AW© {bhm.

H$) hŠH$m§Mm AW© {bhm.

S>) {dMmaàUmbrMm AW© {bhm.

B>) amï´>dmXmMm AW© {bhm.

’$) g_mOdmXmMm AW© {bhm.

¶) \¡${gP_Mm AW© {bhm.

a) g§̀ wº$amï´> g§KmMr ñWmnZm H|$ìhm Pmbr?

b) gmH©$ g§KQ>ZoMr ñWmnZm H|$ìhm Pmbr?

d) Ý`m`mMm AW© {bhm.

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr Mma {Q>nm {bhm. (àË òH$s 50 eãXm§V) … [16]

A) gH$mamË_H$ ñdmV§Í` ñnï> H$am.

~) hŠH$m§Mo ñdê$n WmoS>Š`mV {bhm.

H$) amï´>dmXmMo JwU {bhm.

S>) g_mOdmXmMo JwU {bhm.

B) \°${gP_Mo Xmof {bhm.

\$) ~hÿamï´>r` H§$nÊ`mMr CÔrï>o {bhm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao {bhm (àË òH$s 100 eãXm§V) … [18]
A) g_VoMo ñdê$n ñnï> H$am.
~) hŠH$m§Mo àH$ma ñnï> H$am.
H$) amï´>dmXmMo àH$ma ñnï> H$am.
S>) ~hþamï´>r` H§$nÊ`m§Mr d¡{eï>ço ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao {bhm (àË òH$s 200 eãXm§V) … [20]
A) g_VoMo àH$ma ñnï> H$am.
~) _mZdr hŠH$m§ g_moarb AmìhmUo ñnï> H$am.
H$) ~hÿamï´>r` H§$nÊ`m§Mo àH$ma {bhm.





Q1) Answer any Eight questions. (20 words) [16]
a) What is meant by Marxism?
b) Who is the author of book “Gulamgiri”?
c) Name the two books of Dr. Ambedkar.
d) Who started the newspaper “Mook Nayak”?
e) Explain the term “Equality”, according to Dr. Ambedkar.
f) Name the two books of Karl Marx.
g) Explain the ideology of Mahatma Phule.
h) Mention the Principles of Mahatma Gandhi.
i) Explain Dr. Ambedkar Views on Caste.
j) What is meant by Feminism?

Q2) Answer any four questions (50 words) : [16]
a) Explain the concept of Marxian State.
b) State the concept of Non-violence.
c) Gram Swaraj.
d) Explain Mahatma Phule’s views on “Equality”.
e) What is meant by Satyagrah?
f) What is meant by Patriarchy?

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q3) Answer any three questions (100 words) : [18]

a) Explain the concept of Historical Materialism by Karl Marx.

b) State Dr. Ambedkar views on Religion.

c) Explain Mahatma Phule views on Democracy.

d) Explain the types of Non-violence, according to Mahatma Gandhi.

Q4) Answer any two questions (200 words) : [20]

a) Explain Dr. Ambedkar views on “Social Democracy”.

b) Define Satyagrah. Explain the techniques of Satyagrah.

c) Explain the meaning and Nature of Liberal Feminism.


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Total No. of Questions : 4]

[6301]-218
S.Y. B.A.

POLITICAL SCIENCE
CC-2D : An Introduction to Political Ideologies

({dMma àUmbrMr AmoiI)
(2019 Pattern) (CBCS) (Semester - IV) (24164)

(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àý gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

PC-793

àíZ àíZ àíZ àíZ àíZ 1) H$moUVohr AmR> àíZm§Mr CÎmao {bhm. (20 eãXm§V) [16]

A) _mŠg©dmX åhUOo H$m`?

~) "Jwbm_{Jar' nwñVH$mMo boIH$ H$moU Amho?

H$) S>m° A§~oS>H$am§À`m H$moUË`mhr XmoZ nwñVH$m§Mr Zmdo {bhm?

S>) "_yH$Zm`H$' `m d¥ÎmnÌmMr gwê$dmV H$moUr Ho$br?

B>) S>m°. Am§~oS>H$am§À`m _Vo "g_Vm' åhUOo H$m`?

’$) H$mb© _mŠg©À`m H$moUË`mhr XmoZ nwñVH$m§Mr Zmdo {bhm.

¶) _hmË_m \w$b|À`m {dMma àUmbr H$m` hmoVr?

a) Jm§YrdmXm§Mo VÝVdo H$m` hmoVo?

b) S>m°. Am§~oS>H$am§Mo OmVr~Ôb {dMma ñnï> H$am.

d) órdmX åhUOo H$m`?

P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) H$moUVohr Mma àíZm§Mr CÎmao {bhm. (50 eãXm§V) [16]

A) H$mb©_mŠgMo amÁ`mg§~YrMo {dMma ñnï> H$am.

~) Aqhgm åhUOo H$m`?

H$) J«m_ñdamÁ` åhUOo H$m`?

S>) g_Vo{df`r _hmË_m \w$b`m§Mm Ñï>rH$moU {bhm.

B) gË`mJ«h åhUOo H$m`?

\$) {nV¥gÎmmH$ åhUOo H$m`?

àíZ àíZ àíZ àíZ àíZ 3) H$moUVohr VrZ àíZm§Mr CÎmao {bhm. (100 eãXm§V) [18]

A) H$mb© _mŠg©Mm Eo{Vhm{gH$ ^m¡{VH$dmX ñnï> H$am.

~) Y_m©{df`r S>m°. Am§~oS>H$am§Mo {dMma ñnï> H$am.

H$) bmoH$emhr ~Ôb _hmË_m \w$boMm {dMma ñnï> H$am.

S>) AqhgoMo àH$ma ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 4) H$moUVohr XmoZ àíZm§Mr CÎmao {bhm. (200 eãXm§V) [20]

A) gm_m{OH$ bmoH$emhr{df`r S>m°. Am§~oS>H$am§Mo {dMma ñnï> H$am.

~) gË`mJ«h åhUOo H$m`? _hmË_m Jm§YrÀ`m gË`mJ«hmMr {d{dY V§Ìo ñnï> H$am.

H$) CXma_VdmXr órdmXmMm AW© d ñdê$n ñnï> H$am.





Total No. of Questions : 4]
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Q1) Answer the following question in 300 words. (any one) [15]

a) Explain the achivements of Peshwa Bajirao first.

OR

b) Dicuss the causes and effects of the Third battle of painpat.

Q2) Answer the following question in 300 words. (any one) [15]

a) Explain the achievements of Mahadji Shinde.

OR

b) Discuss the Land Revenue system during peshwa period.

Q3) Answer the following question in 200 words. (any two). [20]

a) State importance of the achivement of Peshwa Balaji Vishwanath.

b) State the causes for the failure of the marathas in the third panipat war.

c) Explain the battle of Rakshasbhuvan between Peshwa Madhavrao and
Nizam.

d) Describe the position of women in Peshwa Period.

P.T.O.
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Q4) Short notes (any four). [20]

a) Battle of Khed.

b) Nanasaheb Peshwa and Angre resations.

c) Battle of Vadgaon

d) Maratha confederacy

e) Peshwa period - textitle industry

f) Gotasabha


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Total No. of Questions : 4]

[6301]-219
S.Y.B.A.

HISTORY
CC - 2D : History of the Marathas (1707 - 1818)
(2019 Pattern) (CBCS) (Semester - IV) (24174)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrb àíZmMo 300 eãXmV CÎma {bhm. (H$moUVohr EH$) [15]

A) noedm n{hbm ~mOramd ¶m§Mr H$m‘{Jar ñnï> H$am.

qH$dm

~) nm{ZnVÀ¶m {Vgè¶m ¶wÜXmMr H$maUo d n[aUm‘m§Mr MMm© H$am.

à.à.à.à.à.2) Imbrb àíZmMo 300 eãXmV CÎma {bhm. (H$moUVohr EH$) [15]

A) ‘hmXOr qeXo ¶m§Mr H$m‘{Jar ñnîQ> H$am.

qH$dm

~) noedoH$mimVrb O‘rZ ‘hgwb ì¶dñWoda MMm© H$am.

à.à.à.à.à.3) Imbrb àíZmMo 200 eãXmV CÎma {bhm. (H$moUVohr XmoZ) [20]

A) noedm ~mimOr {dídZmW ¶m§À¶m H$m‘{JarMo ‘hÎd gm§Jm.

~) Vrgè¶m nm{ZnV ¶wÜXmVrb ‘amR>çm§À¶m An¶emMr H$maUo gm§Jm.

H$) noedm ‘mYdamd Am{U {ZOm‘ ¶m§À¶mVrb amjg ŵdZÀ¶m bT>mB© g§~§Yr ‘m{hVr gm§Jm.

S>) noedoH$mbrZ {ñÌ¶m§À¶m pñWVrMo dU©Z H$am.
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à.à.à.à.à.4) {Q>nm {bhm. (H$moUË¶mhr Mma) [20]

A) IoS>Mr bT>mB©

~) ZmZmgmho~ noedo Am{U Am§Jo« g§~§Y

H$) dS>JmdMr bT>mB©

S>) ‘amR>m ‘§S>i

B) noedo H$mbI§S>-H$mnS> CÚmoJ

’$) JmoVg^m


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[6301]-220
S.Y.B.A.

ANTHROPOLOGY
CC-1DGII: Tribal Development

(2019 Pattern) (CBCS) (Semester - IV) (24193)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC795 [Total No. of Pages : 4
SEAT No. :

Q1) Write short notes on any three of the following. [15]

a) Acculturation

b) Scheduled Area

c) Integration Approach

d) Concept of tribal development

e) Contribution of tribals in freedom movement

Q2) Answer any three of the following questions in 50 words. [15]

a) What is Nomadic Tribes?

b) Explain the isolation concept.

c) Explain the concept of Assimilation.

d) Describe the Integrated Tribal Development project.

e) Describe the schemes for especially velnerable tribal groups.

P.T.O.
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Q3) Answer any two of the following questions in 200 word each. [20]

a) Elaborate pre-independence period - British Approach.

b) Describe the constitutional provisions for tribal communities.

c) Write the Tribal development programmes in details.

d) Explain the contribution of cooperative societies in tribal development.

Q4) Answer any one of the following questions in 300 words. [20]

a) Discuss in details about tribal movement in Pre - Independence period.

b) Expalin the contribution of Tribal development corporation in tribal
development.


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Total No. of Questions : 4]

[6301]-220
S.Y.B.A.

ANTHROPOLOGY
CC-1DGII: Tribal Development

(2019 Pattern) (CBCS) (Semester - IV) (24193)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]

A) g‘g§ñH¥$VrH$aU

~) AZwgy{MV joÌ

H$) EH$sH$aU Ñï>rH$moZ

S>) Am{Xdmgr {dH$mg g§H$ënZm

B) ñdmV§Í¶ MidirVrb Am{XdmgtMo ¶moJXmZ

à.à.à.à.à.2) Imbrb àíZm§Mr 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [15]

A) ^Q>³¶m O‘mVr åhUOo H$m¶?

~) AbJVm g§H$ënZm ñnï> H$am.

H$) gm{‘{bH$aUmMr g§H$ënZm ñnï> H$am.

S>) EH$mË‘rH$ Am{Xdmgr {dH$mg àH$ënmMo dU©Z H$am.

B) {deofV… d§{MV Am{Xdmgr g‘yhm§gmR>r Agboë¶m ¶moOZm {deX H$am.

PC795
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à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]

A) ñdmV§Í¶nwd© H$mimVrb {~«{Q>e Ñ{ï>H$moZ {deX H$am.

~) Am{Xdmgr g‘yXm¶mgmR>r AgUmè¶m KQ>ZmË‘H$ VaVwXrMo dU©Z H$am.

H$) Am{Xdmgr {dH$mg H$m¶©H«$‘ g{dñVa {bhm.

S>) Am{Xdmgr {dH$mgmV ghH$mar nVg§ñWmMo AgUmao ¶moJXmZ ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao 300 eãXmV {bhm. (H$moUVohr EH$) [20]

A) ñdmV§Í¶nwd© H$mimVrb Am{XdmgtÀ¶m Midirda g{dñVa MMm© H$am.

~) Am{XdmgtÀ¶m {dH$mgmV Am{Xdmgr {dH$mg ‘§S>imMo ¶moJXmZ ñnï> H$am.


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[6301]-221
S.Y.B.A.

GEOGRAPHY
CC - 1D Gg 201 (B) : Environmental Geography - II

(2019 CBCS Pattern) (Semester - IV) (24204)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidate:

1) All questions are compulsory.
2) Draw neat diagrams wherever necessary.
3) Figures to the right indicate full marks.
4) Use of map stendis is allowed.

PC796 [Total No. of Pages : 4
SEAT No. :

Q1) Write the answers of the following questions about 20 words each (any eight).[16]

a) Write any two examples of man - made disaster.

b) What is natural disaster?

c) Define flood.

d) Write name of any two green house gases.

e) Write any two evidence of global warming.

f) Write any two effects of ozone depletion.

g) Define environmental management.

h) Define environmental planning.

i) When the wild life act was formed?

j) Write any two objectives of environmental protection act.

Q2) Write a short notes in about 50 words each (any three). [18]

a) Management of flood disaster.

b) Impact of chemical fertilizers.

c) Effects of acid rain.

d) Environmental prolicies.

P.T.O.
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Q3) Write the answers to the following questions in 100 words (any two). [16]

a) Explain effects and casues of floods.

b) Give an account on swine fly.

c) Explain need of planning and management of environment.

Q4) Write the answers to the following questions in 300 words (any one). [20]

a) What is earthquake? Explain causes and effects of earthquake.

b) Explain causes and effects of global warming in detail.


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Total No. of Questions : 4]

[6301]-221
S.Y.B.A.

GEOGRAPHY
CC - 1D Gg 201 (B) : Environmental Geography - II

(2019 CBCS Pattern) (Semester - IV) (24204)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]
A) ‘mZd{Z‘uV AmnÎmrMr H$moUVohr XmoZ CXmhaUo {bhm?
~) Z¡g{J©H$ AmnÎmr åhUOo H$m¶?
H$) nyamMr ì¶m»¶m {bhm.

S>) H$moUVohr XmoZ h[aV J¥h dm¶wMr Zmdo {bhm?
B) OmJ{VH$ Vmn‘mZ dmT>rMo H$moUVohr XmoZ nwamdo {bhm?

’$) AmoPmoZj¶mMo XmoZ n[aUm‘ {bhm.

¶) n¶m©daUr¶ ì¶dñWmnZmMr ì¶m»¶m {bhm.

a) n¶m©daU {Z¶moOZmMr ì¶m»¶m {bhm.
b) dÝ¶Ord g§ajU H$m¶Xm H$Yr H$aÊ¶mV Ambm?

d) n¶m©daU g§ajU H$m¶X²¶mMr XmoZ C{Ôï>ço {bhm.

à.à.à.à.à.2) Imbrb àíZm§Mr àË¶oH$s 50 eãXm§V {Q>nm {bhm. (H$moUË¶mhr VrZ) [18]
A) "nya' ì¶dñWmnZ

~) amgm¶{ZH$ IVm§Mo à^md
H$) Amåb nÁ¶©ZmMo n[aUm‘
S>) n¶m©daUr¶ YmoaUo
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à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) nyamMr H$maUo d n[aUm‘ ñnï> H$am.

~) "ñdmB©Z âby' ¶mda d¥ÎmmÝV {bhm.

H$) n¶m©daUr¶ {Z¶moOZ d ì¶dñWmnZmMr JaO ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXm§V CÎmao {bhm. (H$moUVmhr EH$) [20]

A) ŷH§$n åhUOo H$m¶? ŷH§$nmMr H$maUo d n[aUm‘ ñnï> H$am.

~) OmJ{VH$ Vmn‘mZ dmT>rMr H$maUo d n[aUm‘ g{dñVa ñnï> H$am.


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GEOGRAPHY
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Instructions to the candidate:
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3) Draw neat labelled diagrams wherever necessary.
4) Use of map stendis is allowed.
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SEAT No. :

Q1) Write the answers to the following questions about 20 words each (any eight).[16]

a) What is air transportation?

b) What is centralization of industries?

c) What is regional planning?

d) What is droughtprone area?

e) Define national trade.

f) In which states Chhota - Nagpur Industrial Area located?

g) Write major objective of ‘Pradhanmantri Gram Sadak Yojana’.

h) What is sectoral imbalance?

i) When and in which state Tata steel Company was established?

j) Write the full form of ‘MGNREGA’.

Q2) Write a short notes in about 50 words each (any three). [18]

a) Water transportation

b) Factors affecting on location of industries

c) Indices of rural development

d) Integrated rural development schemes

P.T.O.
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Q3) Write the answers to the following questions in 100 words each (any two).
[16]

a) Describe Mumbai - Pune Industrial region.

b) Explain the geographic factors that create regional imbalance.

c) Write information about Droughprone Area program.

Q4) Write the answers to the following question in 300 words each (any one). [20]

a) Evaluate India’s International Trade by explaining the basic elements of
international trade.

b) Explain characteristics of regional planning.


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Total No. of Questions : 4]

[6301]-222
S.Y.B.A.

GEOGRAPHY
CC-2D GG 201 (B) : Economic Geography - II
(2019 Pattern) (CBCS) (Semester - IV) (24205)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) Imbrb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]
A) hdmB© dmhVwH$ åhUOo H$m¶?
~) CÚmoJY§X²¶mMo H|$ÐrH$aU åhUOo H$m¶?
H$) àmXo{eH$ {Z¶moOZ åhUOo H$m¶?

S>) Adf©UàdU joÌ åhUOo H$m¶?
B) amï´>r¶ ì¶mnmamMr ì¶m»¶m {bhm.

’$) N>moQ>m ZmJnya Am¡Úmo{JH$ àXoe H$moUË¶m amÁ¶m§‘Ü¶o Amho?

¶) àYmZ‘§Ìr J«m‘ gS>H$ ¶moOZoMm ‘w»¶ CX²Xoe {bhm.
a) {d^mJr¶ Ag§VwbZ åhUOo H$m¶?
b) Q>mQ>m ñQ>rb H§$nZr H|$ìhm Am{U H$moUË¶m amÁ¶mV ñWmnZ Pmbr?

d) ‘ZaoJm (MGNREGA) Mo nyU© ê$n {bhm.

à.à.à.à.à.2) àË¶oH$s 50 eãXm§V {Q>nm {bhm. (H$moUË¶mhr VrZ) [18]
A) ObdmhVwH$

~) CX²¶moJY§X²¶mÀ¶m ñWm{ZH$sH$aUmda n[aUm‘ H$aUmao KQ>H$
H$) J«m‘rU {dH$mgmMo {ZX}em§H$
S>) EH$mpË‘H$ J«m‘rU {dH$mg ¶moOZm
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à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) ‘w§~B©-nwUo Am¡Úmo{JH$ àXoemMo dU©Z H$am.

~) àmXo{eH$ Ag§VwbZ {Z‘m©U H$aUmao ^m¡Jmo{bH$ KQ>H$ ñnï> H$am.

H$) Adf©UàdU joÌ H$m¶©H«$‘mMr ‘m{hVr {bhm.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXm§V CÎmao {bhm. (H$moUVmhr EH$) [20]

A) Am§Vaamï´>r¶ ì¶mnmamMo AmYma ŷV KQ>H$ gm§JyZ ^maVmÀ¶m Am§Vaamï´>r¶ ì¶mnmamMo ‘yë¶‘mnZ H$am.

~) àmXo{eH$ {Z¶moOZmMr C{Ôï>o ñnï> H$am.


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[6301]-223
S.Y.B.A.

PUBLIC ADMINISTRATION
CC - 1 D : District Administration
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Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
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PC798 [Total No. of Pages : 4
SEAT No. :

Q1) Write any eight of the following questions (20 words) [16]

a) What is district consumer court?

b) What is the head of district police administration called?

c) What is the meaning of L.C.B.?

d) State two function of Police Patil.

e) What is district jail?

f) Write the full form of DSP.

g) State the two function of Taluka court.

h) State two problems of district Jail.

i) Under whom does Police Patil work?

j) Under whom does the Taluka court function?

Q2) Write any four of the following questions (50 words). [16]

a) Structure of Taluka court.

b) Composition of district session court.

c) Police Patil.

d) Importance of police administration.

e) District rural development agency.

f) Structure of district jail.

P.T.O.
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Q3) Write any three of the following questions (100 words) [18]

a) Explain the problem of district jail administration.

b) State the types of district disaster management.

c) Explain the police administration and general citizen relations.

d) State the problem and reforms facing the district court.

Q4) Write any two of the following questions (200 words). [20]

a) Explain the composition and functions of district court.

b) State the powers and functions of district superitendent of police.

c) Explain the powers and function of Police Patil.


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Total No. of Questions : 4]

[6301]-223
S.Y.B.A.

PUBLIC ADMINISTRATION
CC - 1 D : District Administration

(2019 Pattern) (Semester - IV) (CBCS) (24443)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXm§V>) [16]
A) {Oëhm J«mhH$ Ý¶m¶mb¶ åhUOo H$m¶?

~) {Oëhm nmo{bg àemgZ à‘wImg H$m¶ åhUVmV?

H$) L.C.B. Mm AW© H$m¶?

S>) nmo{bg nmQ>bmMr XmoZ H$m¶© gm§Jm.

B) {Oëhm H$mamJ¥h åhUOo H$m¶?

’$) D.S.P. Mo nyU© ê$n {bhm.

¶) VmbwH$m Ý¶m¶mb¶mMr XmoZ H$m¶© gm§Jm.

a) {Oëhm H$mamJ¥hmÀ¶m XmoZ g‘ñ¶m gm§Jm.

b) nmo{bg nmQ>rb H$moUmÀ¶m A§VJ©V H$m¶© H$aVmo?

d) VmbwH$m Ý¶m¶mb¶ H$moUmÀ¶m A§VJ©V H$m¶© H$aVo?

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr Mma àíZm§Mr CÎmao {bhm. (50 eãXm§V>) [16]
A) VmbwH$m Ý¶m¶mb¶mMr aMZm

~) {Oëhm gÌ Ý¶m¶mb¶mMr aMZm

H$) nmo{bg nmQ>rb

S>) nmo{bg àemgZmMo ‘hÎd

B) {Oëhm J«m{‘U {dH$mg g§ñWm

’$) {Oëhm H$mamJ¥hmMr aMZm
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à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao {bhm. (100 eãXm§V) [18]

A) {Oëhm H$mamJ¥h àemgZmÀ¶m g‘ñ¶m ñnï> H$am.

~) {Oëhm AmnÎmr ì¶dñWmnZmMo àH$ma gm§Jm.

H$) nmo{bg àemgZ Am{U gm‘mÝ¶ ZmJ[aH$ g§~§Y ñnï> H$am.

S>) {Oëhm Ý¶m¶mb¶mg‘moarb g‘ñ¶m Am{U gwYmaUm gm§Jm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao {bhm. (200 eãXm§V) [20]

A) {Oëhm Ý¶m¶mb¶mMr aMZm Am{U H$m¶© ñnï> H$am.

~) {Oëhm nmo{bg A{YjH$mMo A{YH$ma d H$m¶© gm§Jm.

H$) nmo{bg nmQ>bmMo A{YH$ma d H$m¶© ñnï> H$am.


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[6301]-224
S.Y. B.A.
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PC799 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the following questions in 100 words each (Any 4) [20]
a) What is Positive Psychology?
b) Explain the marital status and happiness.
c) Explain the relation of Positive Emotion & Mental Health.
d) Explain the relation of materialism and its discontents.
e) What is traditional Psychology?
f) Describe human virtues.

Q2) Answer the following questions in 200 words each (any 2) [20]
a) Explain the various concepts of Logo Theraphy.
b) Explain ferdrickson’s Broaden & Build Theory of positive emotions.
c) Explain in detail about Nun’s study.
d) Explain the correlation of happyness and different stages of life.

Q3) Answer the following question in 400 words each (any 1) [20]
a) What is Resilience? Explain the perspectives of Resilience and Resilience

Research.
b) Explain various fields of positive Psychology.

Q4) Write short notes (any 2) [10]
a) Money and Happyness.
b) Growth through Trauma.
c) Positive emotions and savoring.
d) Logotherapy - Basic Concepts.


P.T.O.
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Total No. of Questions : 4]

[6301]-224
S.Y. B.A.

PSYCHOLOGY
SEC-1B : Positive Psychology

(2019 Credit Pattern) (CBCS) (Semester - IV) (24223)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr Mma) [20]
A) gH$mamË‘H$ ‘mZgemñÌ åhUOo$ H$m¶?
~) d¡dm{hH$ pñWVr Am{U AmZ§X ñnîQ> H$am.
H$) gH$mamË‘H$ ^mdZm Am{U ‘mZ{gH$ Amamo½¶ g§~§Y ñnï> H$am.
S>) ^m¡{VH$dmX Am{U Ag‘mYmZ g§~§Y ñnîQ> H$am.
B) nma§nm[aH$ ‘mZgemñÌ åhUOo H$m¶?
’$) ‘mZdr gX²JwU {deX H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãX§mV CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) bmoJmo Woanr‘Yrb {d{dY g§H$ënZm gm§Jm.
~) gH$mamË‘H$ ^mdZm Am{U ’«o$S>[aH²$gZ ¶m§Mr {dñVma ~m§YUr CnnÎmr ñnï> H$am.
H$) H°$Wo{bH$ Zg©Mm Aä¶mg ñnï> H$am.
S>) AmZ§X Am{U OrdZmVrb {d{dY Q>ßß¶m§Mm ghg§~§Y ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$s EH$m àíZmMo CÎma 400 eãXm§V {bhm. [20]
A) "pñW{VñWmnH$Ëd' åhUOo H$m¶? pñW{V ñWmnH$ËdmMo Ñ{ï>H$moZ ñnï> H$am Am{U g§emoYZmMm AmT>mdm {bhm.
~) gH$mamË‘H$ ‘mZgemñÌmMr {d{dY joÌo g{dñVa ñnï> H$am.

à.à.à.à.à.4) Q>rnm {bhm. (H$moUVohr XmoZ) [10]
A) Am{W©H$ gw~Îmm Am{U AmZ§X
~) AmKmV níMmV {dH$mg
H$) gH$mamË‘H$ ^mdZm Am{U AmñdmX
S>) bmoJmo Woanr-‘w»¶ g§H$ënZm


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[6301]-225
S.Y. B.A.

GANDHIAN THOUGHT
CC-2D : Gandhian Thought and Contemporary Problems

(CBCS 2019 Pattern) (Semester - IV) (24233) (General Paper - II)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC800 [Total No. of Pages : 2
SEAT No. :

Q1) Answer any three of the following questions in 100 words each. [15]
a) According to Gandhiji briefly state the relationship between man and

nature.
b) Briefly explain Gandhiji’s poverty problems.
c) Briefly explain Gandhiji’s idea of Religion.
d) Briefly state that Gandhiji’s thought of Removal Untouchability.
e) Explain Gandhiji’s concept of social restructuring.

Q2) Answer any two of the following questions in 200 words each. [20]
a) Explain Gandhiji’s ideas on science and technology.
b) Explain the concept of human values (Ekadasha Vratta) in Gandhian

thought.
c) Explain Gandhiji’s concept of Varnashram.
d) Describe the problems caused by industralization according to Gandhiji.

Q3) Write short notes in 100 words each. (any three) [15]
a) Concepts of trusteeship.
b) Prohibition of liquor
c) Alienation
d) Adult education
e) Over population and discrimination.

Q4) Answer any one of the following question in 400 words each. [20]
a) State Gandhiji’s views on the status and role of women in society.
b) Discuss in detail Gandhiji’s constructive program of theory and practice.



P.T.O.



2[6301]-225

Total No. of Questions : 4]

[6301]-225
S.Y. B.A.

GANDHIAN THOUGHT
CC-2D : Gandhian Thought and Contemporary Problems

(CBCS 2019 Pattern) (Semester - IV) (24233) (General Paper - II)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 100 eãXmV {bhm. [15]
A) Jm§YrOtZm AZwgê$Z ‘mZd d {ZgJ© g§~§Y WmoS>³¶mV gm§Jm.
~) Jm§YrOtMr Xm[aÐ g‘ñ¶m WmoS>³¶mV {deX H$am.
H$) Jm§YrOtMm Y‘© {df¶H$ Ñï>rH$moZ WmoS>³¶mV ñnï> H$am.
S>) Jm§YrOtMo "Añn¥í¶Vm-{Z‘©ybZ' {dMma WmoS>³¶mV gm§Jm.
B) Jm§YrOtMr gm‘m{OH$ nwZa©MZoMr g§H$ënZm {deX H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 200 eãXmV {bhm. [20]
A) Jm§YrOtMo {dkmZ Am{U V§ÌkmZ {df¶H$ {dMma ñnîQ> H$am.
~) Jm§Yr {dMmamVrb ‘mZdr ‘yë¶ (EH$mXe d«V) {dMma ñnï> H$am.
H$) Jm§YrOtMm dUm©l‘ Ñï>rH$moZ {deX H$am.
S>) Jm§YrOtZm AZwgê$Z Am¡ÚmoJrH$aUm‘wio {Z‘m©U hmoUmè¶m g‘ñ¶m§Mo dU©Z H$am.

à.à.à.à.à.3) {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]
A) {dídñV g§H$ënZm
~) ‘ÚnmZ ~§Xr
H$) namË‘Vm
S>) àm¡T> {ejU {dMma
B) bmoH$g§»¶m {dñ’$moQ> Am{U n[aUm‘

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 400 eãXmV {bhm. [20]
A) {ñÌ¶m§Mr g‘mOmVrb XOm© Am{U ŷ{‘H$m {df¶r Jm§YrOtMo {dMma gm§Jm.
~) Jm§YrOtÀ¶m {gÕm§V Am{U ì¶dhma {df¶H$ aMZmË‘H$ H$m¶©H«$‘mMr g{dñVa MMm© H$am.



PC800



Total No. of Questions : 4]

[6301]-226
S.Y. B.A.
YOGA

G-2, CC-1D : Yog Vidya - IV
(2019 Pattern) (CBCS) (Semester - IV) (24243)

Time : 2½ Hours] [Max. Marks : 50
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC801 [Total No. of Pages : 2
SEAT No. :

Q1) Answer any five of the following questions in one sentence. [5]
a) What is another name for Ashtangyog?
b) What is Kapalbhati?
c) State the names of Ashtkumbhaka?
d) State the names of Panchklesha?
e) State the definition of health?
f) What is Yoga?
g) What is the standard text in yoga?

Q2) Write the short note (Any two) [10]
a) Pachhimottanasana
b) Kapalabhati
c) Pranayama

Q3) Answer any two of the following questions in 150 words. [20]
a) Explain the importance and uses of yoga?
b) Explain the types and importance of Shuddhikriya?
c) Explain the types and importance of Asana?

Q4) Answer any one of the following question in detail. [15]
a) Explain the role of yoga in the educational process.
b) Summarize the book Yogasangram?



P.T.O.
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Total No. of Questions : 4]

[6301]-226
S.Y. B.A.
YOGA

G-2, CC-1D : Yog Vidya - IV
(2019 Pattern) (CBCS) (Semester - IV) (24243)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 50
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr nmM àíZm§Mr EH$m dm³¶mV CÎmao Úm. [5]
A) Að>m§J¶moJmMo Xÿgao Zmd H$m¶?
~) H$nmb^mVr H$m¶ Amho?
H$) Að>Hw$å §̂H$mMr Zmdo gm§Jm.
S>) n§M³bofm§Mr Zmdo gm§Jm.
B) Aamo½¶mMr ì¶m»¶m gm§Jm.
’$) ¶moJ åhUOo H$m¶?
¶) ¶moJmdarb à‘mU ŷV J«§W H$moUVm?

à.à.à.à.à.2) {Q>nm Úm. (H$moUVohr XmoZ) [10]
A) npíM‘moÎmmZmgZ
~) H$nmb^mVr
H$) àmUm¶m‘

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr 150 eãXm§V CÎmao Úm. [20]
A) ¶moJmMo ‘hËd Am{U Cn¶moJ ñnï> H$am.
~) ew{Õ{H«$¶m§Mo àH$ma Am{U ‘hÎd gm§Jm.
H$) AmgZm§Mo àH$ma Am{U ‘hËd gm§Jm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo g{dñVa CÎma Úm. [15]
A) e¡j{UH$ à{H«$¶oV ¶moJmMr ŷ{‘H$m ñnîQ> H$am.
~) ¶moJ g§J«m‘ ¶m J«§WmMm gmam§e ñnï> H$am.



PC801



Total No. of Questions : 4]

[6301]-227
S.Y.B.A.

HISTORY OF CIVILIZATION
CC -1D : Cultural History of Maharashtra and Heritage

(Maratha period)
 (2019 Pattern) (CBCS) (Semester- IV) (24253)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC802 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the following questions in 300 words each. (Any One) [15]
a) Explain the History of Marathi language.

OR
b) Explain the Social life during Maratha period.

Q2) Answer the following questions in 300 words each. (Any One) [15]
a) Explain the festival in Maratha period.

OR
b) Write the information about Balutedari system.

Q3) Answer the following questions in 200 words each. (Any Two) [20]
a) Write the reasons of maratha period.
b) Explain women’s life during peshwa period.
c) Explain the cave Architecure in Maharashra.
d) Explain the Economic life in Maratha period.

Q4) Write short notes. (Any four) [20]
a) Concept of Maharashtra Dharm
b) Patil and Kulkarni
c) Quarter
d) Alutedar
e) Forts Architecture in Maharashtra
f) Agricutural life in Maharashtra

… … …

P.T.O.
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Total No. of Questions : 4]

[6301]-227
S.Y.B.A.

HISTORY OF CIVILIZATION
CC -1D : Cultural History of Maharashtra and Heritage

(Maratha period)
 (2019 Pattern) (CBCS) (Semester- IV) (24253)

(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©dVmV.

PC802

à.à.à.à.à.1) Imbrb àíZm§Mo 300 eãXmV CÎmao {bhm. (H$moUVohr EH$ ) [15]
A) ‘amR>r ^mfoMm B{Vhmg ñnï> H$am.

qH$dm
~) ‘amR>m H$mbI§S>mVrb g‘mO OrdZ ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mo 300 eãXmV CÎmao {bhm. (H$moUVohr EH$) [15]
A) ‘amR>r H$mbrZ gU d CËgd ¶m§Mr ‘m{hVr {bhm.

qH$dm
~) ~bwVoXmar nÕV d ~bwVoXma ¶m§Mr ‘m{hVr {bhm.

à.à.à.à.à.3) Imbrb àíZm§Mo 200 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) ‘amR>r gÎmoÀ¶m CX¶mMr H$maUo {bhm.
~) noedoH$mbrZ ór OrdZ ñnï> H$am.
H$) ‘hmamï´>mVrb boUr ñWmnË¶ {bhm.
S>) ‘amR>m H$mbI§S>mVrb Am{W©H$ OrdZ ñnï> H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr Mma) [20]
A) ‘hmamï´> Y‘©
~) nmQ>rb, Hw$bH$Uu
H$) Mm¡WmB©
S>) AmbwVoXma
B) ‘hmamï´>mVrb XþJ© ñWmnË¶

’$) ‘amR>m H$mbrZ H¥$fr OrdZ

… … …



Total No. of Questions : 4]

[6301]-228
S.Y.B.A.

HOME ECONOMICS
CC-1D - G2 : Indian Family Welfare

 (2019 Pattern) (CBCS) (Semester- IV) (24263)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Diagrams must be drawn wherever necessary.
3) Figures to the right indicate full marks.

PC803 [Total No. of Pages : 4
SEAT No. :

Q1) Write the answers to the following questions in 20 words each. (Any Eight)[16]
a) Definition of the marriage.
b) Explain the classification of marriage.
c) Describe the types of marriage that depends on the number of spouses.
d) Marriage is one of the sixteen rites in Hinduism.
e) What is Family organization?
f) State two consequences of family break up.
g) What is the final stage of family break up?
h) What is Family welfare?
i) According to which section Free and compulsory education is given to

children below 14 years?
j) When was the Hindu Marriage Act enacted?

Q2) Write the answer to the following questions in 50 words each. (Any four)[16]
a) Explain the concept of marriage institution in India.
b) Explain the types of marriages based on relationship.
c) Explain the Nature of Family Organization.
d) Explain the concept of ‘Family Organization’.
e) Explain the constitutional provisions regarding child welfare.
f) Explain the concept of ‘Family Welfare’.

P.T.O.



2[6301]-228

Q3) Write the answers to the following questions in 150 words each. (Any three)[18]

a) Explain the nature of marriage institution in Indian society.

b) Explain the reasons for family break up.

c) Explain the importance of family welfare.

d) Explain the various problems of women in India.

Q4) Write the answers to the following questions in 300 words each. (Any two)[20]

a) Explain the different types of marriage.

b) Explain the Features of Social stratification.

c) Explain in detail the services provided by the government for child
welfare.

… … …
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Total No. of Questions : 4]

[6301]-228
S.Y.B.A.

HOME ECONOMICS
CC-1D - G2 : Indian Family Welfare

 (2019 Pattern) (CBCS) (Semester- IV) (24263)

(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
3) COdrH$S>rb A§H$ nyU© JwU Xe©dVmV.
4) g§X^m©gmR>r B§J«Or àíZn{ÌH$m nhmdr.

PC803

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 20 eãXm§V {bhm. (H$moUVohr AmR>) [16]

A) {ddmhmMr ì¶m»¶m Xçm.

~) {ddmhmMo dJuH$aU gm§Jm.

H$) OmoS>rXmamÀ¶m g§»¶odê$Z nS>Umao {ddmhmMo àH$ma gm§Jm.

S>) {ddmh hm qhXþ Y‘m©Vrb gmoim g§ñH$mamn¡H$s {H$Vdm g§ñH$ma Amho?

B) Hw$Qy>§~ g§KQ>Z åhUOo H$m¶?

’$)  Hw$Qw>§~ {dKQ>ZmMo XmoZ n[aUm‘ gm§Jm.

¶) Hw$Qy>§~ {dKQ>ZmMr A§{V‘ AdñWm H$moUVr Amho?

a) Hw$Qy>§~ H$ë¶mU åhUOo H$m¶?

b) H$moUË¶m H$b‘mZwgma 14 dfm©Imbrb ~mbH$m§Zm ‘mo’$V d gº$sMo {ejU {Xbo OmVo?

d) qhXÿ {ddmh H$m¶Xm H|$ìhm H$aÊ¶mV Ambm?
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à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 50 eãXmV {bhm. (H$moUVohr Mma) [16]

A) ^maVmVrb {ddmh g§ñWoMr g§H$ënZm ñnï> H$am.

~) ZmVog§~§YmÀ¶m AmYmao AgUmao {ddmhmMo àH$ma ñnï> H$am.

H$) Hw$Qy>§~ g§KQ>ZmMo ñdê$n ñnï> H$am.

S>) Hw$Qy>§~ g§KQ>Z g§H$ënZm ñnï> H$am.

B) ~mb H$ë¶mUmg§X^m©V Ho$boë¶m KQ>ZmË‘H$ VaVwXr ñnï> H$am.

’$) Hw$Qy>§~ H$ë¶mU g§H$ënZm ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 150 eãXm§V {bhm. (H$moUVohr VrZ) [18]

A) ^maVr¶ g‘mOmVrb {ddmh g§ñWoMo ñdê$n ñnï> H$am.

~) Hw$Qy>§~ {dKQ>ZmMr H$maUo ñnï> H$am.

H$) Hw$Qy>§~ H$ë¶mUmMo ‘hÎd ñnï> H$am.

S>) ^maVmVrb {ó¶m§À¶m {d{dY g‘ñ¶m ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) {ddmhmMo {d{dY àH$ma ñnï> H$am.

~) gm‘m{OH$ ñVarH$aUmMr  d¡{eîQ>ço ñnï> H$am.

H$) ~mb H$ë¶mUmgmR>r gaH$maH$Sy>Z nwa{dë¶m OmUmè¶m godm g{dñVa {deX H$am.

… … …



Total No. of Questions : 4]

[6301]-229
S.Y.B.A.

DEFENCE & STRATEGIC STUDIES
CC - 1D, G-2 : Chhatrapati Shivaji’s Maharaj Military System

 (2019 Pattern) (CBCS) (Semester- IV) (24273)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC804 [Total No. of Pages : 4
SEAT No. :

Q1) Answer the following questions in 100 words each. (Any Three) [15]

a) Explain the Chhatrapati Shivaji Maharaj’s Policy regarding armor.

b) Explain the naval policy of Chhatrapati Shivaji Maharaj.

c) What is a fort?

d) What are the Characteristics of the fort system of Chhatrapati Shivaji
Maharaj?

e) Explain the strategy of Chhatrapati Shivaji Maharaj.

Q2) Answer the following questions in 300 words each. (Any one) [15]

a) Explain the organization of forts under the leadership of Chhatrapati Shivaji
Maharaj.

b) Explain the principles of guerrilla warfare.

P.T.O.
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Q3) Answers the following questions in 200 words each. (Any Two) [20]

a) Explain the organization and structure of the Maratha army under the
leadership of Chhatrapati Shivaji Maharaj.

b) Explain the Chhatrapati Shivaji Maharaj Father of Indian Navy.

c) Explain the vision of Chhatrapati Shivaji Maharaj in naval development.

d) Explain the Characteristics of guerrilla warfare.

Q4) Write Short notes. (Any Four) [20]

a) Characteristics of the military system of Chhatrapati Shivaji Maharaj

b) Guerrilla warfare

c) Strategic importance of forts

d) Types of forts

e) Importance of sea forts in the time of Chhatrapati Shivaji Maharaj

f) Cavalry

… … …
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Total No. of Questions : 4]

[6301]-229
S.Y.B.A.

DEFENCE & STRATEGIC STUDIES
CC - 1D, G-2 : Chhatrapati Shivaji’s Maharaj Military System

 (2019 Pattern) (CBCS) (Semester- IV) (24273)

(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

PC804

à.à.à.à.à.1) Imbrb àýmMr CÎmao àË¶oH$s 100 eãXm§V {bhm. (H$moUVohr VrZ) [15]

A) N>ÌnVr {edmOr ‘hmamOm§Mo Ama‘mam~m~VMo YmoaU ñnï> H$am.

~) N>ÌnVr {edmOr ‘hmamOm§Mo Zm{dH$ YmoaU ñnï> H$am.

H$) {H$„o åhUOo H$m¶?

S>) N>ÌnVr {edmOr ‘hmamOm§À¶m {H$„m ì¶dñWoMr d¡{eîQ>ço H$moUVr?

B)  N>ÌnVr {edmOr ‘hmamOm§Mr ¶wÕZrVr ñnï> H$am.

à.à.à.à.à.2) Imbrb àýmMr CÎmao àË¶oH$s 300 eãXm§V {bhm. (H$moUVohr EH$) [15]

A) N>ÌnVr {edmOr ‘hmamOm§À¶m ZoV¥ËdmImbrb {H$„¶m§Mr g§KQ>Zm ñnï> H$am.

~) J{Z‘r H$mdm ¶wÕnÕVrMo VÎdo ñnï> H$am.
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à.à.à.à.à.3) Imbrb àýmMr CÎmao àË¶oH$s 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) N>ÌnVr {edmOr ‘hmamOm§À¶m ZoV¥ËdmImbrb ‘amR>m g¡Ý¶mMo g§KQ>Z d g¡Ý¶mMr aMZm {deX H$am.

~) N>ÌnVr {edmOr ‘hmamO ^maVr¶ Zm¡XbmMo OZH$ ñnï> H$am.

H$) Zm¡Xb {dH$mgmVrb N>ÌnVr {edmOr ‘hmamOm§Mr XÿaÑï>r gm§Jm.

S>) J{Z‘r H$mdm ¶wÕnÕVrMo d¡{eîQ>ço ñnï> H$am.

à.à.à.à.à.4) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr Mma) [20]

A) N>ÌnVr {edmOr ‘hmamOm§À¶m bîH$ar ì¶dñWoMr d¡{eîQ>ço

~) J{Z‘r ¶wÕV§Ì

H$) {H$ë¶m§Mo gm‘[aH$ ‘hÎd

S>) {H$„¶m§Mo àH$ma

B) N>ÌnVr {edmOr ‘hmamOm§À¶m H$mimVrb gmJar {H$ë¶m§Mo ‘hËd

’$) KmoS>Xb

… … …



Total No. of Questions : 5]

[6301]-230
S.Y.B.A.

SOCIAL WORK
CC - 1D : Population Education

 (2019 Pattern) (CBCS) (Semester- IV) (24433)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Diagrams must be drawn wherever necessary.
3) Figures to the right indicate full marks.

PC805 [Total No. of Pages : 4
SEAT No. :

Q1) Answer any one question in 500 words from the following. [14]

Define the concept of Population Education? and elaborate role and
functioning of various personnel in Population Education.

OR

Discuss Scope of population education in Developmental Countries,
especially in India.

Q2) Answer any one question in 500 words from the following. [14]

Discuss Millennium Ecosystem Assessment in Population control.

OR

Discuss how social science theories of fertility decline in the formulation of
policies and programs aimed at the reduction of high birth rates?

P.T.O.
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Q3) Answer any one question in 500 words from the following. [14]

Discuss the libertarian approach.

OR

Discuss Features of Indian population policy in detail.

Q4) Answer any one question in 500 words from the following [14]

Discuss various Issues in population Education.

OR

Discuss How Sex Education and Family life Education plays role in Popula-
tion Education.

Q5) Write short notes on any two of the following. [14]

a) Migration and Population

b) Literacy and Population

c) Methods of Contraception

d) Contribution of Dr. MS Swaminathan and Group in Population Policy.

… … …
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Total No. of Questions : 5]

[6301]-230
S.Y.B.A.

SOCIAL WORK
CC - 1D : Population Education

 (2019 Pattern) (CBCS) (Semester- IV) (24433)

(‘amR>r ê$nm§Va)
doi : 2½  Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©dVmV.
3) Amdí¶H$ VoWo AmH¥$Ë¶m H$mT>m.

PC805

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr EH$m àýmMo g{dñVa 500 eãXmV CÎma {bhm. [14]

bmoH$g§»¶m {ejUmMr g§H$ënZm n[a^m{fV H$am. Am{U bmoH$g§»¶m {ejUmVrb {d{dY
KQ>H$m§À¶m/ì¶º$s¨À¶m {dñV¥V ŷ{‘H$m Am{U H$m¶©nÕVr ñnï> H$am.

qH$dm

{dH$gZerb Xoem§‘Ü¶o, {deofV… ^maVmV bmoH$g§»¶m {ejUmÀ¶m ì¶márda MMm© H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr EH$m àýmMo g{dñVa 500 eãXmV CÎma {bhm. [14]

bmoH$g§»¶m {Z¶§ÌUmVrb {‘bo{Z¶‘ BH$mo{gñQ>‘ ‘yë¶m§H$Zmda MMm© H$am.

qH$dm

Cƒ OÝ‘Xa H$‘r H$aÊ¶mÀ¶m CÔoemZo YmoaUo Am{U H$m¶©H«$‘ V¶ma H$aVmZm àOZZj‘VoMo gm‘m{OH$
{dkmZ {gÕm§V H$go H$‘r hmoVmV ¶mda MMm© H$am?

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr EH$m àýmMo g{dñVa 500 eãXmV CÎma {bhm. [14]

CXma‘VdmXr Ñ{ï>H$moZmMr MMm© H$am.

qH$dm

^maVr¶ bmoH$g§»¶m YmoaUmÀ¶m d¡{eîQ>çm§da g{dñVa MMm© H$am.
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à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àýmMo g{dñVa 500 eãXmV CÎma {bhm. [14]

bmoH$g§»¶m {ejUmVrb {d{dY g‘ñ¶m§da/‘wX²Úm§da MMm© H$am.

qH$dm

bmoH$g§»¶m {ejUmV b¢qJH$ {ejU Am{U H$m¡Q>§w{~H$ OrdZ {ejU H$go ŷ{‘H$m ~OmdVo ¶mda MMm©
H$am?

à.à.à.à.à.5) nwT>rbn¡H$s H$moUË¶mhr XmoZ àým§Mr WmoS>³¶mV CÎmao {bhm. [14]

A) ñWbm§Va Am{U bmoH$g§»¶m

~) gmjaVm Am{U bmoH$g§»¶m

H$) J ©̂{ZamoYH$ nÕVr

S>) bmoH$g§»¶m YmoaUmVrb S>m°. E‘. Eg. ñdm{‘ZmWZ Am{U JQ>mMo ¶moJXmZ

… … …
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Q1) A) Multiple choice questions. [7]
a) Sub-division of ______ is known as subsidiary books.

i) Journal ii) Ledger
iii) Transaction iv) Purchase book

b) _____ is a statement at asset and liabilities.
i) Ledger ii) Trial Balance
iii) Journal iv) Balance sheet

c) Depreciation means gradual and continuous______ in value of asset.
i) Decrease ii) Increase
iii) Addition iv) None of the above

d) ______ is used to record Petty or small transactions.
i) Cash book ii) Peety cash book
iii) Two column cash book iv) None of the above

e) Contra entry is denoted by the capital letter ______ in the L.F.
column.
i) Cr ii) L
iii) C iv) F

f) _______ accounting system save time.
i) Traditional ii) Computerized
iii) Software iv) Modern

g) ______ cash book records transactions relating to cash and bank.
i) Simple ii) Petty
iii) Double column iv) All of the above

P.T.O.
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B) State True or False. [7]
a) Journal is a book of original entry.
b) Depreciation is charged on all type of asset.
c) Profit and loss account is prepared to find out net working results

of a business concern.
d) F4 is used for payment voucher.
e) In every adjustment atleast there are three effect.
f) Cash sales are entered in sales journal.
g) Credit balance of profit & loss A/c shows net profit.

Q2) Write answer of the question in 1 or 2 sentence. [14]
a) What is credit note?
b) Define depreciation.
c) What is balance sheet?
d) What is net loss?
e) What do you mean by current account?
f) Define the term insurance.
g) What is trial balance?

Q3) Record the following transactions in the simple cash book of Mr. Pathak.[12]
2022
June 1 Opening cash balance Rs. 10,000.

2 Cash sales Rs. 3,000.
3 Cash of Rs. 2,000 brought in business, as more funds are required
5 Cash purchase of Rs. 6,000.
7 Salary of Rs. 1,000 & brokerage of Rs. 1,500 paid by cash.
9 Goods of Rs. 5,000 purchase from Dinesh by cash.
11 Goods of Rs. 6,000 sold to Mansi for cash.
19 Rs. 3,000 paid to Nita for goods purchased in the previous month.
23 Kanjilal paid Rs. 1,500 for goods sold to him in the previous

month.
25 Rs. 1,000 received towards commission.

OR
What do you mean by accounting voucher? Explain types of voucher.



3[6301]-231

Q4) What are the various accounting softwares? Explain importance of accounting
software in 21st century. [20]

OR
Prepare final account of Paresh from the following information for the year
ended on 31st March, 2022 and balance sheet as on that date. [20]

Trial Balance as on 31st March 2022.
Debit Balance Amount Credit Balance Amount

(Rs.) (Rs.)
Opening stock 20,000 Sales 77,360
Wages 2,000 Purchase return 800
Purchases 54,800 Dividend received 9,600
Sales return 1,360 Commission 5,070
Drawings 4,000 Capital 1,60,000
Discount allow 470 Sundry creditors 50,000
Rent paid 600 8% loan taken from
Advertisement expense 5,000 Pradhan (Dt.1-7-2021) 27,400
Travelling expense 2,000
Bad debts 1,000
Office expenses 1,000
Carriage onward 1,000
Motor car 60,000
Cash and Bank balance 6,000
Bills Receivable 40,000
Machinery 60,000
Sundry debtors 71,000

3,30,230 3,30,230
Adjustments :
a)  Closing stock is valued at Rs. 56,000.
b) Depreciate motor car by 5% p.a. and Machinery by 7% p.a.
c) Outstanding expenses are Rent. Rs. 1,600, Wages Rs. 2,000.
d) Create a provision of doubtful debts on sundry debtors at 5%.
e) Goods at Rs. 8,000 withdrawn by owner for personal use.
f) Calculate interest on capital @ 3% p.a.

Q5) Write short notes : (Any 2) [10]
a) Importance of trial balance
b) Tally ERPG
c) Two column cash book
d) Profit and loss account


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Q1) Attempt each of the following:
A) In each of the following cases, choose the correct alternative : [1 Each]

a) The range in which multiple correlation coefficient lies is
i) –1 to 1 ii) 0 to 1
iii) – ∞  to ∞ iv) 0 to ∞

b) The collection of information about each and every individual in a
country is known as
i) Vital statistics ii) Demography
iii) Census iv) Health Survey

c) The time between two successive request arriving is called as
i) Inter arrival time ii) Service time
iii)  Waiting time iv) Ideal time

d) Hypothesis of no difference is called as
i) Simple Hypothesis ii)  Composite Hypothesis
iii)  Alternative Hypothesis iv) Null Hypothesis

e) The multiple correlation coefficient is invariant to the change of
i) Origin ii) Scale
iii) Both Origin and Scale iv) Neither origin nor scale

B) In each of the following, state whether the given statement is true or false:
[1 Each]

a) The null hypothesis is rejected if p-value is less than the level of
significance.

b) If λ = 12 per hour and μ = 18 per hour in M/M/1 model then the
average number of customers in the system is 5.

c) Critical region is a region of acceptance of null hypothesis.
d) Standardized death rates are not useful for comparing the death

rates of two regions.
e) The value of partial correlation coefficient lies between -1 to 1.

P.T.O.
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Q2) Attempt any four of the following : [5 Each]
a) Show that X1.23 is uncorrelated with X2 and X3.

b) With usual notations prove that b
12.3

 = 
12 13 32

23 321

b b b

b b

−
− .

c) Explain M/M/1 : FIFO model .State formula for the average number of
customers in the queue under this model.

d) Interpret the cases for Net Reproductive Rate (N.R.R)
i) N.R.R.> 1
ii) N.R.R. = 1
iii) N.R.R. < 1

e) Define the following terms :
i) Estimate
ii) Estimator
iii) Critical region
iv) Statistic
v) Parameter

f) Describe briefly the large sample test for testing H
0
 : μ

1 
= μ

2
 against

H
1
: μ

1 
≠ μ

2
, where μ

1
 and μ

2
 are the population means from which the

two independent samples are chosen. It is assumed that the population
variances are known.

Q3) Attempt any four of the following. [5 Each]
a) In a tri-variate data the total correlation coefficients are given by r

12
= 0.6,

r
13

 = –0.4, r
23

 = 0.5. Is the data consistent?

b) Derive the expression for multiple correlation coefficient 
1 2Y.X XR  in terms

of total correlation coefficients.
c) Calculate Gross Fertility Rate, Age Specific Fertility Rate and Total Fertility

Rate for the following data

Age Group 15-25 25-35 35-45 45-55

Women Population 1200 1400 1600 1800

Number of births 80 185 46 5

d) Workers come to tool store room to inquire about the special tools for a
particular job .Customers arrive at the store have Poisson distribution
with average rate of 10 customers per hours .The average service time is
15 customers per customer.Find
i) Average queue length.
ii) Expected number of workers in the system.

IO
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e) Explain the following terms

i) Simple Hypothesis.

ii) Composite Hypothesis.

iii) Random sample.

iv) One sided hypothesis.

v) Two sided hypothesis.

f) Two hundred people were attacked by a disease and 180 survived. Can
we say that 95% people survive if they are attacked by this disease.
(Use 5% level of significance)

Q4) Attempt any two of the following [10 Each]
a) i) Derive the equation of least square regression plane of Y on X1

and X2. [6]
ii) Define partial correlation coefficient. If r

12
 = 0.6, r

23
 = 0.5, r

13
 = 0.7

then compute r
12.3

. [4]
b) i) Define residual and state its properties. [5]

ii) Explain the following terms [5]
1) Customer

2) Waiting time.

3) Queue length.

4) Traffic density.

5) Queue discipline.

c) i) Construct 100 (1 – α)% confidence interval for population mean μ
when population variance σ2 is known. [5]

ii) Describe the procedure for testing the hypothesis H
0
 : μ = μ

0
 against

H
1
 : μ > μ

0 
where μ

 
is the population mean by assuming that

population variance is known. [5]
d) i) Explain the procedure for testing H

0
 : P

1
 = P

2
 against H

1
 : P

1
 ≠ P

2
.[5]

ii) Explain the following approaches of testing of hypothesis. [5]
1) Critical region approach.

2) P-value approach.

3) Confidence interval approach.


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Q1) Attempt any three of the following : [15]

a) Define syntax. Discuss its significance as a branch of linguistics.

b) What is a adverb phrase? Explain the structure of a adverb phrase.

c) Explain the types of sentences based on their structure.

d) What is a clause? Explain the parts of clauses.

e) Write a note on the concept of ‘Phrase’.

Q2) Attempt any three from the following : [15]

a) Write a note on complex sentence as a type of sentence.

b) Briefly describe the subject verb concord.

c) Define ‘Homography’ and ‘Homophony’ with suitable example.

d) Write a note on ‘semantics’ and its significance in the language study.

P.T.O.
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Q3) Attempt any four from the following : [20]

a) Describe the types of phrases with suitable example.

b) What is a clause? Explain the parts of clauses.

c) Write a note on denotative and connotative meaning.

d) Define ‘Homography’ and ‘Hyponymy’ with suitable example.

e) Write a note on the difference between synonmy and antonymy. Explain
the terms with suitable example.

Q4) Attempt any four from the following : [20]

a) Define pragmatics and discuss its significance.

b) Write a note on Searle’s typology.

c) Briefly describe speech acts and its types.

d) What is co-operative principle? Explain the maxims of co-operative
principle.

e) Write a note on perlocutionary act.

f) Briefly describe direct and indirect speech act.


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Q1) Attempt each of the following: [5×1=5]

A) Choose the correct alternative for the following:

a) The important characteristic (s) of Bernoulli trials

i) Each trial is associated with just two possible outcomes.

ii) Trials are independent

iii) Trials are infinite

iv) Both (i) and (ii)

b) Parameter is a characteristic of

i) Population ii) Sample

iii) Probability distribution iv) both (i) and (ii)

c) A theoretical probability distribution.

i) does not exist ii) exists only in theory

iii) exists in real life iv) both (ii) and (iii)

d) If X is a degenerate random variable then:

i) E(X2) <[E(X)]2 ii) E(X2)>[E(X)]2

iii) E(X2)=[E(X)]2 iv) None of these

e) Let X
1
 and X

2 
are two independent Poisson variates then the

probability distribution of (X
1
 +X

2
) is:

i) Binomial ii) Poisson

iii) Geometric iv) Bernoulli

P.T.O.
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B) State whether the following statements are true or false: [5×1=5]

a) Variance of constant is zero

b) Expectation of constant is itself constant

c) Mean of Binomial distribution is np

d) Mean and variance of Poisson distribution are not equal

e) If X − P (m)

Q2) Attempt Any Four of the following: [4×5=20]

a) State the Properties of Distribution Function:

b) Define Binomial distribution. If X→ B(nl, pl) obtain its m.g.f.

c) Let x be a random variable such that P(x= –2) =P(x=–l), P(x=2) = P(x=1),

P(x>0) = P(x < 0) = P(x = 0), Obtain the probability mass function of X
& it’s distribution function.

d) Let P(x) is a probability function of a discrete random variable X which
assumes the values x

1
,x

2
,x

3
 and x

4 
such that 2P(x

1
)=3P(x

2
)=P(x

3
)=5P(x

4
)

Find probability function & cumulative distributive function of X.

e) If Y = hX then prove that rthcumulant of Y= hr×(rthcumulant of X), h is
constant.

f) Let X→B (n,p). State the c. g. f. of X, hence find mean of X.

Q3) Atternpt Any Four of the following: [4×5=20]

a) Prove that the Variance is invariant to the change of origin. i. e. V(X +a) =
V(X); a is constant.

b) Define moment generating function of a r. v. X. State the uniqueness
property of m.g.f.

c) Define expectation of discrete random variable with usual notation prove
that E(aX + b) = aE(X) + b

d) State and prove the additive property of binomial distribution.

e) Suppose that the random variable X assumes values 0, 1, 2 with probability
1/3, 1/6, 1/2 respectively. Obtain the distribution function of X.

f) Ten fair coins are thrown simultaneously, find the probability of getting at
least seven heads.

IO



Q4) Attempt Any Two of the following: [2×10=20]

a) Suppose that the random variable X has possible values 1 , 2, 3, ... and

probability of P(x)= 
1

2 j , j = 1 ,2, 3,...,i....,....

i) Compute probability of X = even

ii) P(X < 5)

iii) P(X=3x)

b) A room has 4 sockets. From a collection of 12 bulbs, of which only 5 are
good. A person selects 4 bulbs at random (without replacement) and
puts them in the sockets. Find the probability that

i) the room is lighted

ii) exactly one bulb in the selected bulbs is good.

c) State and prove binomial approximation to hypergeometric distribution.

d) i) Explain with an illustration, what is meant by a Bernoulli trial.

ii) Define Bernoulli distribution with parameter p. Obtain third central
moment for a Bernoulli r. v..


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Q1) Attempt any FIVE of the following : [10]

a) Is the set of vectors {3 – 2x + x2, 6 – 4x + 2x2} linearly dependent set in
P2? Justify?

b) Show that the set S = {(–2, 1), (1, 0)} forms a basis for R2.

c) If T : V  W is a linear transformation then prove that T(0) = 0.

d) Determine whether the set of all vectors of the form (a, 0, 0), where a is
a real number, is a subspace of R3.

e) Find an equation of the plane spanned by the vectors u = (0, 1, 2) and
v = (1, 1, 7).

f) If T: V  W is a linear transformation then prove that T(–v) = –T(v),
for all v in V.

g) Let T: R2  R2 be a linear transformation given by the formula T(x, y) =
(2x – y, –8x + 4y). Show that (1, –4) is in R(T).

P.T.O.
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Q2) Attempt any FOUR of the following : [20]

a) If AX = 0 is a homogeneous linear system of m equations in n unknowns,
then prove that the set of solution vectors is a subspace of Rn.

b) Consider the vectors u = (1, 2, –1) and v = (6, 4, 2) in R3. Show that
(4, –1, 8) that is not in linear combination of u and v.

c) Prove that a line passing through the origin in R3 is a vector space under
the standard operations on R3.

d) Solve

x + y – 2z = 0

2x + 4y – 3z = 3

3x + 6y – 5z = 4

by Gaussian elimination and back-substitution.

e) Consider the basis S = v1,v2,v3 for R3, where v1 = (1,1,1), v2 = (1,1,0),
v3 = (1, 0, 0). Let T : R3  R2 be the linear transformation for which
T(v) = (1,0), T(v2) = (2, –1), T(v) = (4,3). Find a formula for
T(x1, x2, x3), and then use that formula to compute T(2, –3, 5).

f) If T : V  W is a linear transformation, then prove that the range of T is
a subspace of W.

Q3) Attempt any FOUR of the following : [20]

a) Find the rank and nullity of the matrix:

1 2 0 4 5 3
3 7 2 0 1 4
2 5 2 4 6 1
4 9 2 4 4 7

 
 
 
 
    

b) Show that the three vectors v1 = (0,3,1,–1), v2 = (6,0,5,1), and
v3 = (4,–7,1,3) form a linearly dependent set in R4.
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c) Determine whether the polynomials p1 = 1 – x, p2 = 5 – 3x + 3x2,
p3 = 3 + 3x – 2x2 are linearly dependent or linearly independent in P2.

d) Show that the set of all points in R2 lying on a line is a vector space with
respect to the standard operations of vector addition and scalar
multiplication if and only if the line passes through the origin.

e) Determine whether the vectors v1 = (1, –1, 2), v2 = (1,2,3), and
v3 = (2, 1, 5) span the vector space R3.

f) Let T1 : P1  P2 and T2 : P2  P2 be the linear transformations given by
the formulas T1(p(x)) = xp(x) and T2(p(x)) = p(2x + 4). Compute the
composition (T2 º T1) : P1  P2.

Q4) Attempt any two of the following : [20]

a) If S = v1, v2,. . . , vn is a basis for a vector space V, then prove that every
vector v in V can be expressed in the form v = c1v1 + c2v2 + ... + cnvn in
exactly one way.

b) If T: V  W is a linear transformation from a finite-dimensional vector
space V to a vector space W, then prove that the range of T is finite-
dimensional, and rank(T) + nullity(T) = dim(V).

c) Let V be an n-dimensional vector space, and let S be a set, in V with
exactly n vectors Then prove that S is a basis for V if and only if S
spans V or S is linearly independent.

d) Prove that the set 2,2M  of all 2 × 2 matrices with the usual operations of
addition and scalar multiplication is a vector space.


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Q1) Write short notes (any three). [15]
a) Nature of Indian population.
b) Family welfare policy 1977.
c) Types of migration.
d) Infant mortality.
e) Literacy rate of India.

Q2) Answer the following questions in 50 words each. [15]
a) Define the concept of fertility.
b) Write on five factors affecting mortality.
c) State the meaning of migration.
d) What is PCPNDT?
e) Explain the aims of family planning policy 1961.

Q3) Answer the following in 200 words each (any two). [20]
a) Explain the growth of population in India since 1901.
b) Discuss the socio - cultural factors of population dynamics.
c) Describe the ban on sex determination and sex selective abortions.
d) Explain the aims of national population policy 2000.

Q4) Answer the question in 300 words (any one) [20]
a) Describe the importance of National rural health mission.
b) Elaborate population policy in India after Independence.


P.T.O.
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S.Y.B.A.

SOCIOLOGY
SEC - 1B - G2 : Population and Indian Society
(CBCS 2019 Pattern) (Semester - IV) (24373)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àíZ n{ÌH$m nhmdr.

à.à.à.à.à.1) WmoS>Š`mV {Q>nm {bhm. (H$moUVohr VrZ) [15]
A) ^maVr` bmoH$g§» òMo ñdén
~) Hw$Qy>§~ H$ë`mU H$m`©H«$_ 1977
H$) ñWbm§VamMo àH$ma
S>) A ©̂H$ _¥Ë ỳ
B) ^maVmMm gmjaVm Xa

à.à.à.à.à.2) Imbrb àíZm§Mo àË òH$s 50 eãXmV CÎma {bhm.(H$moUVohr VrZ) [15]
A) OZZ g§H$ënZoMr ì`m»`m H$am.
~) _Ë ©̀Vm da n[aUm_ H$aUmao nmM> KQ>H$ {bhm.
H$) ñWb§mVamMm AW© g§mJm.
S>) PCPNDT åhUOo H$m`?
B) Hw$Qy>§~ {Z`moOZ H$m ©̀H«$_ 1961 Mo C{Ôï> ò {bhm.

à.à.à.à.à.3) Imbrb àíZm§Mo àË òH$s 200 eãXmV CÎma {bhm. (H$moUVohr XmoZ) [20]
A) 1901 Z§Va ^maVmVrb bmoH$g§»`mdmT> ñnï> H$am.
~) bmoH$g§»`m J{V_ËdmMo gm_m{OH$ gm§ñH¥$VrH$ KQ>H$m§Mr MMm© H$am.
H$) qbJ{ZXmZ MmMUr ~§Xr d J ©̂nmV {deX H$am.
S>) amï´>r` bmoH$g§»`m YmoaU 2000 Mo C{Ôï> ò ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr 300 eãXmV CÎma {bhm. (H$moUVohr EH$) [20]
A) amï´>r` J«m_rU Amamo½` {_eZ Mo _hÎd {deX H$am.
~) ñdmV§Í`mZ§VaMo ^maVmMo bmoH$g§»`m YmoaUmMo dU©Z H$am.


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Total No. of Questions : 4]

[6301]-237
S.Y. B.A.

SOCIOLOGY
SEC - 1B - G2 : Welfare Justice and Citizenship
(CBCS 2019 Pattern) (Semester - IV) (24374)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

PC812 [Total No. of Pages : 2

SEAT No. :

Q1) Write short notes. (Any Three) [15]
a) Human Rights.
b) Citizenship Amandment Act.
c) Women reprasentation.
d) Minimum weges Act.
e) Xenophobia.

Q2) Answer the following questions in 50 word each. (Any Three) [15]
a) Write the objective of Pradhanmantri Suraksha Yojna.
b) State the concept of child Labour.
c) Name any five issues of unorganized Labour.
d) Give the meaning of Domestic violance against women.
e) What is psudo Nationalism?

Q3) Answer the following question in 200 word each. (Any Two) [20]
a) Describe the Importances of the transgender protection Act.
b) Discuss the Neolibralism and Issues of workers in India.
c) Explain the impact of coruna pandamic on working class.
d) Elaborate the issues of Identity and citizenship for minorities in India.

Q4) Answer the following question in 300 words (Any One) [20]
a) Explain the Discrimination and various Issues of women in India.
b) Describe the challenges and Issues of minorities in India.


P.T.O.
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Total No. of Questions : 4]

[6301]-237
S.Y. B.A.

SOCIOLOGY
SEC - 1B - G2 : Welfare Justice and Citizenship
(CBCS 2019 Pattern) (Semester - IV) (24374)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _wi B§J«Or àíZn{ÌH$m nhmdr.

à.à.à.à.à.1) WmoS>Š`mV {Q>nm {bhm. (H$moUVohr VrZ) [15]
A) _mZd A{YH$ma
~) ZmJarH$Ëd XþéñVr H$m`Xm (CAA)
H$) _{hbm à{VZrYrËd
S>) {H$_mZ doVZ H$m`Xm
B) PrZmo\$mo~r`m

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË òH$s 50 eãXm§V {bhm. (H$moUVohr VrZ) [15]
A) àYmZ_§Ìr gwajm `moOZoMo CXrï>²̀ o {bhm.
~) ~mbH$m_Jma g§H$ënZm ñnï> H$am.
H$) Ag§KQ>rV H$m_Jmam§À`m H$moUË`mhr nmM g_ñ`m§Mr Zmdo {bhm?
S>) _{hbm{déÜX KS>Umè`m KaJwVr qhgmMmamMm AW© {bhm.
B) N>X_ amï´>dmX åhUOo H$m`?

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË òH$s 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]
A) V¥Vr`n§Wr gwajm H$m`X²̀ mMo _hËd {deX H$am.
~) ^maVmVrb Zd CXma_VdmX d H$m_Jmam§À`m g_ñ`m `mda MMm© H$am.
H$) H$m_Jma dJm©da H$amoZm _hm_marMo n[aUm_ ñnï> H$am.
S>) ^maVmVrb Aëng§»`m§H$mÀ`m AmoiI d ZmJarH$ËdmÀ`m g_ñ`m§Mo dU©Z H$am.

à.à.à.à.à.4) Imbrb àíZmMo CÎma 300 eãXm§V {bhm. (H$moUVmhr EH$) [20]
A) ^maVmVrb _{hbm§{déÕ ôX^md d {d{dY g_ñ`m ñnï> H$am.
~) ^maVmVrb Aëng§»`mH$mgmR>rMr AmìhmZo d g_ñ`m {deX H$am.



PC812
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Total No. of Questions : 4]

[6301]-238
S.Y.B.A.

STATISTICS (General)
CC-1D-ST-23874 : Statistical Quality Control
(2019 CBCS Pattern) (Semester-IV) (24383)

Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of statistical tables and calculator is allowed.
4) Symbols and abbreviations have their usual meaning.
5) Graph papers will be provided on request.

PC813 [Total No. of Pages : 4
SEAT No. :

Q1) Attempt each of the following:

A) Choose the correct alternative in each of the following: [1 each]

a) The p-chart used to study process under control related to:

i) average        ii)    dispersion

iii) defects        iv)   defective

b) In statistical process control the producer’s risk is:

i) rejecting good quality lot. ii)     accepting good quality lot.

iii) rejecting bad quality lot. iv)   accepting bad quality lot.

c) In statistical process control, the consumer’s risk is:

i) rejecting good quality lot. ii) accepting good quality lot.

iii) rejecting bad quality lot. iv) accepting bad quality lot.

P.T.O.
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d) Catching the shift on rth sample follows ______ distribution:

i) Uniform ii) Binomial

iii) Geometric iv) Poisson

e) Natural Tolerance Limit in control charts are based on:

i) Normal distribution. ii) Geometric distribution.

iii) Poisson distribution. iv) Binomial distribution.

B) State whether each of the following statements is true or false: [1each]

a) ATI of single sampling plan and double sampling plan is always
same.

b) Sample point below LCL in p-chart is known as high-spot.

c) The variation in process is studied by R-chart.

d) Probability of accepting a bad lot is considered as ‘Producers risk’.

e) Sample point below LCL in c-chart is known as low-spot.

Q2) Attempt any four of the following: [4×5=20]

a) Describe in brief the seven process control tools to control the quality of
process.

b) What is SQC? Describe its uses.

c) Write a note on ‘Producer’s risk and ‘Consumer’s risk related to SQC.

d) Define Cp and Cpk for a stable process. Distinguish between Cp and Cpk.

e) Obtain the condition to get positive lower control limit (LCL>0) in
c-chart.

f) Describe the working of Single Sampling Plan.
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Q3) Attempt any four of the following: [4×5=20]

a) State control limits for constructing X  charts when standards are known
and also unknown.

b) For a sample plan N=600, n=40 and c=1, determine the probability of
acceptance of the lot of quality 1% defectives.

c) Describe the terms AOQ and AOQL in single sampling plan.

d) Five samples of sizes 100 each are drawn from a production process
and the following data are recorded:

Subgroup No. 1 2 3 4 5

No. of defective items 2 1 1 9 0

Find 3-control limits of p-chart. Check whether the production process
is under statistical control.

e) Distinguish between specification limits and natural tolerance limits in
capability studies.

f) Describe the construction of operating characteristics (OC) curve in case
of double sampling plan.

Q4) Attempt any two of the following: [10 each]

a) The following data indicates the percentage of defectives in a sample of
size 20 taken at equal intervals of a production process:

Sample No. 1 2 3 4 5 6 7 8 9 10

% of defective 0.09 0.11 0.13 0.05 0.14 0.6 0.2 0.12 0.7 0.4

Sample No. 11 12 13 14 15 16 17 18 19 20

% of defective 0.13 0.06 0.18 0.14 0.17 0.14 0.15 0.8 0.10 0.16

Draw the p-chart to check whether the production process is under
control. Suggest the control limits for future use.
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b) Ten subgroups of size 5 each are inspected; it has been found that
Xi = 40 and Ri = 0.8. Calculate control limits for R-chart. Assuming
that R-chart shows controlled situation, calculate control limits for
X  -chart.

[For n=5, D3= 0, D4=2.115, A2=0.577 and d2= 2.326]

c) Describe all four methods of constructing p-chart, when the subgroup
sizes are different.

d) A SSP has N=1000, n=100, c=3. Calculate probability of acceptance of
lots containing 1%, 2%, 5% and 8% defectives. Plot operating
characteristic curve and determine LTPD graphically if consumer’s risk
is 10%.

eeee



Total No. of Questions : 4]

[6301]-239
S.Y.B.A. (Logic)

 LOGIC AND PRINCIPLES OF REASONING
CC - 2D - G2 : Quantification and Relational Logic

(2019 Pattern) (CBCS) (Semester - IV) (24424)

Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

PC814 [Total No. of Pages : 4

SEAT No. :

Q1) Answer any Three of the following questions in 50 words. [15]

a) Explain symmetry as relation.

b) What is an individual constant?

c) Describe Existential proposition.

d) What is propositional function?

e) State nontransitive relation.

Q2) Write short notes on any Three of the following in 50 words. [15]

a) Singular propositions.

b) Universal quantifier.

c) Symbolize the following relational propositions. (Any five)

i) Shirur is between Pune and Ahmednagar. (Bxyz, s, p. a)

ii) Mangal is older than Rakhi. (Ozy, m, r)

iii) Rakesh like books more than film. (Lxyz, r, b, f)

iv) Mother loves with her daughter. (Lxy, m, d)

v) Mango is more tasty than apples. (Txy, m, a)

vi) Something attracts something. (Axy, x attracts y)

vi) John loves Mary. (Lxy, J, M)

d) Instantiation.

e) Nonreflexive relations.

P.T.O.
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Q3) Answer Two of the following questions in 200 words. [20]

a) Explain preliminary quantificational rules of Universal Instantiation [UI]
and Existential Instantiation [EI]

b) Symbolize the following propositions. (Any five)

i) All books are readable. (Bx. Rx)

ii) No women are men. (Wx, Mx)

iii) Some trees are green. (Tx, Gx)

iv) Some students are not active. (Sx, Ax)

v) Workers are healthy. (Wx, Hx)

vi) Not a single pencil is eraser. (Px, Ex)

vii) Snakes are poisonous. (Sx, Px)

c) Describe nature of direct proof with example.

d) Prove the validity of following arguments with the help of direct proof
(any two).

i) 1) (X) (Px ⊃ lx)

2) (X) (lx ⊃ ~ Dx) /: . (X) (Px ⊃ ~ Dx)

ii) 1) ( Εx) (Mx • Ex)

2) ( Εx) (Ox • Mx) /: . ( Εx) (Ox • Ex)

iii) 1) (X) (Tx ⊃ Lx)

2) ( Εx) (Hx • Tx) /: . ( Εx) (Hx • Lx)

Q4) Answe any one of the following questions in 400 words. [20]

a) What is relational logic? Explain transitive and intransitive relations.

b) What is quantification? Explain preliminary quantificational rules of
Universal Generalization [UG] and Existential Generalization [EG]


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Total No. of Questions : 4]

[6301]-239
S.Y.B.A. (Logic)

 LOGIC AND PRINCIPLES OF REASONING
CC - 2D - G2 : Quantification and Relational Logic

(2019 Pattern) (CBCS) (Semester - IV) (24424)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àûZn{ÌH$m nhmdr.

à.à.à.à.à.1) Imbrbn¡H$s H$moUË`mhr VrZ àûZm§Mr CÎmao 50  eãXmV {bhm. [15]

A) g__mÌVm g§~§Y ñnï> H$am.
~) ì`º$s Ma åhUOo H$m`?
H$) A§edmMr {dYmZ ñnï> H$am.

S>) {dYmZ \$bZ åhUOo H$m`?
B) {df_ àdm{hÎmVm g§~§Y ñnï> H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË`mhr VrZ Q>rnm 50 eãXmV {bhm. [15]

A) EH$dmMr {dYmZ.
~) gd©dmMr g§»`rH$maH$.

H$) Imbrb g§~§YdmMr {dYmZmMo {MÝhm§H$U H$am.
i) {eéa ho nwUo Am{U Ah_XZJa `m§Mo_Ü ò Amho. (Bxyz, s, p. a)

ii) _§Jb hr amIrnojm _moR>r Amho. (Ozy, m, r)

iii) amHo$ebm nwñVH$m§nojm {MÌnQ> OmñV AmdS>Vmo. (Lxyz, r, b, f)

iv) AmB© {VÀ`m _wbrda OmñV ào_ H$aVo. (Lxy, m, d)

v) Am§~m g\$aM§Xmnojm MdXma Amho. (Txy, m, a)

vi) H$mhrVar H$í`mbmVar AmH${f©V H$aVo. (Axy, x attracts y)

vii) Om°ZMo _oarda ào_ Amho. (Lxy, J, M)

S>) CXmhaUrH$aU

B) {df_-namdVuVVm

PC814
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à.à.à.à.à.3) Imbrbn¡H$s H$moUË`mhr XmoZ àûZm§Mr CÎma 200 eãXmV {bhm. [20]

A) g§»`rH$aUmMo àmW{_H$ gmd©{ÌH$ CXmhaUrH$aU [UI] d A§edmMr CXmhaUrH$aU [EI] {Z`_
ñnï> H$am.

~) Imbrb g§»`rH$maH$s` {dYmZmMo {MÝhm§H$U H$am. (H$moUVohr nmM)

i) gd© nwñVHo$ dmMZr` AmhoV. (Bx. Rx)

ii) EH$hr ñÌr nwéf Zmhr. (Wx, Mx)

iii) H$mhr PmS>o {hadr AmhoV. (Tx, Gx)

iv) H$mhr {dÚmWu g{H«$` ZmhrV. (Sx, Ax)

v) H$m_Jma {ZamoJr AgVmV. (Wx, Hx)

vi) EH$hr nopÝgb ImoS>a~a Zmhr. (Px, Ex)

vii) gmn {dfmar AgVmV. (Sx, Px)

H$) CXmhaUmgh àË`j {gÕVm VoMoo ñdén dU©Z H$am.

S>) Imbrb ẁ{º$dmX àË`j {gÕVm nÕVrZo {gÕ H$am. (H$moUVohr XmoZ)

i) 1) (X) (Px ⊃ lx)

2) (X) (lx ⊃ ~ Dx) /: . (X) (Px ⊃ ~ Dx)

ii) 1) ( Εx) (Mx • Ex)

2) ( Εx) (Ox • Mx) /: . ( Εx) (Ox • Ex)

iii) 1) (X) (Tx ⊃ Lx)

2) ( Εx) (Hx • Tx) /: . ( Εx) (Hx • Lx)

à.à.à.à.à.4) Imbrbn¡H$s H$moUË`mhr EH$m àûZmMo CÎma 400 eãXmV {bhm. [20]

A) g§~§YdmMr VH©$emñÌ åhUOo H$m` gm§JyZ Ë`mMo àH$ma åhUyZ àdm{hVVm d A-àdmhrVVm ñnï>
H$am.

~) g§»`rH$aU åhUOo H$m`? g§»`rH$aUmMo àmW{_H$ gmd©{ÌH$ gm_mÝ`rH$aU [UG] d A§edmMr
gm_mÝ`rH$aU [EG] {Z`_ {deX H$am.





Total No. of Questions : 4]

[6301]-240

S.Y.B.A.

ANCIENT INDIAN HISTORY CULTURE AND ARCHAEOLOGY

CC-2D : Economic Institutions of Ancient India

(2019 Pattern) (CBCS) (Semester - IV) (24183)
Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

PC815 [Total No. of Pages : 4

SEAT No. :

Q1) Answer the following questions in 300 words (any one). [15]

a) Take a review of ancient indian varna system.

OR

b) Discuss the various types of Marriages in Ancient India.

Q2) Answer the following questions in 300 words (any one). [15]

a) State the features of Ancient Indian universities and give an account of
their importance.

OR

b) State the importance of agriculture as major source of income of state
and society.

Q3) Answer the following questions in 200 words (any two). [20]

a) State the meaning of Ancient Indian Ashramas and explain its objectives.

b) Explain the importance of guild as an Ancient economic organization.

c) State the features of Gurukula type of education in ancient times.

d) Explain the trade relations between  Ancient India and South Eastern
countries.

P.T.O.
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Q4) Short Notes (any four). [20]

a) Meaning of ancient sacraments.

b) Agraharas.

c) Ancient Industries

d) Life of women during vedic period

e) Indo - Roman Trade

f) Ancient Weights


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Total No. of Questions : 4]

[6301]-240

S.Y.B.A.

ANCIENT INDIAN HISTORY CULTURE AND ARCHAEOLOGY

CC-2D : Economic Institutions of Ancient India

(2019 Pattern) (CBCS) (Semester - IV) (24183)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrb àýmMo 300 eãXmV CÎma Úm. (H$moUË¶mhr EH$) [15]

A) àmMrZ ^maVr` dU©ì`dñWoMm AmT>mdm ¿`m.

qH$dm

~) àmMrZ ^maVmVrb {d{dY {ddmhàH$mam§Mr MMm© H$am.

à.à.à.à.à.2) Imbrb àýmMo 300 eãXmV CÎma Úm. (H$moUVmhr EH$) [15]

A) àmMrZ ^maVr` {dÚmnrR>m§Mo d¡{eï> ò gm§JyZ _hÎdmÀ`m {dÚmnrR>m§Mm d¥Îmm§V Úm.

qH$dm

~) amÁ` Am{U g_mO `m§À`m CËnÝZmMo à_wI gmYZ åhUyZ eoVrMo _hÎd gm§Jm.

à.à.à.à.à.3) Imbrb àýmMo 200 eãXmV CÎma Úm. (H$moUVmhr EH$) [20]

A) àmMrZ ^maVmVrb Aml_ `m g§H$ënZoMm AW© gm§JyZ C{Ôï>²̀ o ñnï> H$am.

~) àmMrZ Am{W©H$ g§KQ>Zm åhUyZ loUrMo _hÎd {deX H$am.

H$) àmMrZ H$mimVrb JwéHw$b {ejUnÕVrMr d¡{eï²> ò gm§Jm.

S>) àmMrZ ^maV d Am½Zò  Am{e`mB© Xoe `m§À`mVrb ì`mnmar g§~Y ñnï> H$am.

PC815
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à.à.à.à.à.4) {Q>nm {bhm. (H$moUË`mhr Mma) [20]

A) àmMrZ g§ñH$mamMm AW©

~) AJ«hma

H$) àmMrZ CX`moJ

S>) doXH$mbrZ ñÌr-OrdZ

B) ^maV-amo_ ì`mnma

\$) àmMrZ dOZo





Total No. of Questions : 4]

[6301]-241

S.Y.B.A.

EDUCATION

CC-1D : Practices in Education - II

(2019 Pattern) (CBCS) (Semester - IV) (24303)
Time : 2½ Hours] [Max. Marks : 70

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

PC816 [Total No. of Pages : 4

SEAT No. :

Q1) Write the answers of following questions in 50 words each. (any three) [15]

a) Explain the constructivist approach of curriculum.

b) Write the functions of block education officer.

c) Explain the importance of information and communication technology
in education.

d) Explain the functions of national council of education research and
training (NCERT)

e) Explain the meaning of curriculum.

Q2) Write the answers of following questions in 100 words each. (any two) [20]

a) Explain the functions of director of education.

b) Explain the skills of ICT teacher.

c) Explain the objectives of Maharashtra state council of education Research
and training (MSCERT)

d) Explain the principle of curriculum construction.

P.T.O.
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Q3) Write the answer of questions in 300 words. (any one) [20]

a) Explain the types of curriculum in details.

b) Explain the use of ICT in

i) Teaching learning process.

ii) Education research.

iii) Education Administration.

iv) Education evaluation.

Q4) Write short notes in 50 words each. (any three). [15]

a) Need of ICT in education.

b) Functions of District education officer.

c) Application of ICT in education

d) Characteristics of education management.

e) Functions of Balbharti.


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Total No. of Questions : 4]

[6301]-241

S.Y.B.A.

EDUCATION

CC-1D : Practices in Education - II

(2019 Pattern) (CBCS) (Semester - IV) (24303)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË òH$s 50 eãXm§V {bhm. (H$moUVohr VrZ) [15]

A) Aä`mgH«$_mMm aMZmË_H$ Ñï>rH$moZ ñnï> H$am.

~) JQ>{ejUm{YH$mè`mMr H$m }̀ {bhm.

H$) _m{hVr Am{U g§àofU V§ÌkmZmMo {ejUmVrb _hÎd ñnï> H$am.

S>) amï´>r` ím¡j{UH$ g§emoYZ d à{ejU n[afXoMr (NCERT) H$m`} ñnï> H$am.

B) Aä`mgH«$_mMm AW© ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË òH$s 100 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) {ejU g§MmbH$mMr H$m`} ñnï> H$am.

~) ICT {ejH$mMr H$m¡eë ò ñnï> H$am.

H$) _hmamï´> amÁ` e¡j{UH$ g§emoYZ d à{ejU n[afXoMr (MSCERT) C{Ôï>o ñnï> H$am.

S>) Aä`mgH«$_ aMZoMr VÎdo ñnï> H$am.

PC816
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à.à.à.à.à.3) Imbrbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 300 eãXm§V {bhm. [20]

A) Aä`mgH«$_mMo àH$ma g{dñVa ñnï> H$am.

~) _m{hVr d g§àofU V§ÌkmZmMr (ICT) Imbrb joÌmVrb Cn ẁŠVVm ñnï> H$am.

i) AÜ``Z AÜ`mnZ à{H«$`m

ii) e¡j{UH$ g§emoYZ

iii) e¡j{UH$ àemgZ

iv) e¡j{UH$ _yë`_mnZ

à.à.à.à.à.4) Q>rnm {bhm. (H$moUË`mhr VrZ) [15]

A) _m{hVr d g§àofU V§ÌkmZmMr (ICT) {ejUmVrb JaO.

~) {Oëhm {ejUm{YH$mè`mMr H$m }̀.

H$) _m{hVr d g§àofU V§ÌkmZmMo {ejUmVrb Cn`moOZ.

S>) e¡j{UH$ ì`dñWmnZmMr d¡{eï²> ò.

B) ~mb^maVrMr H$m }̀.


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Q1) Attempt any FIVE of the following. [10]

a) Find (2)f  if 2 2 1
( ) ( 1) (4 3) (2 )

2
f t t i t j t t k= + + − + −  is continuous at

t = 2.

b) Evaluate 
1

2

0

( 5 3)t i t j k dt + +  .

c) Define piecewise smooth curve.

d) Show that the vector field 2 3 2 4(4 )F x yi z y xy j z k= − − −  is a

solenoidal.
e) Define divergence of a vector field.
f) Write formula for arc length along a space curve.

g) If ( ) ( ) ( )21 1r t t i t j= + + −  is the position of a particle in the xy - plane

at time t. Find an equation in x and y whose graph is the path of the
particle. Then find the particle’s velocity at t = 1.

Q2) Attempt any FOUR of the following. [20]

a) If ( )r t  is a differentiable vector function of t and the length of ( )r t  is

constant, then prove that . 0
d

r r
dt

= .

b) Find the value (s) of t so that the tangent line to the curve

( ) ( ) ( )2 1 2 3r t t i t j t k= + + + −  contains the point (–8, 2, –1).

P.T.O.
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c) Suppose we do not know the path of a hang glider, but only its acceleration

vector ( ) 3cos 3sin 2a t t i t j k= − − + . We also know that initially (at

time t = 0 ) the glider departed from the point (4, 0, 0) with velocity

( )0 3v j= . Find the glider’s position as a function of t.

d) Define unit tangent vector, principal unit normal vector and curvature for
a smooth curve in the plane.

e) Find the line integral of f (x, y, z) = x + y + z over the straight line segment
from (1, 2, 3) to (0, –1, 1).

f) If ( )u t  and ( )v t  are differentiable vector functions of t, then prove that

( ) ( ) ( ) ( )d d d
u t v t u t v t

dt dt dt
+ = +   .

Q3) Attempt any FOUR of the following. [20]

a) Find the work done by the force field F xi y j zk= + +  in moving an

object along the curve C parametrized by ( ) 2cos( ) sin( )r t t i t j t kπ π= + + ,

0 ≤ t ≤ 1.

b) Let F Mi N j Pk= + +  be a vector field whose components are

continuous throughout an open connected region D in space. Then prove

that F  is conservative if and only it F  is a gradient field ∇f for a
differentiable function f.

c) Show that ydx + xdy + 4dz is exact and evaluate the integral

(2,3, 1)

(1,1,1)

4ydx xdy dz
−

+ +

(1, 1, 1) to (2, 3, –1).

d) Give a parametric representation for the elliptic paraboloid
x = 5y2 + 2z2 – 10.

e) State Stoke’s theorem and Gauss - divergenve theorem.

f) Determine whether the vector field ( ) ( ) ( )F y z i z x j x y k= + + + + +  is

conservative or not?
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Q4) Attempt any TWO of the following. [20]

a) Evaluate .
C

F d r  where ( , ) (1 3 )F x y xyi y j= + +  and C is the line

segment from (0, –4) to (–2, –4) followed by portion of y = –x2 from x =
–2 to  x = 2 which is in turn followed by the line segment from (2, –4) to
(5, 1).

b) State and prove Green’s theorem in the plane.

c) Find the surface area of a sphere of radius a.

d) Verify the Stokes’ theorem for the vector field, 24F xzi y j yzk= − + over

the area in the plane z = 0 bounded by x = y = 0 and x2 + y2 = 1.


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Q1) Attempt each of the following.

a) Choose the correct alternative of the following : [1 each]

i) If the random variable X B→  (8, 1/2) then Var (X) is

a) 1 b) 2

c) 3 d) 4

ii) If E(X) =2 and E(X2) =5 then Var (X) =.........

a) 1 b) 2

c) 3 d) 4

iii) If the p.m.f of the discrete random variable is

X 0 1 2 3

P (X) 0.1 0.2 0.3 0.4

Then mode (X) =......

a) 0 b) 1

c) 2 d) 3

iv) Cov (X, X) =........

a) Cov(Y, Y) b) Corr (X, Y)

c) S.D (X) d) Var (X)

v) The collection of information about each and every individual of a
country is known as :

a) Vital statistics b) Demography

c) Census d) Sample

P.T.O.
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b) State whether the following statement is True or False : [1 each]

i) N.R.R can exceed G.R.R.

ii) Var (2X+3) = Var (2X).

iii) Bivariate random variables are always independent.

iv) F( )−∞ = –1, where F(.) be a cumulative distribution function.

v) If X → Poisson(1) then P (X = 1) =1.

Q2) Attempt any four of the following. [4×5=20]

a) Is mode always unique? If not, give an example of bimodal probability
distribution.

b) Explain the purpose of S.T.D.R.

c) Define p.m.f and c.d.f, also verify whether the following is a probability
distribution of random variable X,

X 0 1 2 3 4

P(X=x) –0.1 0.2  0.3 0.4 0.2

d) Explain with illustration what is meant by Bernoulli trial?

e) Let X follows discrete uniform distribution with parameter 10. Obtain

i) mean(X)

ii) var(X)

iii) P(X=10)

f) Define correlation coefficient between two discrete r.v.s X and Y. Give
interpretation of various values of δ.
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Q3) Attempt any four of the following. [4×5=20]

a) Let X and Y be independent binomial random variates such that,
X B→   (6,0.6) and Y B→ (4,0.6) identify the distribution of Z=X+Y
also state mean and variance of Z.

b) Give some paractical situations where use of bivariate random variables
is needed.

c) Define the term covariance state the effect of change of origin and scale
on it.

d) State various measures of fertility and compare them.

e) Let X be a Poisson variate with parameter m. If P(X=2)= P(X=1), find
P(X>1).

f) Define correlation coefficient

δ

between two discrete r.v.s X and Y. Give
interpretations of the various values of

δ

.

Q4) Attempt any two of the following. [2×10=20]

a) X and Y are two discrete r.v.s with joint p.m.f

P(x,y)=k(X+Y) ; C>0, X= 1, 2, 3

Y=1, 2

= 0 ; otherwise

obtain i) k

   ii) The correlation coefficient between X and Y.

b) Obtain the probability distribution of X: No. of heads in tossing three
fair coins simultaneously, also obtain E(5X–2).

c) Describe the direct and indirect methods of standardization of obtaining
the death rates.

d) i) Define median of a discrete random variable also explain the
computation with suitable example.

ii) State the applications of Boinomial distribution.


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Q1) Answer any three of the following questions in 50 words each. [15]
a) Describe about the preservation of animals.
b) Write the relevance of Hippocratic Oath.
c) Give the definitions of applied ethics.
d) Explain the importance of Indian medical council.
e) Discuss the principle of Autonomy as a principle of medical ethics.

Q2) Write short notes on any three of the following.  [15]
a) Argue in the favor of animal rights.
b) Relation between Doctor and patient’s.
c) Uses and misuses of the media during pandemic.
d) Vegetarianism.
e) Nature of marriage in Islam.

Q3) Answer any two of the following questions in 200 words each.  [20]
a) Explain the social moral impact of Pandemic.
b) Discuss the principle of Non malfeasance as a principle of medical ethics.
c) Give the solution on environmental issues.
d) Explain the concept of ‘Live in relationship’ from the point of view of

marital ethics.

Q4) Answer any one of the following questions in 400 words.  [20]
a) Explain the Hindu’s approach about the marriage and explain types of

marriage in Hinduism.
b) Explain briefly nature and scope of applied ethics.


P.T.O.
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PHILOSOPHY
G-2-CC-1D : Introduction to Applied Ethics
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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r _yi B§J«Or àýn{ÌH$m nhmdr

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ àým§Mr CÎmao àË òH$s 50 eãXmV {bhm. [15]
A) àmÊ`m§À`m g§ajUmg§~§Yr MMm© H$am.
~) {hßnmoHo«${Q>H$À`m enWoMr àmg§{JH$Vm {bhm.
H$) Cn`mo{OV Zr{VemómÀ`m ì`m»`m Úm.
S>) ^maVr` d¡ÚH$s` n[afXoMo _hËd ñnï> H$am.
B) d¡ÚH$s` Zr{VemómMo VÎd åhUyZ ‘ñdm`ÎmVm’ `m VÎdmMr MMm© H$am.

à.à.à.à.à.2) H$moUË`mhr VrZ g§{já {Q>nm§Mr CÎmao {bhm. [15]
A) àmÊ`m§À`m hŠH$mÀ`m ~mOyZo ẁ{º$dmX.
~) S>m°ŠQ>a Am{U é½U `m§Mo g§~§Y.
H$) gmWrÀ`m amoJmÀ`m doir _mÜ`_mMm gXþn`moJ d Xþén`moJ.
S>) emH$mhmadmX.
B) _wpñb_ Y_m©Vrb {ddmhmMo ñdén.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË`mhr XmoZ àým§Mr CÎmao 200 eãXm§V {bhm. [20]
A) _hm_marMm gm_m{OH$ d Z¡{VH$ à^md ñnï> H$am.
~) d¡ÚH$s` ZrVremómMo VÎd åhUyZ ‘é½Umg BOm Z H$aUo’ `m VÎdmMr MMm© H$am.
H$) n`m©daUmer g§~§{YV _yX²Úmda Cnm` gm§Jm.
S>) d¡dm{hH$ Zr{VemómÀ`m Ñï>rH$moUmVyZ ‘{bìh BZ [aboeZ{en’ hr g§H$ënZm ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË`mhr EH$m àýmMo CÎma 400 eãXm§V {bhm. [20]
A) {ddmhm~Ôb qhXÿMm Ñ{ï>H$moU gm§JyZ qhXÿ Y_m©Vrb {ddmhmMo àH$ma gm§Jm.
~) Cn`mo{OV Zr{VemómMo ñdén Am{U ì`már g{dñVa ñnï> H$am.


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Q1) Attempt any Two of the following. [16]
a) Write a report on the Independence Day Celebration function at your

college with the help of the points given below:

 Celebration of Independence Day

 National festival

 Hoisting the national flag

 National Anthem
 Principal’s Address

 Cultural programme

 Distribution of sweets
b) You are the University Representative of your college. The principal has

asked to conduct a survey of available computer facilities in the college
to enhance use of ICT in teaching learning process.
Write a report of survey considering the following points:

 Number of computers available for academic use
 Number of ICT enabled classrooms

 E - books

 E - study material
 SWAYAM/NPTEL

 MOOC Courses

 Internet Bandwidth
 Language Laboratory software

c) Your department has organised a Guest Lecture on ‘Prospects of Career
in Mass Media.’ Write a brief report and submit the same to the head of
your department.

P.T.O.
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Q2) a) Attempt any One of the following: [10]

i) Your college has organized a cultural programme. You are supposed
to anchor the programme. Write a compering script with the help of
the following points.

 Welcome address by Principal

 Felicitation of chief guest

 Speech by the chief guest

 Cultural events

 National Anthem

 Vote of thanks

ii) The department of English of your college has organized a
workshop on ‘Soft Skills Development.’ Write a script with the
help of the following points:

 Introduction of the workshop

 Lightning the lamp

 Felicitation of the Guest

 Speech by the guest

 Vote of thanks

b) Write a blog on ‘Communication Skills’ with reference to the following
points: [10]

 What is Communication?

 Skills required for effective communication.

 Ways to improve Communication skills.

 Add your own points.

Q3) Write short notes on any Two of the following. [12]

a) Radio News Reader

b) Major functions of Radio as mass media

c) Functioning of a Radio studio
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Q4) Attempt any Two of the following: [12]

a) Comment on the major features of TV as a mass media.

b) “TV channels have various options for the viewers.” Explain.

c) Explain the significance of television in creating interest in sports.

Q5) Attempt any Two of the following: [10]

a) Television as industrialized medium for mass communication.

b) What is the difference between TV and Radio News?

c) Compare and contrast TV advertisements with Radio advertisements.


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Q1) Answer any eight (Around 20 words each) [16]

a)  Define the term hotel product.

b) What are various types of hotel components?

c) What is the meaning of accommodation?

d) Explain the concept of youth hotel.

e) What are types in the hospitality industry?

f) Who is founder of Taj hotel chain?

g) What is the potential of hotel industry in tourism sector?

h) Who was the founder of Leela palace hotel chains?

i) Define concept of homestay.

j) What do you understand by hospitality?

Q2) Write short notes on any three (Around 50 words each). [18]

a) What is the current status of the hotel industry in India and what are its
future prospects?

b) What is the concept of growth and development in the hotel industry in
India?

c) Explain the classification of hotels based on star ratings and other
categories.

d) Explain the concept of budget hotels.

P.T.O.



2[6301]-246

Q3) Answer any two (Around 100 words each) [16]

a) Explain the key differences between group of domestic tourists compared
to foreign tourists.

b) Explain the meaning and procedure of guest billing in a hotel.

c) What are the various types of rooms available at this hotel, and what
amenities are included in each of them?

Q4) Answer in detail any one (Around 500 words each). [20]

a) How has the hotel industry in India adapted to changing consumer
preferences and safety concerns, and what are the key trends in shaping
its future?

b) How are technology and digitalization influencing the hotel industry in
India, and what innovations can we anticipate in guest experiences?


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